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����� !� ������� �� ���������� ������� � � � � � � � � � � � � � � "
����� #��$����� �� �����
�� � � � � � � � � � � � � � � � � � � � � %
���� &������ �� ����������� � 	
��� �� ���������� � � � � � � � '

�� (� �	��)������� �� *�+������, � � � � � � � � � � � � � � � � � � � '
��" -������� ��
��+
�� � � � � � � � � � � � � � � � � � � � � � � � � � � .
��% ��������� �+��+
����� �� /����
�� � � � � � � � � � � � � � � � � � �0
��1 ���2������� �� ���+���� 3���4����
 � �������
 � � � � � � � � � � � � � 
��' &+	��2��� 
���� � 5��������� �� �������� � � � � � � � � � � � � � � �%
��6 ��+������� � ����
��� � � � � � � � � � � � � � � � � � � � � � � � � � �'
��. ����������� �� �������� � ������
�� � � � � � � � � � � � � � � � � � �6
���0 -���+
����� ����
 � � � � � � � � � � � � � � � � � � � � � � � � � � � �0

� ������������ �������� ��
��� 7���5������ ���	���
 � � � � � � � � � � � � � � � � � � � � � � � � � � 
��� ��������4����� ��	����
 � � � � � � � � � � � � � � � � � � � � � � � � �1
�� ������
�4����� �� 
� #������ � � � � � � � � � � � � � � � � � � � � � �.
��" -���� ��������
 �� 
�� ��+������� � � � � � � � � � � � � � � � � � �  �
��% ��,+��� �� ����
+���� �+������ � � � � � � � � � � � � � � � � � �  1

�  ���
����� ! ���������� �"
 �� -
+8� �� +�� ������� �9���� � � � � � � � � � � � � � � � � � � � � �  .
 �� -
+8� ����� +� ����
��  � � � � � � � � � � � � � � � � � � � � � � � "6
 � -
+8� �� ���
�����+���� � � � � � � � � � � � � � � � � � � � � � � � %�
 �" :������ 5������2�� � � � � � � � � � � � � � � � � � � � � � � � � � � %1
 �% -
+��� �������2���� � � � � � � � � � � � � � � � � � � � � � � � � � � 10
 �1 ����
 ������5���� ��� ����� 
��� � � � � � � � � � � � � � � � � � � 1"
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$ %�������� ����� &�
"�� &������
������� �� 
� �+	��2��� 
���� ������ �
 ������ � � � � � � � 6�
"�� �5������� �� +� ���,+� ���2���� � � � � � � � � � � � � � � � � � � 61

' ������� "�
%�� ����
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��� � ��
����� +� ����
� �������������
 ��
����+
����� ������� �� �
������� 2����� ��	�4 �� ���+
�� +�� ��5��� 
������� ��

������� (� ����
� �� 
��5��+� �� 
�� �	
��������� 	+���� ��� ��
 ����� ��
 ���3�
�� 
� 	
�������� ����������
 � ������� � 
� ����
� �� ����	� ����� �
 	��<���
�� 
�� ����� �� 
�� ������ � �� 
�� ����� ������� �
 �������

(� ����+
����� ��
 ����
�= ���������� ������= ���$ ������ �� 
��
���� ���	������� �� 
� ��+����� �� �������&��;�� >���3������$�����? � ����� ��
�+���� 
�� ��� ���	������� �� 
� ���
������� �� �����
��= >���	������� �����

� ���5�����
 � 
� �+	��2��� ���������?= 5��������� �� ��������= �+��+
����� >��
��
��� ���������� � ����
�� �� �+��+
����� ���� &��5�����;�= @+�;��������� �
#�����A�;��#3�
�����?= �������� ��� �����= ������� �� ������ � �+	��2��� 
�����
#+�������� ������� +��
�4�� �
 ����
� �� ������ ��� ��������<�� ����5+
����
>����� ���3���4����
?�

(�� ����
�� �������������
�� ���3������$����� ���� �
 �������

��� ��
���� ����� ���$� ���� 	
�������� 	��� �������� ��� �������� �������� ���� ��
�+� ��	������� �� �
 ����
��� �� ��������
� ����� �
 ����
��� �� 
� 	��
,+�B�= 	��� ��
������= ��
������ �������
 �� ��	������� � 
�� ��������� ��������
��� ��������
��� (� ����+
����� ���3������$���� ����� �+��������
����� ��	���
������ �+���� 
� ����
� 3���4����
 ��
 ���������� �� 3��� ���	����
� ��� �+
����
� �������
 � �� �� 	+��� ���	������ 
� ��
������ �������
 ���� �� ��� �� ��
�
 ���� �� 
� ����+
����� ����� ������ ���+	���= ���������� �� �
 ������ �������=
����

�
 +�� ��������� �� +�� ��������4����� ��	����
 	�� �
 ������ �� 
��
�
������� 2����� � �
 +�� �� ��

�� �������+��+����� 	������ �
 ����
� +�� 5���
C�)���
���� 	��� ���	����� � 
� ���	
����� 5������<� �� 
� 
<��� �� ����� � ��

����� ������� ����$� �� 
� 	�����
���� �� ���
�4�� ��2��������� �� 
� ��

�
����� $���� �� ����� ������� � �	
���� 
�� ����������� �� �������� �	��	�����
	��� ���� �����

(� ������� �� ������
�4����� �� 
� 	������ >#D#? ��	
���� 	��� ������
�4��

� ��
+���� �� �
������� 2����� 	������ ,+� ����+
������� ��)��� ���� 
�� ��+��
������ �� �������&��;�� +��
���� �5+�
 �����	�
����� 	��� ����� ������
�� ��
����
����	������ � ,+� �+�	
�� ��� 
� ��������� �� (���43���;����*��+�;��*��44�
>(**?= ������� �������� ���� ��	
��
���

�
 ������ �� ����5������ ���	���
 ��	
<���� ��	
���� 	��� ����
��� 
��
��+������� �� �������&��;�� ���3������$����� �������� +� ��,+��� ����
<����=
�� �������� �������� �
 ������ ��	
<���� �� �+
�� 3���� ���$�= 	������ �
���4��
	���� �� ����	� ��
���������� 5������ �
 �
������ 
� ����������� �� ������
����
�������� ���� �
 �������� �� ��+�����-�������3��(��� >�-(?�
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&� +��
�4� 
� ��+����� �����$���� 	��� ��
�+
�� 
� �
������� �� 
� �+	���
2��� 
����= ��� ���+���� �
 	��������� �������
 � ��� +� ����� ���	+�������

��
���������� 	�,+�B��

(�� ���+
����� �+������� 	���������� �� ���� ����� ���+������ 
� �	
��
����
����= 	��������= ���+���4 � �2������� ��
 ����
� 	��� 	���
���� ����� ��
��5�����<� �� ������ ���� �� ������5���<� �<�����
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7� �3�� �3���� � 2���� �
����� ����
 A�� ����
�	��= ����� ������= ���
�3� �+������
 ���+
����� �� �3��������������
= �+��+
���= ����3����������= �����
�+����� C�A� 
�;� �3��� ������5 �� �3� ��+�� �� �3� ������ �� A���� �� ������

��5����� �3� ;�������� ������+����� �,+����� �� +��� �� ���	+�� �3� �+�����
�
�������= A��3�+� ��������5 �� �������
 �����5��� �3� ����
 ����
�	�� 3���
�����	������ �+����� A��� ������= ������ ��������= �����
�� ����
�������= �3� ���
���
���� ���� �� ��;� �� ����+�� �3� ������� 5���������= ��� �� �� �		
����
� ��
����5+
�� ������ ��	�5��	3���� � 	����+�� �����
�4����� ���3��,+� �� ��	
����
�� �����
�4� �3� 2���� �
����� ��
+����� �+������
 ���+
�� ���2�� �3� ���+����=
���+������ ��� �		
�����
��� �� �3� 	��	���� ���3���
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(� �������� ��������� � �
 ������= ����� ����� �������� ��	+
�����= ������
�+��� �� �
 ������ �������2���� +�� ������ �������� �� ����5<� �������� ,+�
�� ����2���� �� 
�� ����������� �� ��������
� >10 − 100 ;� �� 
��5��+�?= ��
����� �� 5���� � ���+���� ����������� (�� C+8�� �������������
�� ��������� �
����� ����������� ���<�� ��� �
 ����	� � ���$� ���������4���� 	�� ��
������
��� 3���4����
�� ��
 ����� �� U = 0, 1 − 1 �E�= +�� 5��� ���������� ����� 
��
����
�� �� 
��5��+� 3���4����
 � �������
 L >> D � �9����� �� /����� �����
R0 = U

Lf = 10−1 − 10−2= ����� f �� �
 	��$����� �� �����
�� >@���3�

 �� ���=
�..'?�

�
 ������� �� ���� ����� �� 3�

� �� ���+
�� ���3�� ����������� 	��� +��
��5��� 
������� ��
 ������= ������������ ��	������� ����
��� 
�� C+8�� ������
��� �� 	�,+�B� ����
� 	��� 	���
���� ,+� �������� +� 5��� ������� 	�$�����=
������ �� 
�� ���������� �����	
���� �� 
� ��5�����<� ����
= ���� ��� 
� ��5�����<�
������5�$2��= �� ������= 	���+����= �������������
= ���� ��� ��� ��8����� ��
	
����� �
 �������

� �� +� ����
� ���$���� ������� ,+� 	+����� ��� �	
����� �

� ����
+���� �� 	���
���� 3�������$�����= ��� +�� ����
� �� 
��5��+� �<	��� ��

����� ��
 ���3� �� 
� 	
�������� ����������
 � �$� ����� >3���� 
�� ����������
�� ������?= � 
� ����
� �� ����	� ����� �
 	��<��� �� 
�� ����� �� 
�� ������
� �� 
�� ����� ������� �
 ������ >������� �� ���+��?� �� +�� ���	� 	����� �

� ����+
����� ��
 ����
�= �� ����� ���
�4�� ������ �
�������� �+��������
��=
����� �

�� 
� ��
������ �� 
�� 	������� �<����� 	�����+
���� ,+� �� ���
+��$� �� 
�
����+
����� >��� �� ��� ����

�= �.6.?= 
� �
������ �� 
� ����� �� 
�� ��+�����
��� �� 5�������= 
� �
������ �� 
� ��������4����� �� ����	� � ��	����= ���� ���
��� ��8�����= � ������+����� �� ������+���$� �
5+��� �� 
�� ��������������� ��
����B�� �$� ��	�������� �� �
 �������

� ��
 ����
��

(�� ����������� �+��+
����� ��
 ������ ��������� ����
�� ����5������
����� ������� ,+� �� �)������� ����� 
� ����
� �� 
� ����+
����� 5�����
 3����
���8�= ��
 ����� �� 0, 01 − 10 ;� �� 3���4����
 � �
5+�� ������� �� ������ ��
�������
� ����� ����� ����
�� ��+���� ������������� ��	��������= ���� ��< ����
���� ����� 
� 5��� �������� �� ��������� �<����� ,+� ����� ���������� ���� ����
3��� ,+� �)���� +� 5��� �9���� �� ����
�� �+������� ���������� �8+������ 	���
���� ��	� �� 	���
��� ��	��<2�� � � +�� ����������� ����
�� (� �������� ��
+� ����
� 5�����
 �� �+� ���	
�8� � �������+�� +� �����<� ��������
�= ������
� 
� �������� �� �������� � ����� �� �+���� �� �+ �������

�= ���� ��� �� ��� 
�
������
����= 	�������� � �2�������= ������ ���� 9
���� 	�����
������ +�� �� 
��
�$� ��	��������� &�� �����5�= 3���� �
 	������� ����� ����� �������� �� 	+����
��� �	����4���� ���+
�$�������� 	�� 
� ,+� ������9� 
� �9�,+��� �� �������
�+�����

��



	�
��
������

#�� �2������� � ���	
������= 
�� ����
�� �+������� �� ����+
����� 5�����

��
 ������= ��������� 	�� �+� ��5
�� �� ��5
�� ���� FD�@= 
�� ����
�� ���$�
����� +��
�4���� 	��� �
 ���+��� ��
 �
��� � 
�� ����
�� �������� ���$� �������
�� �	��)��������� �� 
�� ��+������� �� �������&��;�� �����	�����
��� D�����
�
�����= 
�� ��� 	������� ����
�� +��
�4�� 
�� ��+������� 	��������� 3������$�����
> � �� ��
������ � �� �� 	��������?= 	��� �
 ����
��� �������������
 �� 5���
����
� �� 
� ���$���� �� 
�� ������� >��� �� ��� 7�;�������� �� ���= �00 G �����
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����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��+

Ωh �
������� 	�� 	������ Ω � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �B

h �
�
D� 	� �
 �
��
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �B

Σh �
������� 	� �
 ��������� Γs � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �B

K C������� 	� �
 �
������� Ωh &�
��
( � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��B

K̂ C������� 	� ��$������
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �B

FK ��
��$���
���� �������
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �B

T̂ %�����< 	� 
5������ (0, 0)E (1, 0) 8 (0, 1) �� R
2 � � � � � � � � � � � � � � � � � � � � � � � � � � �B

R1 ���	���� �������
� 	� ���������� 	� ������ ��
	� � � � � � � � � � � � � � � � � � � � � � � �B

P1 ��������� 	� ������ ��
	� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �B

x̂, ŷ, ẑ �
��
���� 	� ��$������
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �B

Vh C��
��� 	� $�������� #C! �
�
 �
 
���<� 	� �
 
�����	
	 � � � � � � � � � � � � � � � �.

Qh C��
��� 	� $�������� #C! �
�
 �
 
���<� 	� �
 ������� � � � � � � � � � � � � � � � � � �.

Mh C��
��� 	� $�������� #C! �
�
 �
 
���<� 	� �
 
��� 	� ��������� ����� � � �.

C0 !������ 	� ��������	
	 	� ��	�� 0 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �.

FT ��
��$���
���� ����
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �.

S1 ��������� 	� ������ ��
	� �
�
 �
 ��������� � � � � � � � � � � � � � � � � � � � � � � � � � � � �.

r ���8������ 	�� ��
	����� ���	��
	� 	� �
 ������� 	������
 ∇q � � � � � � � � � � � 3

Rh C��
��� 	� $�������� �
�
 �
 
���<� 	� �
 �@� � � � � � � � � � � � � � � � � � � � � � � � � �  3

s̃h !������ 	� ���� �
�
 �
 ��� 	� �
 ���8� 	�� ��
	� 	� �
 ������� � � � � � � � � � �  3

αK �
������� 	� ���
����"
���� �������
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  3

hK �
�
D� 	�� �������� K � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  �

VK ������	
	 �
�
����A����
 �� �� �������� K � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  �

c1, c2 �����
���� 	� ���
����"
���� �������
��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �

m �
�� 	� ������ n � n + 1 ���:� ��
 �� �
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  �

Ni !�������� 	� $���
  � �� ��� ��	�� 	�� 	������ Ω � � � � � � � � � � � � � � � � � � � � �  �

N̄i !�������� 	� $���
 �� �� ��� ��	�� 	� �
 ��������� ����� Γs � � � � � � � � � � � �  �

NpV ol 9:���� ���
� 	� ��	�� �� �� 	������ Ω � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  �

NpSup 9:���� ���
� 	� ��	�� �� �
 ��������� ����� Γs � � � � � � � � � � � � � � � � � � � � � � � � �  �

X ������ 	� 

����� ��	
��� �
�
 �
 
�����	
	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � �   

U,V, W �������� 	� 

����� ��	
��� �
�
 �
� ����������� 	� �
 
�����	
	 � � � � � � �   

P ������ 	� 

����� ��	
��� �
�
 �
 ������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �   

R ������ 	� 

����� ��	
��� �
�
 �
 �@� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �   

R1,R2,R3 �������� 	� 

����� ��	
��� �
�
 �
� ����������� 	� �
 �@� � � � � � � � � � � �   

S ������ 	� 

����� ��	
��� �
�
 �
 	����	
	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � �   

E ������ 	� 

����� ��	
��� �
�
 �
 
����
 	� ��������� ����� � � � � � � � � � � � � � �   

M3D #
���" 	� �
�
 ���	��������
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  )

M̃ #
���" 	� �
�
 �
�
 �
 ���������� f 	�� �5����� 	� �������� � � � � � � � � � �  )

M̂ #
���" 	� �
�
 �
�
 �
 ���������� b 	�� �5����� 	� �������� � � � � � � � � � � �  )

M̆ #
���" 	� �
�
 �
�
 �
 ���������� 	� $������� ��� $��	�� � � � � � � � � � � � � � � )

C3D (Xm) #
���" ���	��������
� 	� �5������ ���
����
�� � � � � � � � � � � � � � � � � � � � � � � � � � �  )

L3D #
���" ���	��������
� 	� ����	�" 	� ��� �5������ 	�$���
�� � � � � � � � � � � � � � � �  )
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���
� 
� ��������

G3D #
���" ��
	����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  )

F #
���" 	� �5������ �
���������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  )

B #
���" 	� �5������ �
����A����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  )

T̄ ������ 	� ������� 	� 
����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � )

D #
���" 	� 	�
�������
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  )

Lα,3D #
���" �
��
��
�
E ���	��
	
 
 ��
�� �������
� ��� αK � � � � � � � � � � � � � � � � �  )

Dα #
���" 	� 	�
�������
E ���	��
	
 
 ��
�� �������
� ���
√

αK � � � � � � � � � � �  )

Gα #
���" ��
	�����E ���	��
	
 
 ��
�� �������
� ���
√

αK � � � � � � � � � � � � � � � �  )

M #
���" 	� �
�
 	� ��� ��������� ���	��������
��� 	�� 	������ � � � � � � � � � �  +

C (Xm) #
���" 	� ��� �5������ ���
����
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  +

L #
���" 	� ����	�" 	� ��� �5������ 	�$���
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � +

G1,G2,G3 ����������� 	� �
 �
���" ��
	����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  +

F1,F2 ����������� 	� �
 �
���" 	�� �5����� �
��������� � � � � � � � � � � � � � � � � � � � � �  +

B1,B2 ����������� 	� �
 �
���" 	�� �5����� �
����A���� � � � � � � � � � � � � � � � � � � � � � �  +

D1,D2, D3 ����������� 	� �
 �
���" 	� 	�
�������
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  +

Lα #
���" �
��
��
�
 	� �
 ���
���� 	� ��������	
	 ��	���
	
 � � � � � � � � � � � � � +

D1,α,D2,α, D3,α ����������� 	� �
 �
���" 	� 	�
�������
 &��� 	� ��������	
	 ��	�$�( � � �  +

G1,α,G2,α,G3,α ����������� 	� �
 �
���" ��
	����� 	� �
 ���
���� 	� �
 �@�� � � � � � � � � �  +

M̄ #
���" 	� �
�
 	� ��� ��������� ��	��������
��� 	� �
 ���������� � � � � � � � +

C̄ (Xm) #
���" 	� �5������ ���
����
�� 	� �
 ���
���� 	� ��������� ����� � � � � � � � �  +
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� �� ��	���

��� ��2������ ��
 ������� ���������� 
���
 �� ���������� ����� 
� ������� �
��� (� 25+�� �+����� ���� 
� ���
������� 5�����������
 (gf ) �� ���

�+�� � 
� ���
������� ������ � 
� 5������� (g) 	���
�
� � 
� ����
����
 
���
 � 
� �+	��2��� ��������� �
 ������
� 
� �+��4� �����<	���
(ωT × (ωT × d))� ������ ,+� �
 ����B� �� 
� ���
������� �����<�
	��� ���$ �)�5�����= �+ ��5���+� �� (ω2

T r cosφ) � ���9� 	��	���
���+
������� �
 �8� �� ��������� � � � � � � � � � � � � � � � � � � � "

�� (� ���
������� �� �����
�� ���$ ���	+���� 	�� +�� ���	������
�����
 � 
� �+	��2��� ��������� f = 2ωT sin(φ) � +�� ���	������
���5�����
 � 
� �+	��2��� ��������� b = 2ωT cos(φ)� � � � � � � � � 1

��" ��,+��� �� 
�� 	������� �<����� ������5�$2��� � �+� ���5�� ��
����
�� ��	����
 � ���	���
 �	��)������� � � � � � � � � � � � � � � '

��% ���25+������ ��
 	
��� ���5���� � 
� �+	��2��� ���������= �����
������ ����	��f �= �� �
 �+�
 �� ��������� ��������� �
 	��$�����
�� �����
�� �� �
 ������ ��
 $���� � � � � � � � � � � � � � � � � � � 6

��1 (�� ��������� �� +� C+��� ������	��� ���2���� ����� ��� 	
����
��2�����= �+���� �
 	
��� �+	����� �� ���
�4� ��� ���	���� �
 	
���
��������= ��� 	��	�������
�� � 
� ����������� ��
 C+���� � � � � � � .

��' ��,+��� �� 
� �
�+�� �� �+	��2��� 
���� � 	���+������ ���������
�
 	
��� �� ����������� � � � � � � � � � � � � � � � � � � � � � � � � �1

��� �
������� 2����� +��
�4���� �� 
� ��������4����� ��	����
  �= ���
�������� >" �����?= 3�)������ >6 �����? � 	������ �����5+
����
>1 �����?� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �'

��� ��
+���� �� �
������� 	����$����� �� ����� ���	
���� � 5����
����� � 	����� �� 
� ��

� �� ���$�5+
�� �������+��+���� �� 
�
�+	��2���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �6
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 �� &�
+���� �+������ ������������ �� x = 0, 5 � z = 0, 5 	��� �
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>�? Re = 400 � � � � � � � � � � � � � � � � � � � � � � � � � � � � " 
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������� u = (u, v, w)= 
� 	������ P = 
� �������� ρ � 
� �
�+�� �� �+	��2��� 
����
η= ����� �

�� ��	����� ��
 ����	� t � �� 
�� ����������� ��	����
�� (x, y, z)=
�)��	�� 
� �
�+�� �� 
� �+	��2��� 
���� ,+� �� �+����� �� (x, y) � t� (�� ����
	������� �� 
� ��
������ u = (u, v, w) �� ������	����� ��� 
�� ����������� ��

�� �8�� ����������� ��
 ������� ���������� 
���
 �� ���������� ����� 
� �������
(�� �8�� ���$� ����5���� MxN 
��5��+����
����� 3���� �
 ����= MyN 
����+����
�
����� 3���� �
 ����� � MzN �����
 � 
� �+	��2��� ��������� 3���� �
 �)������ >���
25+�� >���??� (�� ��+������� �� ��������� 	�����
�� ,+� ��������� 
� ��
����� ���
��� ���3�� ������
�� �� ���+��� � 	����� �� 
�� 	�����	��� �<����� �� ������������
�� 
� ���� � �� 
� �������� �� �����������

��� ������	
��
� �� �
 �
�
 � ���������������
�

�
 	�����	�� �� ������������ �� 
� ���� 	+��� ��� �)	������ �� 
� ��5+�����
������ >��� #R�� � #��;���= �.6 = �!�� �6?=


∂tρ + ∂x(ρu) + ∂y(ρv) + ∂z(ρw) = 0 >���?

�
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-�5+�� ���
 ��2������ ��
 ������� ���������� 
���
 �� ���������� ����� 
� �������

&� �� �	��� �����$��������� ��� 
�� �������� �� 
� ��+����� >���? � ��
����	
�4� ∂tρ + u∂xρ + v∂yρ + w∂zρ 	�� �+ �������� �������
 Dtρ= 
� ��+�����
�� ������+���� 	+��� ��� ������� �� ����� ��������� ����


1/ρDtρ + ∇ · u = 0 >���?

������ Dt = ∂t+u·∇ 
� �������� �������
 �∇·u = ∂xu+∂yv+∂zw 
� �����5�����
�� 
� ��
������� (� ��+����� >���? �)	���� �
 3��3� �� ,+� 
� ���� �� �������� �
�����
��� 
� ��
����� ����� �
 ������ �� �������� � ��
+���� �
 	����� �������
�� 
� ��+����� ��	������� 
� ��4�� �� ������ �� �������� 	�� +����� �� ����	�=
�������� ,+� �
 ��5+��� ������� ��	������� 
� ��4�� �� ������ �� ��
+��� 	���
+�� 	���<�+
� �� C+��� �� ����������� �� 
� ��+����� >���? �� ��+�� ,+� 
�
�������+���� �� 
�� ���������� �� ������
� �� �
 C+���= 
� �+�
 �� ��	�������
	��� �	
��������� �� �
 ������ ����� 
� �������� ��
 �5+� �� �� 3���5�����
(�� ������� �� 
� 	������ � ����������� �� ��
�� �� ������� �	������
������ �

� ���� �� +�� 	���<�+
� �� C+���= ���� �� 
� 3���� 
�� ������� ��
 �����������
�� ��
������ >#R�� � #��;���= �.6 ?� &� �� ��+�� ,+� +�� 	���<�+
� �� C+���
����������� �5+�
�� ���������� �� ���� �� ��
 � �5+�= 
� ��+����� >���? �� 
�
��
����� �������� ����� �
 ������ �� �������� � �� ��
+���� �� ��������= �� 
�
�����<� �� 
�� ����� 
� �$� 	�����
� �� ,+� �
 ����� �9���� �� ��
��+
�� ��

�
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� ��������
�

�5+� ���� ����	
�4���� 	�� ����� �� ��
G 
� ���� �� ����������= 	��� �
 ��
+���
�� ������+�� �� 
� ����� 	��	������ �� ,+� 
� 3��� �� 
� ��+����� >���?� ��
����� ������� ���� ������ �� 
� �+2����������� 	�,+�B� �� �
 ������ ���� 	���
,+� �� 
� 	+��� �5����� 3������� 1/ρDtρ = 0 � �� ��+�� �������� ,+� �
 ��
+���
�� +�� 	���<�+
� �� C+��� �� ���������= 	�� 
� �+�
 �� 
� 	+��� ���������� ����
+� C+��� �����	�����
�� �� ����� ����+��������� 
� ��+����� �� ������������ ��

� ���� >���? �� ��������� ������������� �� ������������ ��
 ��
+���


∇ · u = 0 >�� ?

����$� 
�� C+8�� ��� ��
�������� �+�3� ������� ,+� 
� ��
������ ��
 ���
���� �� �
 �5+� >cs = 1.500 m/s? �� ���	����� ���� �� �
 C+��� �+��� �����	���
���
�= �+�,+� ���� ���	
�2������ ��	
�,+� �� 	���� ����
��� �,+�

�� 	���
����
��
��������� ��� ������ ���	�����
�� ���� 
� 	��	�5����� �� ����� ��9������
�� �
 �5+�� �
5� �$� � ����� �� �+���� �� ,+� 
� ��+����� >�� ? �� ��+�� ,+� �

C+8� ��� ������������= 	��� ��� �����5� 
� ��������� ���	���
 �� 
� �������� ��
�	����� �)	
<��������� �� 
� ��+����� �� ������+����= �9� �+���� �
 C+8� ���
����������������

��� ������	
��
� �� �
 �
����
� �� ��	�������

(� ��+����� �� ������������ �� 
� �������� �� ���������� �� ������� �

�	
���� 
� ��5+��� 
�� �� ��A��� F = m × a � +�� 	���<�+
� �� C+���� ����
	�����	�� ���� ,+� �� �
	� 

��"� ���
���	�� F ���#� ����� 
	 �
���� �� $��� m�
�� �
���� ��%
����! 
	� ����������	 a %
� �� ����
��� �� �� ���
���	�� �� �����
��� 

��"�� %
� ���#�	 ����� �����= ���� �� ��� a = (#������+D�������+· · · )/m�

!��
�4���� ���� 	�����	��= +�� ������	���� �+
������ ��
 ���������� � +�
������� �� ���������� �������
= �� 	+��� �������� 
� ��+����� ��
 ���������� 	���
+� C+��� �� ������� �� �+����� �� 
�� ��
�������� � 
� 	������


Dtu = −1/ρ∇P + gf >��"?

����� Dtu = ∂tu + u · ∇u �� 
� �������� �������
 �� 
� ��
������ >
� ��������
���	���
 �$� 
� �������� ���������� �� 
� ��
������?= ∇P �
 5�������� �� 
�
	������ � gf +� ������ ,+� �	+��� �
 ������ �� 
� ������ � ,+� �������� � 
�
�+��4� 5�����������
 ��������� g��

�� ��������= ������ �
 ���� �� ������� 
� ����+
����� ���$���� �� �������
��
�= �� ������ ,+� ����� �� �+���� ����� ��	������ ����� ��� 	�� �8��	
�= 
�
	�������� �� 
� �������� ��������� ,+� ������+�� 
� �+��4� �� �����
��= 
� 	���
	����� �� 
�� ���	�� �� ���������� ��
 ������ ,+� ������ 
� �	
������� �� 
�
�	��)������� �� *�+������, � 
�� ����������� ��
 $��� �� ���+��� ,+� 	������

� �
������ ��
 ������� �� ����������� � ��	
���� ����� ����� ��	����� ���$�
�������� � ������+������

�,
 1,�8 	� �
 @�

��
���� F��
���
�2 	� 9�;��� ���
����� G�� �
 �
�����	 	� �
 $���"
 	�

��
����� ��

��
����
 ����� 	�� ������� ���
 	
	
 ��� g = GM1M2/d2� ���6
 $���"
 
��:
 

�� �
��� 	� �
 �A��
 G�� ��� ��� ������� 	� �
�
� M1 8 M2 G�� �� 6
��
� ���
�
	�� ��� ��
 	��>
�
���
 dE ����	� G ��
 �����
��� 	� ��

��
���� ���
���
� ��8� 

��� �� 6, 67 × 10−11 Nm2/kg2�
C��
 �<������� �� 
���	
 ���
����� �
�
 	�� �
�
� ��8�� �
�
D�� ��� ���
��

����� ��G��D
�
����
�
	
� ��� d � �
�
 	�� ��$��
� ��8
 	����������� �
	�
� 	� 	����	
	�� ��� ���5����
��
C��
� ���	������� ��� �
���$��6
� �� �������������� ���� �� �� �
�� 	� �
 �����
 8 ��
�G����
���� ������ ����
	� ����� �� ����������

�



+���
��� �, ���������� 
� ��������

����� �� �	�
��
 �� ��������	
 ��

�
�

�
 3��3� �� +��� +� ������� �� ���������� �� ��������= ���� �� 
� ����
��� 5������ ����� �+ 	��	�� �8�= 5����� ���
��������� ,+� ����� ��� ������� ��
�+����� (� �������������� �� +� ������� �� �8�� 28�� �� �
 ��	���� � ���� ����
���� ������� � 28� ����� 
� ������ >#R�� � #��;���= �.6 ?= 	+��� ��� �)	������
�����$��������� �� 
� ��5+����� ������


(Dtu̇)I = (Dtu)R + 2ωT × u + ωT × (ωT × r) >��%?

(�� �+�<������ I � R �� 
� ��+����� �������� �� ��2���� � 
�� �������� �� ���
�������� �������
 >�8�� 28�� �� �
 ��	����? � ������� >�8�� 28�� ����� 
� ������?=
���	������������ &���� �
 
��� �����3� �� 
� ��+����� >��%?= �
 	����� �������
(Dtu)R �� 
� ���
������� ��
����� � 
�� �8�� 28�� ����� 
� ������= �
 ��5+��� ����
���� 2ωT ×u �� 
� ���
������� �� �����
�� � �
 ������ ������� ωT × (ωT ×d) ��

� ���
������� �����<	��� ��������� 	��� 3���� ,+� +� �+��	� 5��� �
������� ��

�8� ��������� ��� 
� ��
������ ��5+
�� ωT � (�� ����� �<���
�� ��� u̇ 
� ��
������
��
����� � 
�� �8�� 28�� �� �
 ��	����= u 
� ��
������ ��
����� � 
�� �8�� 28�� �����

� ������= d �
 ������ ��������� �� +� �+��	� ����� �
 ������ �� 
� ������= ωT ��
�
 ������ �� 
� ��
������ �� �������� ��5+
�� ��������� �+�� ��5���+� �� +� �<�
������� 7, 292× 10−5 rad/s >+� �<� ������� S � 3 %1 ��� " � S 86164s? � × ��
�
 �	������ ��
 	���+��� ��������
� �
�������� �
 �+�<����� R � ����	
�4����
(Dtu̇)I 	�� 
� ��+����� >��"?= 
� ��+����� ��
 ���������� �� +� C+��� �� �������
�� +� ������� �� ���������� �� �������� 28� � 
� ������ ���� ���� 	��


Dtu = −1/ρ∇P − 2ωT × u + gf − ωT × (ωT × d) >��1?

-�5+�� ���
 (� 25+�� �+����� ���� 
� ���
������� 5�����������
 (gf ) �� ���+�� �

� ���
������� ������ � 
� 5������� (g) 	���
�
� � 
� �������
 
���
 � 
� �+	��2���
��������� �
 ������
� 
� �+��4� �����<	��� (ωT × (ωT ×d))� ������ ,+� �
 ����B�
�� 
� ���
������� �����<	��� ���$ �)�5�����= �+ ��5���+� �� (ω2

T r cosφ) � ���9�
	��	�����+
������� �
 �8� �� ���������

�� ���� ��+�����= �
 ������� �� 
� �4,+����� �� 
� ���
������� ��
����� �

� ������ � 
�� �������� �� 
� �����3� ��� 
�� �+��4�� ���+����� 	�� +����� ��

$
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� ��������
�

���� � 
�� ���
��������� ������� � ����� �+��4��� (� �������������� �
 �+���
������� �� �8�� 28�� ����� 
� ������ ���	
������ �5��5� ���� ��� �������� �+��
���= �
 ������� �� ���
������� �� �����
�� −2ωT ×u � �
 ������� ��5����� �� 
�
���
������� �����<	���= ������� 

����� ���
������� �����<�+5� −ωT × (ωT ×d)=
�������� ,+� 
�� �������� �� 
� ��+����� >��"? �� 3�� ���� �
�������� ����
�� �+����� �� 
� 25+�� >���?= 
�� �+��	�� �� �������� ��� 
� ������ ��,+�����
���� ���
������� �����<	��� +�� 	���� �� 
� ���
������� �� 
� 5������� gf >�

�$)��� ��
�� �� ωT × (ωT × d) �� �� ��� ��
� �
 0, 3% �� gf ?� (� ����������
gf −ωT × (ωT ×d) �� �������� ���
������� ������ � 
� 5������� � �� �5+�
 � 
�
���
������� �� 
� 5������� g ,+� ��,+���� +� �+��	� ,+� ��� 
��������� �����
�� 
� ������ �� 
� �+������ �� ���������

g = gf − ωT × (ωT × d) >��'?

�� 
� �+	��2��� �� 
� ������ g ��
� ��	���� �� 
� 	������� 5��5�$2��G
3�� +� �$)��� �� 
�� #�
�� >����� 
� ���
������� �����<	��� ����	����� � gf ��
������� +� �$)��� 	��,+� �
 ����� 	�
�� (6357 km) �� 
�5�������� ����� ,+�
�
 ����� ��+������
 (6378 km)? � +� �<���� �� �
 ��+���� >����� 
� ���
�������
�����<	��� �� +� �$)��� � gf �� +� �<����?� &�� �����5� ���� 
� ���������
�� g ����� �
 #�
� �
 ��+���� �� �� ��
������ �
 0, 5% �� ���	�����= ���� ��<
������� �� ���	������ 
�� 	�,+�B�� ����������� �� 
� 	���+������ �� �
 ������
,+� ������+��� 
�5���� ����������� �� 
��5��+� �� �
 ����� ���������� -���
�����
�� ���� g = (0, 0, g)= ������ g ��������� � �5+�
 � 9, 81 m/s2 >#R�� � #��;���=
�.6 ?� ������ ,+� 
� ���	������ �� 
� ���
������� �� 
� 5������� ��
� �	������$
�� 
� ������� ���	������ MzN �� 
� ��+����� ��
 ����������= ,+� 	�� ��2������
�� ������ 	���
�
� � 
� ��������� 
���
 �� ���� ���
�������� �	����� ��� �
 ��5��
����� 	��,+� 
� ���
������� �� 3���� ���8� �������� 
� ��������� ������ 	�� �

�8� MzN 	������� �� 3���� �������

�������� �� �+���� ����� ��������������� � 
� ��+����� >��'?= �� �+
���
	
���� ����� �������� �� 
� ��+����� >��1? 	�� ρ � �� ��������� 
�� ��������
	��� ������� 2��
����� 
� ��+����� ��
 ���������� 	��� +� C+��� ��������� ��
�������� ����


ρ(Dtu + 2ωT × u) = −∇P − ρg >��6?

����� �
����
�� �� ���	��	�

�� �
 ������� �� ���������� �����
����� �
 ������ �� �������� ��������� ωT

�� 	+��� ��	�������� ���� 
� �+�� �� 
�� ���	������� �����
 ωz � ���5����
� 
� �+	��2��� ��������� ωy= �� 
�� ����������� MzN � MyN ���	�����������= ��
�������� ���	������ �� 
� ��������� MxN >��� 25+�� >�� ??


2ωT = 2ωT cos(φ)j + 2ωT sin(φ)k =: ωyj + ωzk

����� φ �� 
� 
����+� ���������� �������

���� �
 	���+��� ��������
 2ωT × u ��
�������� 
�� ��+������� �� ���������� ����������� ����+
���� 	��� ���� +��
�� �+� ���	�������


x : ρ(Dtu + 2ωyw − 2ωzv)= − ∂xP

y : ρ(Dtv − 2ωxw + 2ωzu)= − ∂yP >��.?

z : ρ(Dtw + 2ωxv − 2ωyu)= − ∂zP − ρg

'



+���
��� �, ���������� 
� ��������

����� 
�� �������� ��� ���	������� ωx �� �
������ 	�� ��� ���� ���	������
�+
��

&� ��2��� 	�� ������������ �
 	��$����� �� �����
�� f � �+ ���<	���� b
����


f = 2ωz = 2ωT sin(φ) >���0�?

b = 2ωy = 2ωT cos(φ) >���0�?

/���	
�4����
�� �� >��.? ,+���� �� 
� ��5+����� ������ 


x : ρ(Dtu − fv + bw)= − ∂xP >�����?

y : ρ(Dtv + fu) = − ∂yP >�����?

z : ρ(Dtw − bu) = − ∂zP − ρg >�����?

@�3������ �� ��� >�..1?= ������8� ������� 	��� 
�� ��+�������
���3������$�����= 
� ���	������ �� 
� ���
������� �� �����
�� �����
 � 
� �+	���
2��� ��������� ,+� �+�5� � 	����� �� 
� ���	������ ���5�����
 MbN ��
 	��$�����
�� �����
��= ���9������ ���	�������� �� 
�� ����
�� 3������$������ ���� ����
	������ �� 
� ���
������� �� �����
�� �� +� ������� ��������� �� 
� ��+����� ��
���������� �������
 >�����? � ���� �� �,+�
����� ��� �
 5�������� �� 
� 	������
���3������$���� �������
= �� ������ ����8���� �
 �,+�
����� 5������2�� �)�������
����� 
�� ���	������� 3���4����
�� �� 
� 	������ � 
� ���
������� �� �����
���
�+�
,+��� ���������� ����� 
�� ������ ���<� 
+5�� � ���
��������� �������
�� ��
�
 C+����

( )2 cosy Tf ω φ= ( )2 cosy Tf ω φ=

( )2 senz Tf ω φ= ( )2 senz Tf ω φ=

φφ ( )2 cosy Tf ω φ= ( )2 cosy Tf ω φ=

( )2 senz Tf ω φ= ( )2 senz Tf ω φ=

φφ

-�5+�� �� 
 (� ���
������� �� �����
�� ���$ ���	+���� 	�� +�� ���	������
�����
 � 
� �+	��2��� ��������� f = 2ωT sin(φ) � +�� ���	������ ���5�����
 �

� �+	��2��� ��������� b = 2ωT cos(φ)�

7�����+������ �
 ������ k = (0, b, f) �� 	+���� �������� 
�� ��+������� ��

���������� >����? �� ����� ��������
 ����


ρ(Dtu + k × u) = −∇P − ρg >����?

-
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&� �� ,+������ ����������= 	�� �8��	
�= 
� ����+
����� 5�����
 �� 
�� �������
� 5��� ����
� 
�� ����������� ����������� �� ���<�� 
�� �$� �	��	����� � ��
�����<�� +��� ����������� ��������� 	��� ����� �� �+���� 
� �+����+�� �� 
�
�+	��2��� ��������� � 
� ��������� ��
 	$������� �� �����
�� ��� 
� 
����+�� #���
�� 
� 	��������� 3���4����
 ��
 $��� �� ���+��� ����������� �� �� �+� 5�����=
���� �� 	������� �� ���� �����= �� 	+��� �����8�� ����� +� 	
��� ���5���� � 
�
������ ��������� � +��� +� ������� �� ����������� ����������� ��� ,+� 
�� �������
�� 3�5�� �	������
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-�5+�� ��"
 ��,+��� �� 
�� 	������� �<����� ������5�$2��� � �+� ���5�� ��
����
�� ��	����
 � ���	���
 �	��)�������

#��� ��������� �� ����
�� ��
���������� 	�,+�B�� ���	�������� ����
��� �� 
� ,+� �� 	�������� ���+���� �,+< � ,+� �� �������� 5�����
����� ��
������5���<� ���� �$���������� >��� 25+�� >��"??= ��� +� �������

� 
����+����

�	��)����� ����� � � �00 ;�= �� ��������� +� 	
��� ���5���� � 
� �+	��2���
��������� ���������� M#
���Tf N= �� �
 �+�
 �� ��������� ��������� �
 ��
�� ��

	��$����� �� �����
�� �� �
 ������ ��
 $��� � �� +��
�4� +� ������� �� �����������
�����������= ��� 25+�� >��%?�

��� �
 
������
��
� �� ����������

�� �
 ������ 
� �������� ��
 �5+� �� ��� ���<�= 	��� �� �+�3�= �
�������
�� +� ��
�� ������ (�� C+��+������� �� 
� �������� ������ �� 
� �+���� �� +�

/
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xxyy zz
PlanoPlano--ff

xxyy zz
PlanoPlano--ff

-�5+�� ��%
 ���25+������ ��
 	
��� ���5���� � 
� �+	��2��� ���������= �������
���� ����	��f �= �� �
 �+�
 �� ��������� ��������� �
 	��$����� �� �����
�� ��
�
 ������ ��
 $����

������ ��� �+� 	�,+�B��G �9� �� 
�� ���+����� ����� �
 �5+� �+
�� �� 
��
�<�� �����+�
����� 	��� � ��� �5+� ��
���= 
� ���������� �� �������� ��
����� ��
����� � +� 2% >/�����= �.."= �!��  '?� (� ����� 	���� �� 
� ��������� �� 
�
�������� ��+��� �� 
� ��������� �������
 � 	+��� ��� �����+��� � 
�� ������� ��

� 	������ 3������$����� &�
� +�� 	�,+�B� 	���� �� ���3� ��������� ������	����
� 
�� ������� �� 
� C�����
����� ���� 3��� 8+���2���
� ��+��� �� 
� �����<� ��

�� ����� ,+� 
� �������� ��
 C+��� �� �� �	���� �+�3� �� +� ��
�� ����� ��
���������� ρ0� #�� 
� ����� �� 	+��� ������	���� 
� �������� �� ��� 	�����


ρ (x, y, z, t) = ρ0 + ρ́ (x, y, z, t) ������ ρ́ � ρ0 >��� ?

����� ρ0 ��	������� 
� �������� ����� ��
 �5+� �� ��� � ρ́ ��� 
�� 	�,+�B��
C+��+������� ��
��������� ��� 
� �������2������ ��
 �5+� ��
 ��� ������� � 
�
���	����+��= ��
������ � 	�������

(� �	��)������� �� *�+������, �������� �� ���	������ ρ́ �� �
 �������
�� 
� �4,+����� �� 
� ��+����� >����?= ������������ ��
� 
� �������� ����� ��
���������� ρ0= � ���������� ��
 ������� ��
 
��� �����3� �� 
� ��+����� �����
�+
��	
��� � 
� 5������� ρg= �� ,+� �� ��������� ����� �������� �� 
� ��+��
���� >��� ?� �� ���� �������= �� �
 ,+� �� ����� �� �+���� �
 	��� ��
 C+��� ,+�
��+�� �
 ���������� �� 
� 	������ ��� 
� 	���+������ � �� �������� �&�$�	� ��
'����������= ��� �����5�= �� �� 	+��� ���	������ ρ́ �� ���	������� ��� ρ0 ����
�� 3�4� ��������������

-<���������= ���� ��	
��� ,+� 
� ������������ �� 
� ���� �� 3� �������

&



�,$, 0������� ���������

���� �� ������������ ��
 ��
+��� >/�����= �.."G �� &4��;� � &���
���= �00�?�
&���	�� ,+� �� ��������� 
� �������� ���� +�������= �
 ��
+��� �� +�� �+���
�	��)������� 	��� 
� ����� ���� �	��)�������= ������+�� +� 	�,+�B� �����
�� �
 
��� �4,+����� �� 
� ��+����� �� ���������� >����?= �� �������� ����= ��
	���+�� +�� ����������
� 	������ �� 
� 	�������� >/�����= �.."?� F��� �� 
��
��	
��������� �� ���� ���	
�2������ �� 
� �
��������� �� 
�� ����� �� ������
��
 ���	� �� �	
��������� �� ���� ����
�� (� ��+����� ��
 ���������� ��� 
�
�	��)������� �� *�+������,= ������+������ ������� 	�� ������������ 
� 	������
�����$���� ��
 C+��� ���� p = P/ρ0= 	+��� ���������� �������� ����


Dtu + k × u + ∇p = −ρ/ρ0g >���"?

��� ������
� �������
�

&� ����� ����� �� �+���� ������� 
� �������� ��
��+
�� ������ ��
 C+���
� 
�� ����������� �� ��
�������� ������ ��
 ������ (�� ��������� ������� � 
�
�������� ��
��+
�� ���$� ��
��������� ��� 
� ��
������ �� ����� τzx ∝ u/h �
τzx = μ∂zu= ����� μ �� �
 ���2������ �� ���������� ��
��+
��= �
 �+�
 �� +��
	��	����� ��
 C+��� >��� 25+�� >��1?? >@�

��= �..1?�
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-�5+�� ��1
 (�� ��������� �� +� C+��� ������	��� ���2���� ����� ��� 	
����
��2�����= �+���� �
 	
��� �+	����� �� ���
�4� ��� ���	���� �
 	
��� ��������= ���
	��	�������
�� � 
� ����������� ��
 C+����

�� ���� ������ �
 ������ �� 
� �������� ��
��+
�� 	+��� ��� �)	������ ��
�+����� �� 
� ��
������ � �� 	+��� �������� 
� �+��4� �� �������� Fυ 	�� +�����
�� ���� ����


Fυ = υ(∂xxu + ∂yyu + ∂zzu) >���%?

"



+���
��� �, ���������� 
� ��������

������ υ = μ/ρ0 
� ���������� �����$���� ��
��+
�� �+����� �� 
� ��
������= 
�
���	����+�� � 
� 	������ υ = υ(S, T, p) ��
 �5+�� #��� �+ +�� �� ������5���<�=
�� 
�� ��������� �� 
� �)	������ >���%?= �� ��+��� ,+� �
 C+��� ��� �����	�����
�
� 	��� 	���� ���	������ 
�� ��������� ��+4���� �+� 	�,+�B�� ���	���� � 
��
��������� ,+� �� 3�� �����������

(�� ���	������� �� 
� ��+����� ��
 ���������� 	��� +� C+��� �������=
����	
�4���� �
 ������� Dtu �� 
� ��+����� >���"? 	�� �+ �������� �������

Dt = ∂t + u · ∇ � �����	������ �
 ������� �� �������� ��
��+
�� ,+���� �� 
�
��5+����� ������


∂tu + u∂xu + v∂yu + w∂zu − fv + bw + ∂xp=υ(∂xxu + ∂yyu + ∂zzu)
∂tv + u∂xv + v∂yv + w∂zv + fu + ∂yp =υ(∂xxv + ∂yyv + ∂zzv) >���1?

∂tw + u∂xw + v∂yw + w∂zw − bu + ∂zp =υ(∂xxw + ∂yyw + ∂zzw) − ρ/ρ0g

��� ��������� ���������
� �� �� �����

(�� ��+������� >���1? �	
������ � 
� ��
������ �������$��� �� +� C+���
��������� ��� +�� �)��
���� �	��)������� �
 ���	���������� �� 
�� C+���� ����
	�� �8��	
� �
 �5+� �� 
�� �������� �� ��������= 
�� ����������� ���
�� ��

��� ��� 5�����
����� �+��+
�����= � ���� 
� �+��+
����� �� ����2���� �� +��
����
� ���	���
 �+� 	�,+�B� �� �� 	�$����� ����
��� ����� ��+������� �������
�$����� ��� �
 2� �� ������� +� ������� ��+������� 	���������� �� �
 ����	�
�$� �	��	����� 	��� ������ 
� ��
������ ����� ��
 C+8� � �� 
� �+��+
����� ��
������	���= �� ��+���� ��� 
� ��+����� >���'?= �
 ���	� �� ��
�������� ��

C+��� u �� ��� 	������ (� 	������ �� �

��= 〈u〉 �� 
� ,+� �� ����� ��������� ��
����

� � ��	������� 
� ��
������ ����� �� 
� ����+
�����G ���� ������� 	�� �

C+8� �� ����� � 5��� ����
�� (� ��5+��� 	����= ú= ��	������� 
� �+��+
�����
>C+��+������� �� 
� ��
������ �� +�� ����
� �� ����	� �$� 	�,+�B�?= 
� �+�
 ��
�� ������������ �� ������� �)��	�� �� 
� ������ �� ,+� ���� ������ � 
� ��
����
��� ����� ��
 C+8�� #���� ��
 	���
��� �����	�+�
 �+�5� �������������� �,+<=
	��� �� 3�� +�� ����� ���	
�������� 
�5��� �� ������� ���� ������ ���� ����
���	������� � �� +� ���������� �� ��������� ���� 	���� �� 
� ��
������ �����
��
 C+8� � �� 
� �+��+
������ ��< 	+��


u = 〈u〉 + ú >���'?

����� 
�� ��5��� 〈 〉 ������ �
 ��5��2���� �� +� �	������ �� �������� �� 	�����
����� ���	���
�

�� 
� ����� ������ ,+� �� �����+� 
� ������	������� �� 
� ��
������ ��

� ��+����� >���'? �� 3��� ������� 	��� 
� ���� ������
� ��
 	���
���= 
� 	������


p = 〈p〉 + ṕ >���6?

&� 	+��� �������� �
 	��������� �� 
� 	������ ���	������ �� 
� ��+��
���� ��
 ���������� �� 
� ����
� �� 
� �+��+
����� 3������� +�� �� 
�� ����
���	��������� 	��� 
� ��
������ >���'?= 
� 	������ >���6? � �� 
� ��������� ��
�����	������
���� >��� �	������ %��?


∂t 〈u〉 + 〈u〉 ∂x 〈u〉 + 〈v〉 ∂y 〈u〉 + 〈w〉 ∂z 〈u〉 − f 〈v〉 + b 〈w〉 + ∂x 〈p〉 =

υ
(
∂xx 〈u〉 + ∂yy 〈u〉 + ∂zz 〈u〉

)− ∂x 〈úú〉 − ∂y 〈v́ú〉 − ∂z 〈ẃú〉 >���.?
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(� ��+����� >���.? 	��� 〈u〉 ���$ ������� ����������� �� �������� �� 
� ���

������ ����� ��
 C+8�= ��� 
� ��	������� �)��	���� �� 
�� ���� 9
����� ��������
�+���� �� 
� �����3�� �+�,+� ú, v́, ẃ ������ �� 	������� ���� >��� �	������ %��?=

�� C+��+������� ��
 C+8� �� ���������� 
�� �+�
�� ��� +�� �+����� �+���$����
�� 
�� C+��+������� �� 
� ��
������= �� ����	������ �������������� �+���� ��
	��������� ����� �������� �+���� ��	�������� �
 ������ �� 
�� C+��+�������
�� 
� ��
������ � ��
��
��	���� ����� 
� ��
������ ����� ��
 C+8� � �� �,+����

���� � +�� ������� τxy ,+� ���9� ����� ���� ���������+�����
�� �
 	���������
�� 
�� ��+������� ,+� ��������� 
� ����+
����� �� �������� �� ����� ���	�� ��
���������= �+	�������� 
� �������� 〈 〉= �� �������


∂tu + u∂xu + v∂yu + w∂zu − fv + bw + ∂xp = >���0�?

υ(∂xxu + ∂yyu + ∂zzu) + 1/ρ0(∂xτxx + ∂yτxy + ∂zτxz)

∂tv + u∂xv + v∂yv + w∂zv + fu + ∂yp = >���0�?

υ(∂xxv + ∂yyv + ∂zzv) + 1/ρ0(∂xτyx + ∂yτyy + ∂zτyz)

∂tw + u∂xw + v∂yw + w∂zw − bu + ∂zp = >���0�?

υ(∂xxw + ∂yyw + ∂zzw) + 1/ρ0(∂xτzx + ∂yτzy + ∂zτzz) − ρ/ρ0g

� 	����� �� �3��� �� �������������$ ,+� 
�� ��
�������� �� ��2���� 9�����
����� � 
�� ��
�������� ������ ��
 C+8�� (�� ��+������� ��
 ���������� >���0?
,+� ���������� 
�� ��������� ������� � �������� �� ��������� ��+������� �� /���
��
�� � �� 	+���� �������� ��������
����� ����


∂tu + (u · ∇)u + k × u + ∇p = −ρ/ρ0g + υΔu + 1/ρ0∇ · τ >����?

������ Δ �
 �	������ 
�	
������ � τ �
 ������ �� ���������


τ =

⎡
⎣ τxx τxy τxz

τyx τyy τyz

τzx τzy τzz

⎤
⎦ >����?

����� 
�� ��������� ,+� �	������ �� �
 ������ >����? ���$� ����� 	��


τxx = −ρ0 〈úú〉
τyy = −ρ0 〈v́v́〉
τzz =−ρ0 〈ẃẃ〉 >��� ?

τxy = τyx = −ρ0 〈úv́〉
τxz = τzx =−ρ0 〈úẃ〉
τyz = τzy = −ρ0 〈v́ẃ〉

����� ��������� >��� ?= 
�� �+�
�� �	������ ���� +� ���+
���� ���+��

��
 	��������� �� ���� ���	������ �� 
� ��+����� �� ����������= ��� 
��


������ 21�������� 
� ��!���
�3 � (�� ��������� �� /����
�� �	������ �
	����� �� 
� ������	������� ��
 ���	� �� ��
�������� �� ��
������ ����� ��

C+8� � � 
� ��
������ �� 
� �+��+
������ ����� �� ��	�������� �+���� ����������
�<����� ����� �
 ����
 �� 
� ���$���� �� C+���� �+��������
= ���� ,+� ��� 
�
������+����� ������� �� 
� �������� �� ��������� ����������� ����� 
� ���$����
�� 
� ����+
����� ����� �� �+��+
����� (� ����� ��2�+
��� ,+� �� 	
����� �3���

��



+���
��� �, ���������� 
� ��������

�� ���� ��	���2��� 
�� ��������� �� /����
��= 9��������� �� �������� �� 
��
��
�������� ������ ��
 C+8�= 	��� ,+� 
�� ��+������� >����? ��	�������� +� 8+�5�
������� �� ��+�������� !�� �� 
�� ������ �$� ���+��� � ������� �� 
�� �$�
���	
� �� ������
� �� ���5������ ,+� �
 ���������� �+��+
���� ���9� �����

� ��
������ ����� ��
 C+8� �� +�� ������ ,+� ����� 
� ����� �� 
� �+�
 �

���������� ��
��+
�� ������ �
 C+8� ��������	���� �� �����= �� ��+�� ,+� 
��
��������� �� /����
�� ��	����� �� ����� 
����
 �� 
�� ��������� ��	����
�� ��

�� ��
�������� ������ ��
 C+8�� (�� C+���� ,+� �� ���	����� �� ���� ������=
����� �

�� �
 �5+�= ��� 

������ C+���� ��A�������� � ���	����� � +� ����
�
�����

� 	��� 
�� ��������� ,+� ��������� �
 ������ �� ��������� ��������� >��� ?
>��� #R�� � #��;���= �.6 ?� &� ����� ��������


τxx = 2ρ0νH∂xu

τyy = 2ρ0νH∂yv

τzz = 2ρ0νV ∂zw >���"?

τxy = τyx = ρ0νH(∂xv + ∂yu)
τxz = τzx = ρ0νV ∂zu + ρ0νH∂xw)
τyz = τzy = ρ0νV ∂zv + ρ0νH∂yw)

������ νH � νV 
�� 

������ ���2������� �� ���������� �+��+
���� 3���4����
 �
�������
 ���	����������� >���������� �����$����?�

/���	
�4���� 
�� ��������� �� >���"? �� 
� ��+����� >���0�?= �	
������ �

������� �� &�3A��4 ,+� 	������ ������� �
 ����� �� 
�� ��������� � ��������
�� �+���� 
� ��������� �� �����5����� �+
� (∂xu + ∂yv + ∂zw = 0) �� �����


∂tu + u∂xu + v∂yu + w∂zu − fv + bw + ∂xp = >���%�?

υ
(
∂xxu + ∂yyu + ∂zzu

)
+
(
∂x (νH∂xu) + ∂y (νH∂yu) + ∂z (νV ∂zu)

)
F	������ �� 
� ����� ������ 	��� 
�� ����� ��� ���	������� �� 
�

��+����� ��
 ���������� >���0? ����� ,+����


∂tv + u∂xv + v∂yv + w∂zv + fu + ∂yp = >���%�?

υ
(
∂xxv + ∂yyv + ∂zzv

)
+
(
∂x (νH∂xv) + ∂y (νH∂yv) + ∂z (νV ∂zv)

)
∂tw + u∂xw + v∂yw + w∂zw − bu + ∂zp = −ρ/ρ0g >���%�?

+υ
(
∂xxw + ∂yyw + ∂zzw

)
+
(
∂x (νH∂xw) + ∂y (νH∂yw) + ∂z (νV ∂zw)

)
�� 3�� � ������ +�� ��4�� 	��� ,+� 
�� ���2������� �� ���������� �+��

�+
���� 3���4����
 νH � �������
 νV ���� ���������� ����$�= 
� ��������	<�
�)������� ����� 
�� ����
�� ��	����
�� 3���4����
 � �������
 �� 
� ����+
����� 5����
��
 �� �
 ������ �+5���� ,+� �� 	+��� ��	������ ,+� 
� ��4�
� �� ���������� ��

�� ��� ����������� ��� 
� ������ #�� 
� �+�
 �� 	+���� �������� 
�� ���	�������
�� 
� ��+����� �� �������&��;�� � 	����� �� 
�� ��+������� >���%�?= >���%�? �
>���%�?= ����


∂tu + u∂xu + v∂yu + w∂zu − fv + bw + ∂xp = >���1�?

∂x

(
(υ + νH) ∂xu

)
+ ∂y

(
(υ + νH) ∂yu

)
+ ∂z

(
(υ + νV ) ∂zu

)
∂tv + u∂xv + v∂yv + w∂zv + fu + ∂yp = >���1�?

��



�,-, +�������
�� 
� 
�)����� 4���5��
�� ! ���
����

∂x

(
(υ + νH) ∂xv

)
+ ∂y

(
(υ + νH) ∂yv

)
+ ∂z

(
(υ + νV ) ∂zv

)
∂tw + u∂xw + v∂yw + w∂zw − bu + ∂zp = >���1�?

−ρ/ρ0g + ∂x

(
(υ + νH) ∂xw

)
+ ∂y

(
(υ + νH) ∂yw

)
+ ∂z

(
(υ + νV ) ∂zw

)

(� ����� �� ����� ��+������� ��� ��������� � 
�� ���	������� �� 
� ��+��
���� ��������� �� �������&��;�� ��� +�� ���������� �������� �� (υ+ν)� �
 ����
�
�� �������� �,+���
���� � 
� ���� �� ,+� 
�� C+��+������� �+��+
����� 	���+���
���������= 
�� �+�
�� 	+���� ��� 	��������4���� ������������� �
 ��
�� �� 
�
���������� 	�� ������ ��
 ��
�� �� 
� ���������� ��
��+
��� ���� �)	
��� 
� ���
��� �2������� ��
 �+���4��� ����� �
 ���������� ��
 C+8� �� �+��+
���� � ������
��
 5�������� 	��������� ��
 ����������= ������ �
 �����	���� �� 5������ ���
��� �� C+���� �$� ���� ,+� �� ��
��+
��� &� 	+��� ��+��� ����$� ��� ����
��5+����� ,+� �����= νH � νV ��� �+�3� ������� ,+� 
� ���������� ��
��+�

�� υ �� >���1?= 	�� ��� ,+� �� �,+< �� ���
���� 
�� �������� 	��	�������
��
� 
� ���������� ��
��+
�� ���$� �5������� 	��� ����
�� 
� ����+
����� 5�����

>#R�� � #��;���= �.6 ?= ,+������ �������� 
�� ���	������� �� 
� ��+����� ��
�������&��;�� ����


∂tu + u∂xu + v∂yu + w∂zu − fv + bw + ∂xp = >���'�?

∂x(νH∂xu) + ∂y(νH∂yu) + ∂z(νV ∂zu)

∂tv + u∂xv + v∂yv + w∂zv + fu + ∂yp = >���'�?

∂x(νH∂xv) + ∂y(νH∂yv) + ∂z(νV ∂zv)

∂tw + u∂xw + v∂yw + w∂zw − bu + ∂zp = >���'�?

−ρ/ρ0g + ∂x(νH∂xw) + ∂y(νH∂yw) + ∂z(νV ∂zw)

#�� 
� �����= 
� ��+����� �� �������&��;�� �� ����� ��������
 �� 	+���
�)	����� ����


∂tu + (u · ∇)u + k × u + ∇p = −ρ/ρ0g

+
(
∂x (νH∂xu) + ∂y (νH∂yu) + ∂z (νV ∂zu)

)
>���6?

(�� ������������ ���
�4���� �� �
 ������ �� νH � νV ������� ,+� ���
��� ���<�� ����������
������� ����� ������������ �+5����� ��
���� ����� 101 �
104 m2/s 	��� νH = �������� ,+� �� 3�� ���� ������������ ����
������� ��	
���
��
 ����� �� 10−4 � 10−1 m2/s 	��� νV >#��
��;�= �.6'?�

��! ���"������� �� ��#���
� $���%���
�  	�����
�

!�� �� 
�� 	���
���� �$� ���	
�8� �� 
� ����
�4����� ������5�$2�� ��

� ����+��� 	��������4����� �� 
�� 	������� �� ���+���� 3���4����
 � �������

�� �$�$�	�
$� >�������� �� ����������?� �� 
�� ����
�� �+�������= �����
	������� �� ��	�������� �������� 
�� ���2������� �� �+��+
����� 3���4����
 νH �
�������
 νV � (�� ��
���� 	��� ����� ��� 	��$������ �� ��
�+
�� � 	����� �� +� ���
��������� ��,+��� �� �+��+
������ (� ��
������ ��
 ��,+��� �$� ����+��� ��
� ���+�� +�� ����� �+� ���+�= ������ � ,+� ���� ��	���� ��	��<2������� ��


��



+���
��� �, ���������� 
� ��������

��	� �� 	������ �<���� ,+� ���������4� �
 $��� �� ���+��� >�� ��� ������= ������
��
���= �������= ����?= �� 
� ����
+���� �������
 ��
 ����
� � �� 
� �������� �� ����	�
�� �#! ���	����
�� #�� ���� ��4��= +�� 5��� �������� �� 	��������4������� ��

� �+��+
����� ��� +� �+��������
 ���5� �� ���	
�8���� 3�� ���� �������

����
� ��
������ �� 
� 
������+�� >�
5+�� �� �

�� ��� �� ��� (��5� �� ���= �.."G @�

��
� U�����= �.'"= �.6�?= ����� 
�� �$� ���	
�� ����+
������� �
5�������� 3����
��,+���� �� �
�+�+�� �+��+
���� �� ��5+��� ����� ��� ��+������� �� �����	����
��������
 	��� 
� �+��+
������ �� ���� ��	
�� ������� �� ��,+���� �� �+��+
���
���= �� 3�� ��	
�������� 3���� �
 ������� 	��� ���� �����= ��
������ ��� �� 
��
	����
�� �	��)��������� ��
 	��$����� �� ���+���� �+��+
���� 3���4����
 νH � ��

� 	������ �� �

�� �� ��������� 
� ����� �$� ���	
� �� 	��������4�� 
� ���+����
�+��+
���� 3���4����
 νH = ���5����� � ���3� ���2������ +� ��
�� ��������� ��
����	� � ��	����= �������� ,+� �� 
� ��5+���= 
� ��5���+� �� νH �� ������� �
	����� �� 
� 	��������4����� �� &��5�����;� >�.1 ?� ���� �� ����+
� 	��� �

���� �� +�� ����
+���� �+������ �� 
�� ��+������� �� 
� ��5+����� ������


νH = Cm0ΔxΔyDT >���.?

������ Cm0 +� ���2������ �����������
 �� ���������� �� &��5�����;�= Δx, Δy

�� ����B�� �� MxN � MyN �� 
� ��������4����� 3���4����
 ,+� �� +��
��� 	���
����
��� �+����������� 
� ��+����� >���.?= �������� ,+�


D2
T = (∂xu)2 + (∂yv)2 + 1/2(∂yu + ∂xv)2

����� DT �� 
� ��5���+� �� ����������� ��
 ������ �� ��
��������� (� ��5���
�+� ��
 	��$����� �����������
 Cm0 �� 	+��� ���������� ��	<���������� &���
5�����;� >�.. ?= 	��	������� +�� �+���� �� ����<�� 	��� 
� �
������ �� Cm0

��� �+��+
����� �������������
 3���5���� � ������	���� �
 ���5� �+5����� ��
0, 1 ≤ Cm0 ≤ 0, 2= ������ �
 	��$����� +��
�4��� 	�� ������� �� �
 ����
�
Cm0 = 0, 1�

(� ���������� �� &��5�����;� �� ���������� 	��� ��5����� ����� 
� ����
���� �� ����� 3���4����
 �� 3��� ��	������� ���� ��+��� ����� �� 
�� ���������=
�������� ,+� �� ���+�� �� ��5����� ��� ��
�������� ��8�� ���� ��� 
�� ��5�����
��
 �������� �� 
�� �������= ��< ���� ������� �� ��5����� ����� �
 ����B� �� 
�
��

� ���	+�������
 ������+��� D�����
�����= ���� �	��)������� 	���+�� �+�
2������ ���������� 	��� �,+�

�� ��5����� ����� 
�� ��
�������� �� 
�� ����������
��� �
���= ��� �����5� 	+��� ����� +�� ��������� � �+������	�� �� 
�� ��5�����
�$� ����,+�
�� >D��V�� � H�

���5= �000?�

�� 
� ����� ������= ���� �� 3�4� ��� �
 ���2������ �� ���������� �+��
�+
���� 3���4����
= �� 	+��� ��+��� ������� +� ��
�� ��������� �� ����	� �
��	���� 	��� �
 ���2������ �� ���+���� �+��+
���� �������
 νV � ��������
�����=
�� 3� ��	
�������� ��� ���������� ����+
������� �
5�������� �� �+����� ��
 �9�
���� �� /��3������ ,+� ��������� 
� ������
���� �� 
� ��	� �� C+����

(� 	������ �� 
�� ����+
������� �� 
� �� #�����A�;� � #3�
����� >�.6�?


νV = ν0pf
np
p (Ri) + νbp >�� 0�?

fp(Ri) = (1 + αpRi)−1 >�� 0�?

�
 �9���� �� /��3������ Ri �)	���� 
� ��4�� ����� 
�� �+��4�� �� C�������
� 
�� �+��4�� �������
�� 


�$



�,/, %�������� ����� ! ���
���
�� 
� 
����
�


Ri = N2/M2 >�� �?

����� N2 �� 
� ����+����� �� ����
������� �������
��= 

����� ������� ����+�����
�� �������2������ � �� *�+���:W��W
W >/�����= �.."?


N2 = − g

ρ0

∂ρ

∂z
>�� �?

� M2 ���� ��2���� 	�� �
 5�������� �� 
�� ��
�������� 3���4����
�� u � v ����


M2 =
(

∂u

∂z

)2

+
(

∂v

∂z

)2

>��  ?

� 2� �� ������ ,+� 
� �+��+
����� �� 3�5� ��������� 5����� �� �
 ����
�� ,+� 
� �������2������ ��� �������
� (Ri < 0)= �� ��	��� ���� 
<���� 	��� fp


� ��5+����� ��������� 


νV /ν0p ≈ fnp
p < νmax >�� "?

#�� ������� �� +��
�4�� 	��� ���� ����+
����� 
�� ��
���� �� 
�� 	��$������
ν0p = 10−2= np = 2= αp = 5= νbp = 10−4 � νmax = 3� ������� 	��� ����� ��
����
�
 
<���� �+	����� �� νV �
 ��
�� �� 0, 03�

���� ����+
����� �+� �������

��� 	�����	�
����� 	��� �	
��������� ���$�
����� � ����
� 5
���
 >&������ � �3�����= �.66? � ����� 
� �����8� �� ��� �����
��������� � 
� ����
+���� �������
 ,+� ����� ����
�� �� ������ �+��+
���� �$�
����4����� �� 
� �+������ �� �������2������ �
 ���2������ ���� ��
���� +������
���= 
� �+�
 3��� �
 ��,+��� ����� �	�� 	��� �
 ���+��� �� ������ � ����+
�����
���+���� 	�� ��������

(� ��5+��� �� 
�� ����+
������� �� 
� ����+
����� ��	<���� � �$� �
$����
	��	+���� 	�� @+�; � �������� >�."6?


νV = ν0mfm (Ri) + νb >�� %�?

fm(Ri) = (1 + αmRi)−n1 >�� %�?

����� νb �� +� ��
�� �� ���������� ��
 ���2������ �� ���������� �+��+
���� ����
����
� �� ����� ��$
�5� � 
� ����+
����� ��������= �� ��������� 	��� ���� ���� �

��5+����� 
<���� �+	�����


fm < νmax >�� 1?

�� ����� ,+� �� ����� 	�� ������� 
�� ��
���� �� ν0m = 0, 06= αm = 10=
n1 = 0, 5 � νmax = 3� ������ ������� ,+� �� ����� ����+
�������= 
�� ��
����
�� ν0p= νbp= ν0m � νb ��� �)	������� �� 
�� ������ +������� ,+� νV = 	�� �8��	
�
�� m2/s�

��& '����"��� �����  (�
������� �� ������
�

(� 	������ p(x, y, z, t) �� 
�� ��+������� >���'�?�>���'�? 	+��� ��� �������
	+���� �� 
� �+�� �� �+� ���	������� 3������$����� � ���3������$����= >��� ���+�


�= �...?� (� ���	������ 3������$���� �� 
� 	������ �� +� C+���= �� 	+��� ������
����� � 	����� �� 
� ���	������ �������
 �� 
� ��+����� ��
 ���������� >���'�?=

�'



+���
��� �, ���������� 
� ��������

���	�������� �
 ������� �� ���
������� ����������= �� �����
�� � �� ���
�������
�������� �� ���� ������= 
� 	������ p(x, y, z, t) 	+��� ��� �)	������ ����


p(x, y, z, t) = patm(x, y, t) + g
[
η (x, y, t) − z

]
+ g

∫ η

z

(ρ − ρ0)/ρ0dς + q(x, y, z, t) >�� '?

������ �
 	����� ������� ��
 
��� �����3� �� 
� ��+����� �������� 
� 	������
�����������= �
 ��5+��� � ������ ������� ��	�������� 
�� �������+������ ��������
	���� � �����
<����� � 
� 	������ 3������$����= ���	�����������= ����� η(x, y, t)
�� 
� �
�+�� �� �+	��2��� 
���� ��
����� � 
� �
�+�� �� ���������� z = 0= �������
	�������� �
 ����
 ����� ��
 ��� >��� 25+�� >��'?? � 2��
����� q(x, y, z, t) �� 
�
	������ ���3������$�����

Plano de referencia (z=0)

Fondo

Superfície libre

-H(x,y)

η(x,y,t)

Altura de 
superficie libre

Profundidad

z
y

x

-�5+�� ��'
 ��,+��� �� 
� �
�+�� �� �+	��2��� 
���� � 	���+������ ��������� �

	
��� �� �����������

��������� 
�� ���	������� �� 
� 	������ p(x, y, z, t) ����� 	�� 
� ��+��
���� >�� '? 	��� ���� +�� �� 
�� ������
�� ��	����
�� (x, y, z) � ����	
�4$���
��
	�� �+� �������� ���	������� ∂xp= ∂yp � ∂zp �� ���� +�� �� 
�� ��+�������
>���'�?= >���'�? � >���'�? � ������������ ����$� ,+� patm = 0 �� ������� 
�
��5+����� ��+�����


∂tu + (u · ∇)u + k × u + ∇q − ∂x(νH∂xu) − ∂y(νH∂yu)

− ∂z(νV ∂zu) = −g∇Hη − g∇H

[∫ η

z

(ρ − ρ0)/ρ0dς

]
>�� 6?

������ ∇H = (∂x, ∂y, 0) �
 �	������ 5�������� 3���4����
 �)������� �  �� &����

� �����3� �� 
� ��+����� >�� 6?= �	������ ��� �+���� ��������= �� �4,+����� �
�����3�= �
 ������� �������	��� >�+	��2��� 
����? � �
 ������� �����
<���� >5���
������� �� ��������?= ��� �����5� ����	����� �
 ������� �� C�����
���� � �


�-



�,&, ���������� � ��������

������� �� 	������ 	��� �� ��	�������� 
� 	������ 3������$���� � ��	�������� 
�
	������ ���3������$�����

(�� ����� ,+� �� ���	
�4�� ����� �5+�� 	��� 	���+����= ���� ��< �������

�� �5��������� �� ��8� ��	
��+� � ����� ����������� �� 
� �+	��2��� 
���� �� 
��
�+�
�� 
� �+	��2��� �� �� �
�8� ��������� �� 
� 3���4����
 ���� �� �
 ���� �� 
��
������= 	+���� ��� ��������� 	�� 
� �
�+�� �� 
� �+	��2��� 
���� η� (� ���
+����
���	���
 �� 
� �
�+�� �� 5�������� 	�� 
� ��+����� �����$����


∂tη + u∂xη + v∂yη = w >�� .?

����� (u, v, w) ��� 
�� ��
�������� ��
 C+��� �� 
�� ����������� (x, y, z) ��
�+
����
	�� 
� ��+����� >�� 6?� ���� ��+����� �� +�� �)	������ �����$���� ,+� ��C�8�
�
 3��3� �� ,+� 
� �+	��2��� �� �+��� 8+��� ��� �
 C+����

(� �����<� �� 
�� ����
�� 	��� 	���
���� �� C+8� �����	�����
� ���
�+	��2��� 
���� �)��������= >��� �� ��� @�3������ �� ���= �..1G ���+

� � I���

�=
�00�G (�� � (�= �00�G U+�� � �+= �00"G ��	���� �� ���= �001G (�� �� ���= �001=
����� �����? ����5��� �������
����� 
� ��+����� �� ������+���� >�� ? � 
� 
��5�
�� ���� ��
+��� ��
 C+��� � +��
�4�� 
� ��������� �����$���� >�� .? 	��� �������
+�� ��+����� �� �+	��2��� 
���� �������
����� 	���������G ��� �����5�= �� ����
����� �� ���+�
�� ������������ 
� ��+����� >�� .? ��
 �+�
 ��= ��� ���5+�� ����
�	��)�������� (� ����
+���� �+������ �� ���� ��+����� 	������� 
� �����8� �� ��
��� �������� 	�� 
�� ������� ������� � 
� 	�������� �� +�� �+��� ���	������
����
�+������ �� 
� ��
+���� ��������= ���+
����� �� +�� ��,+��� ���+��� � ���
+� ��,+��������� �� ������� ��
���������� 	�,+�B�= ������ � ,+� �� �����
�
������� ��
������ 
�� ��
���� �� 
� �
�+�� 	��� +� �9���� ����������� ��
	��������� 3���4����
��= ���� 	�� 
� ��������4����� �� 
� �+	��2��� 
���� >��?�
(�� ��
���� �� 
� �
�+�� �� �+	��2��� 
���� 	��� ���� +�� �� ����� 	+���� ��

� �+	��2��� 
���� ��
�+
���� 	�� ����� �� 
� ��+����� �����$���� >�� .? ���$�
	������������� ������+����� �)	
<��������� � ������ ��
 	����� ������� −g∇Hη
�� 
� �����3� �� 
� ��+����� >�� 6?�

��) *��
������ 
 �����	��

�
 ������� �� ��+������� ,+� 5������� 
� ���$���� ��
 ������ ,+� ����
����������� �� 	+��� 	
������ �����$��������� �� +� ������� �������������

Ω = {(x, y, z) ∈ R

3/(x, y) ∈ S,−H(x, y) < z < 0}= 
������� �+	���������� 	��
+� ���8+��� 	�
�5���
= ������� � ������� S ⊂ R

2 
� �+	��2��� 
���� � ���������
����� 	�� +�� �+����� �� ��5����� H : S → R 
� ��������<� >	���+������ ��

�����?= ����


∂tu + (u · ∇)u + k × u + ∇q

− ∂x(νH∂xu) − ∂y(νH∂yu) − ∂z(νV ∂zu) =

− g∇Hη − g∇H

[∫ η

z

(ρ − ρ0)/ρ0dς

]
��Ω × (0, T ) >��"0�?

∇ · u = 0 ��Ω × (0, T ) >��"0�?

∂tη + u∂xη + v∂yη = w ��S × (0, T ) >��"0�?

������ T +� ����	� 2��
 �����

�/



+���
��� �, ���������� 
� ��������

�
 	���
��� �,+< ����������� �������� �� 3�

�� 	��� ���� �������� ��
����	� t ∈ (0, T )= �
 ���	� �� ��
�������� u(x, y, z, t) = (u, v, w) � 
� 	������
���3������$���� q(x, y, z, t) ��
 C+��� �� ���� 	+��� (x, y, z) ∈ Ω= ��< ���� ����
���� 
� �
�+�� �� 
� �+	��2��� 
���� η(x, y, t) �� ���� 	+��� (x, y) ∈ S= ,+� ����
��
+���� ��
 ������� �� ��+������� ���� 	�� 
�� ��+������� >��"0?� &� ���������
�,+< +� ����
� �� ��	� ���5������� �� ����������= 	�� 
� �+�
 
� �������+����
�� 
�� ���������� ρ �� �+	��� �������� �� ���� 	+��� ��
 ��	���� (x, y, z) � ��
���� �������� �� ����	� t� �
 	���
��� 	
������� �� >��"0? �� 	+��� �������� ��
���	������� ����


∂tu + u∂xu + v∂yu + w∂zu − fv + bw + ∂xq − ∂x(νH∂xu) >��"��?

− ∂y(νH∂yu) − ∂z(νV ∂zu) = −g∂xη − g∂x

[∫ η

z

(ρ − ρ0)/ρ0 dς

]

∂tv + u∂xv + v∂yv + w∂zv + fu + ∂yq − ∂x(νH∂xv) >��"��?

− ∂y(νH∂yv) − ∂z(νV ∂zv) = −g∂yη − g∂y

[∫ η

z

(ρ − ρ0)/ρ0 dς

]

∂tw + u∂xw + v∂yw + w∂zw − bu + ∂zq − ∂x(νH∂xw) >��"��?

− ∂y(νH∂yw) − ∂z(νV ∂zw)

∂xu + ∂yv + ∂zw = 0 >��"��?

∂tη + u∂xη + v∂yη = w >��"��?

��+ ����������� �� �������� � �����
���

�
 ������� �� ��+������� �� ��������� 	�����
�� >��"0? ���� ���	
�����
����� ��� ����������� �� �������� � ������
�� ����+���� 	��� ��������� +� 	���
�
��� �� ��
���� ������
�� � �� �������� ,+� ����+4��� � +�� ��
+���� 9����
>	���
��� ���� 	
�������?� #��� �

� �� �������� 	��������� 9��������� ������
������ �� �������� ����� 
� �����
 � 
�� ��� ���	������� ���5����� �
 ��������
�� ��
������ � �������� ����� ����������� �����= ��C�8�� 
�� 	�����	�
�� �������
��� �<����� ,+� ������� �
 C+8� � ������ �� 
� �������� ��
 ������� Ω= 	��� �

�
�� 	��������� ���������� �<����� ��
������� ����� ����� 
�� ��������� ��
 �������
�������������
 ���
+����� �
 ����� � 
� �+	��2��� 
����� (� �������� ��
 �����
��� Γ = ∂Ω �� ��+�� ,+� ���$ +�� �+	��2��� ������� � �+2����������� ��5+
��
>(�	��3��4 ����<�+�? � ,+� 	+��� ������	������ �� ∂Ω = Γs ∪ Γb ∪ Γl= ������


Γs = S × 0 >&+	��2���?
Γb = {(x, y, z) ∈ R

3/(x, y) ∈ S,−H(x, y) = z} >-����?
Γl = {(x, y, z) ∈ R

3/(x, y) ∈ ∂S,−H(x, y) ≤ z ≤ 0} >-������� 
�����
?

(�� ����������� �� �������� 	��� 
�� ��+������� �� ���������� 	+����
��� �)	������� �� 
� ��5+����� ������


�� �
 ����� ��
 ������� Γb �� ��������� ,+� �
 C+8� �� ���� ,+� ���������
�
 ����� �� �+
� � �� �� ������ �� �+����� ������� �� 
� 	��������� #�� 
� �+�
 ��
��	
�� 
� ��5+����� ��������� �� �������� �����$���� 	��� �
 ����� ��	������
�


w + u∂xH + v∂yH = 0 �� Γb >��"�?

�&



�,", +��
������� 
� ���
���� � ���������

��< ����� �� ��������� ,+� 
� �������� ��� �
 ����� ������ � 
� �+5������ ��

����� �� +�� �+����� 
����
 �� 
� ��
������ 3���4����



νHnx(∂xu, ∂xv) + νHny(∂yu, ∂yv) + νV nz(∂zu, ∂zv) =
(τx

b , τy
b ) := Cb(u, v) �� Γb >��" ?

������ n = (nx, ny, nz) +� ������ +������� �����
 �
 �������� Γb 3���� �
 �)���
����= Cb �� �
 ���2������ �� �3�4� �� �+����� �� 
� �+5������ ��
 ����� � �+��
��
�� �� ����	�� 	�������= τx

b , τy
b ��� 
�� ���	������� 3���4����
�� �� 
� ��������

��� ������
�� 
� �+	��2��� 
���� Γs �� ��������� 
� �������� 3���4����
 ������ �
 ������

	������������ 
�� ��������� ���5�����
�� �� 
� ��5+����� ������


νV (∂zu, ∂zv) = (τx
s , τy

s ) := ρa/ρ0Cs(U2
10 + V 2

10)
1/2(U10, V10) �� Γs >��""?

����� τx
s , τy

s ��� 
�� ���	������� 3���4����
�� �� 
� �������� �� ������= ρa ��

� �������� ��
 ���� >1, 3 kg/m3?= Cs �� +� ���2������ �����������
 �� ��������
��
 ������ ,+� ��	���� �� 
� �+5������ ��������� � �� 
� ��
������ ��
 ������
�� ���������� � (U10, V10) �� 
� ��
������ 3���4����
 ��
 ������ � +�� �
�+�� ��
���������� �� 10 m ����� �
 ����
 ��
 ���� ����$�= �� ��	��� +�� ��������� ��
������� �����
 �+
� ����� 
� �+	��2��� Γs�

νV ∂zw = 0 �� Γs >��"%?

-���
�����= �� ��+���� � 
�� ���������� ����������� �<����� ��
 	���
���=
�� 	+���� �	
���� ���������� ����������� �� �������� ����� 
�� ��������� 
�����
��
,+� �� �� ����������� ����� �

��= �� 	+���� �)	����� ���� Γl = Γin∪Γwall∪Γout�
����� ��������� �� ������	����� ��� ��������� ��� C+8�� �� �������


u = uin �� Γin >��"1?

����� uin �� +� ��
�� 	�������� >
� ��
������ �� �������?�
��������� �� 	���� ��
���
 &� ��	���2�� 
� ��������� �� ��	�������
����

��	������� ,+� 
� ��
������ �����
 � 
� 	���� ��� �+
� �9� �+���� �
 C+��� ��
	���$ ���
�4�� ��� ������� ���5�����
 ����� 
� 	�����

nxu + nyv = 0 �� Γwall >��"'?

����� (nx, ny) ��� 
� ���	������� 3���4����
�� �� 
� �����
 �
 ���������
��������� ��� C+8�� �� ��
���


νHnx∂xu + νHny∂yu = 0 �� Γout >��"6?

(�� ����������� ������
�� 	��� 
�� 	���
���� ������������ 	������� ���5���
	��� +� �������� t = 0 � 	��� ���� �
 ������� Ω +� ���	� �� ��
�������� ��

,+�


u(x, y, z, 0) = u0(x, y, z), ∀(x, y, z) ∈ Ω >��".�?

����� u0 �� +� ���	� �� ��
�������� ������
 �� �����5����� �+
�� �� 
� �����
������= �� 	+��� ��	���� +�� ��������� ������
 �� t = 0 	��� 
� �
�+�� ��
�+	��2��� 
���� η0= ����� 
� �+	��2��� S


η(x, y, 0) = η0(x, y), ∀(x, y) ∈ S >��".�?

�"



+���
��� �, ���������� 
� ��������

���� +�� ������+����� ��
 3��3� �� ,+� �� �	���4��� ��������� ���	��
��
�� �� 
� 	������ �� 
�� ��+������� �� 5������� >��"0?= �� �� �������� ��	����
����������� ������
�� 	��� 
� 	������ ��
 C+���� �+���� �� ��	��� +�� ������
���� �� ��	� �����3
�� ����� ���� �
 ��������= 
� 	������ ���� 	������� ��
� 	��
�+ 5�������� �� 
� ��+����� >��"0�?= 	�� 
� ����� ���$ ����������� 9���������
��
�� +�� ��������� ������� ����������� �� ���� ����= �� +�+�
 ��	���� 
� 	������
	������� � �
 ��
�� �� 
� 	������ �� +� 	+��� 	��� ��2��� 9��������� �
 ���	�
�� 	���������

���, ������
��
� �-���

(�� ������� ����������
��= � �� 	�����+
�� �
 @����� �� 
�� �
�������
-������ �������� �
 ,+� �� �	��)����$ �
 	���
��� ������+� ��2���� 	�� 
��
��+������� >��"0?= 
�� ����������� �� �������� >��"�?�>��"6? � 
�� �����������
������
�� >��".?= ���������� 
� ����� ����
 �� 
�� ��+������� ����������
�� � ���
��
���� �
 ��
� ������ �� ������+��� ���3� ����� ����
 � 	�� ���	
������ �� 
�
�)	�������= �� �+	����$ � 	����� �� �3��� ,+� Γl = Γin ��� uin = 0= �� �����
,+� �� ���� �
 �������� 
�����
 �� ��	����$ 9��������� 
� ��������� �����3
��
3���5����� �� ���� ����= 
� ��
������ u= 
� 	������ q ��
 C+��� � 
� �
�+�� ��
�+	��2��� 
���� η= 
�� �+�
�� ��� 
� ��
+���� ����
 �� >��"0?= 	��������� ���	�����
������� � 
�� ��	����� �+������
�� ��5+������ 


V :=
{
ũ = (ũ, ṽ, w̃) ∈ H1(Ω) / ũ = 0 �� Γin, w̃ + ũ∂xH + ṽ∂yH = 0 �� Γb

}
Q := L2(Ω)

M := H1(S)

(� ����� ����
 �� 
� ��+����� �� ���������� >��"0�? �� ������� �+
���
	
������ ���3� ��+����� 	�� +�� �+����� �� 	��� >����? ũ = (ũ, ṽ, w̃) ∈ V = �
����5����� �� �
 ������� Ω� �
 ����5��� 	�� 	����� 
�� �������� ���+����� ���
������ 
� ����+
� �� D����� 	��� ��8�� �
 5���� �� 
�� ��������� � ������+�� ��<

� ��5+
������ �� 
�� �+������� �� �����= �	������ ������� ����5��
�� ����� �

��������� &� �� ����� ����5��
�� �� ������+��� 
�� ����������� �� �������� >��" ?=
>��""? � >��"%?= �� �������� 
�� ��5+������ ��+�������


∫
Ω

∂tu ũ dΩ +
∫

Ω

(u · ∇)u ũ dΩ +
∫

Ω

(k × u) ũ dΩ +
∫

Ω

∇q ũ dΩ

+
∫

Ω

(νH∂xu∂xũ + νH∂yu∂yũ + νV ∂zu∂zũ) dΩ =

− g

∫
Ω

∇Hη ũ dΩ − g

∫
Ω

∇H

[∫ η

z

(ρ − ρ0)/ρ0 dς

]
ũ dΩ

+
∫

Γs

(τx
s ũ + τy

s ṽ) dΓs +
∫

Γb

(τx
b ũ + τy

b ṽ) dΓb +
∫

Γb

nν · ∇ww̃ dΓb

>��%0�?

����� (τx
b , τy

b ) 	�� >��" ? � (τx
s , τy

s ) ���$ ���� 	�� >��""? � 
� �������� +��
�4���
�� nν = (νHnx, νHny, νV nz)�

�
∫∫∫

Ω
φ∂xϕ dxdydz = − ∫∫∫

Ω
∂xφϕdxdydz +

∫
Γ

nxφϕdΓ

�*



�,�*, 0���������� 
����

(� ����� ����
 �� 
� ��+����� �� ������+���� >��"0�?= 	�� ���� 	����= ��
������� �+
��	
��$���
� 	�� +�� �+����� �� ���� ����
�� q̃ ∈ Q � ����5����� ��
Ω= ����� 
+5�� �
 ∫

Ω

(∇ · u) q̃ dΩ = 0 >��%0�?

(� ����� ����
 �� 
� ��+����� �� �+	��2��� 
���� >��"0�?= �� ������� 	���
+�� �+����� �� ���� ���������� μ̃ ∈ M = ����
∫

Γs

∂tη μ̃ dΓs +
∫

Γs

u∂xη μ̃ dΓs +
∫

Γs

v∂yη μ̃ dΓs =
∫

Γs

w μ̃ dΓs >��%0�?

����������� �� ���	������� 
� ����� ����
 �� 
�� ��+������� >��%0�?=
>��%0�? � >��%0�? �� 	+���� �������� �������� ����
∫

Ω

∂tu ũ dΩ +
∫

Ω

(u∂xu + v∂yu + w∂zu) ũ dΩ +
∫

Ω

(bw − fv) ũ dΩ

+
∫

Ω

∂xq ũ dΩ +
∫

Ω

(νH∂xu ∂xũ + νH∂yu ∂yũ + νV ∂zu ∂zũ) dΩ

= −g

∫
Ω

∂xη ũ dΩ − g

∫
Ω

∂x

[∫ η

z

(ρ − ρ0)/ρ0 dς

]
ũ dΩ

+
∫

Γs

τx
s ũ dΓs +

∫
Γb

τx
b ũ dΓb

>��%��?

∫
Ω

∂tv ṽ dΩ +
∫

Ω

(u∂xv + v∂yv + w∂zv) ṽ dΩ +
∫

Ω

fu ṽ dΩ

+
∫

Ω

∂yq ṽ dΩ +
∫

Ω

(νH∂xv ∂xṽ + νH∂yv ∂y ṽ + νV ∂zv ∂z ṽ) dΩ

= −g

∫
Ω

∂yη ṽ dΩ − g

∫
Ω

∂y

[∫ η

z

(ρ − ρ0)/ρ0 dς

]
ṽ dΩ

+
∫

Γs

τy
s ṽ dΓs +

∫
Γb

τy
b ṽ dΓb

>��%��?

∫
Ω

∂tw w̃ dΩ +
∫

Ω

(u∂xw + v∂yw + w∂zw) w̃ dΩ −
∫

Ω

bu w̃ dΩ

+
∫

Ω

∂zq w̃ dΩ +
∫

Ω

(νH∂xw ∂xw̃ + νH∂yw ∂yw̃ + νV ∂zw ∂zw̃) dΩ

=
∫

Γb

(nx νH ∂xw + ny νH ∂yw + nz νV ∂zw) w̃ dΓb

>��%��?

∫
Ω

∂xu q̃ dΩ +
∫

Ω

∂yv q̃ dΩ +
∫

Ω

∂zw q̃ dΩ = 0 >��%��?

∫
Γs

∂tη μ̃ dΓs +
∫

Γs

u∂xη μ̃ dΓs +
∫

Γs

v∂yη μ̃ dΓs =
∫

Γs

w μ̃ dΓs >��%��?

��
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�
 ������� �� ��+������� >��%�? ��	������� +� 	���
��� �� ���
+���� ��
�
 ����	�= �+�� �	��)������� ��,+���� +� ��,+��� ����+��� �� ����5������
���	���
� �� �
 +�� �� ����
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�4� +�� ����
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����� ��	
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� 	��	��
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	��� �� ����	� ���$ 	�� �����5+����� ��
�������� � 
� �$)��� 	���+������ ��
�
 ����
�� �� 
� �������
= ��� �����5�= ���$ ��
�������� ��� 
� ���+���� ��
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<�
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�
�������� ��� ����� �� �5+�� ������� � ��,+���� �
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+������ ��	
<�����=
	�����+
������� �� ����
�� ,+� +��
���� +�� �	��)������� �+������
 �� 
� ����
����
 >������ � �
����5�= �.. ?� ������� 	+���� �	������ 	���
���� �+����
�
 	��� �� ����	� �)���� �
 ����	� �� �����	���� ��
 ���������� >
� ��
������
�$)��� �� 
� ���������?� #��� ����������� �����
<�����= ��� �����5� 
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����� �� 	��	�5����� �� 
�� ����� �������� �� ��5��2����������� �$� 
���� ,+�
�� 
�� ����� 
����� �� 5������� �+	��2���
��� &� ���� �����8� �� ���� 3��3�
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 �$
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� �� 
�� ����� �������	���� � �����
<����� ��������
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 �����
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�

(�� ��,+���� �� ����5������ ���	���
 +��
�4���� 	�� 
�� ����
�� ���<��
��	
������� �� ��+���� � +�� �������� ��
 ������ ��
 ����= ���� 
� ���+���
���� ������� 
�� ���������� ���
�4���� 	�� 
�� ����� �+����� ���� J���� >�00�?
� D��V�� �� ��� >�000?� �
5+��� ����
�� ���$� ��������� ��� 
�� ����
�� ���$��
�����= 	�� �8��	
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 #F@ >*
+����5 � @�

��= �.6'? ,+� +��
�4� +� ��,+���
���������� ��� 
� 	�����
���� ��
 ���� �� ��������������� >��������	��?� �
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C+8� �������	��� � �����
<���� � +��
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� � �������= �.."G *
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�� ��+������� ��
���������� >��%��?�>��%��?= � �� ������� �� ������� +� ���	� 	���������
 ��
��
��������� �� �
 ��5+��� 	��� �� �����5� �
 ���	� 	���������
 �� ��
��������
���
+����� 
�� �������� ��
 5�������� �� 
� 	������ ���3������$����= 
�� �+�
�� ��
��
�+
�� �� ��
 ������ ,+� �� �
 ���	� �� ��
�������� ���+
����� �� �������� 
�
����= �� ����� ����� 
���
 ���� 5
���
= +��
�4���� 
� ��������� �� �����5�����

�$



�,�, 	�
�������� 
�������

�+
�� �+�,+� ���� ������	������� 	������ ��
�+
�� 
� ���������� �� 
� 	������
���3������$���� � 	����� �� 
�� ��
�������� ���+������ �
 ����� ���	+�������
=
������+�� +� ����� ������ � ���� ������	������� �� 
� 	������� �� ��������=
	��� ���5+��� �+ ������5�����= ����� 
�� ������� �� 	��� ����������� ����

�� ������� ��)��� ��������� �	��)��������� �����
�� �� 
� ��
�������	������
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��������� � ����� �������= �� ����������$ �,+<
+�� �	��)������� ����
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 ������ ��	
<���� �� �+
�� 3���� ���$�
	��� 
� ����5������ ���	���
 �� 
�� ��+������� >��%�?= �� �
 �+�
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���� ���+
�$�������� >+� ������ �� 	���� �� ����	� �����

<���� ����
�� �+� +��
�4��� �� (���+� � #����4�; >�00%??� �� �������� �
 ������
+��
�4���= 
� �
�+�� �� �+	��2��� 
���� �� ������� �)	
<��������� �� 
�� ��+�����
��� >��%��? � >��%��?= �� ������ ��
 �� ������ ,+� 
�� ����������� ��
 ������� ��
��+������� �� ����� �������� ���+
����� �� �� ���������� ��5��2������������ (�
�
�+�� �� 
� �+	��2��� 
���� �� ���+�
�4��� �
 2��
 ��
 	��� �� ����	� +��
�4���� �

�+��� ���	� �� ��
�������� ������ ��
�+
���= ����5����� >��%��? ��	
<���������
+�� ��4 �$� �������� �
 ������ �� �+
�� 3���� ���$�G +� ����������� ����
��
	��� 
� �
�+�� �� �+	��2��� 
���� �� ��	
�� �� >��	���� �� ���= �001?� �
 ����� ��

�� �������� �� 
�� ���	������� �� 
� ��+����� �� ���������� >��%��?�>��%��?
��� �������� ��	
<��������� �)��	�� �
 ������� ���������� >�� 
����
?= �
 �+�
 ��

����
�4��� +����� �
 ��
�� �� 
� ��
������ �� �
 	��� �� ����	� �������� ����
��
������ ����������G ���� �� +�� ���	
� �	��)������� �� 	����� �����= 
� �+�

�� ������������
����� �����
� � �� 	����� ����� �� 	�������� �� �
 ����B� ��

	��� �� ����	�= 
� �+�
 �� ����������� ��� 
� 	�������� ��
 ������� ����$�=
������ �
 ���$���� ���5������� ��
 ����
� �������

��� �,+<= �� �+	��� ��������
�
 ��
�� �� 
� �������� �� ���� �������� �� ����	� � 	��� ���� ���� �� 
� ��

��

�� ���� ������= ���� +� 	��� �� ����	� Δt > 0 � ��+������ ��������
+�� �	��)������� un �� 
� ��
������ � +�� �	��)������� ηn �� 
� �+	��2���

���� �� �
 ����	� tn = nΔt >����� n ∈ {0, . . . , N}= N = [T/Δt]= ������ T �

����	� 2��
 �� ���+
�����?= �� �������� +�� �+��� ��
������ un+1 � 	������
pn+1 �� tn+1 � 	����� �� 
�� ��5+������ ��+�������


(un+1 − un)/Δt + (un · ∇)un+1 + k × un+1 + ∇qn+1 >����?

− ∂x(νn+1
H ∂xun+1) − ∂y(νn+1

H ∂yun+1) − ∂z(νn+1
V ∂zun+1) =

− g∇Hηn − g∇H

[∫ η

z

(ρn+1 − ρ0)/ρ0dς

]
��Ω

∇ · un+1 = 0 ��Ω. >����?

������ ,+� �
 ������� ���������� �� 3� 
����
�4���= ������� ���� ��
������
���������� �
 ��
�� �� �
 	��� �� ����	� ��������� ��� 
� ��
������ un+1 �
	������ pn+1 ��
�+
���� ������������� �� ������� +�� �+��� �	��)������� ηn+1

�� 
� �
�+�� �� �+	��2��� 
���� �
 2��
 ��
 	��� �� ����	� tn+1= � 	����� ��


(ηn+1 − ηn)/Δt + un+1∂xηn+1 + vn+1∂yηn+1 = wn+1 ��Γs. >����?

(� ����� ����
 ��
 	���
��� ������������� >����?�>����? �������� �� ���
������� un+1 = (un+1, vn+1, wn+1) ∈ V = qn+1 ∈ Q � ηn+1 ∈ M ��
 ,+�= 	���
����� 
�� �+������� �� ���� ũ = (ũ, ṽ, w̃) ∈ V = q̃ ∈ Q � μ̃ ∈ M 
∫

Ω

1
Δt

(un+1 − un) ũ dΩ +
∫

Ω

(un · ∇)un+1 ũ dΩ >����?

�'



+���
��� �, ������������ ��������

+
∫

Ω

(k × un+1) ũ dΩ +
∫

Ω

∇qn+1 ũ dΩ

+
∫

Ω

(νn+1
H ∂xun+1∂xũ + νn+1

H ∂yun+1∂yũ + νn+1
V ∂zun+1∂zũ) dΩ =

− g

∫
Ω

∇Hηn ũ dΩ − g

∫
Ω

∇H

[∫ η

z

(ρn − ρ0)/ρ0 dς

]
ũ dΩ

+
∫

Γs

(τx
s ũ + τy

s ṽ) dΓs +
∫

Γb

(τx
b un+1ũ + τy

b vn+1ṽ) dΓb

+
∫

Γb

nν · ∇wn+1w̃ dΓb∫
Ω

(∇ · un+1) q̃ dΩ = 0 >����?∫
Γs

1
Δt

(ηn+1 − ηn) μ̃ dΓs +
∫

Γs

un+1∂xηn+1 μ̃ dΓs+ >����?

∫
Γs

vn+1∂yηn+1 μ̃ dΓs =
∫

Γs

wn+1 μ̃ dΓs

��� /�������%
��
� ���
��
�

�
 	���
��� ������������� >����?�>����? ���� �	��)������ �� �
 ��	����
�������� �
59� ������ �+������ ����+���� (� 5��� �����<� �� 
�� ����
��
3�������$����� ���3������$����� �)�������� ��	
��� �
 ������ �� 
�� �����������
2����� 	��� 
� �	��)������� ��	����
 >��� �� ��� ���+

� � I���

�= �00�G L�Z�
��5�� �� ���= �00�G (�� � (�= �00�G &��

��5 � I�8
���= �00 ?� �
 �0&���� �� ���
/��$�	��� 1�	����� >@�-? ��� �����5�= 3� ���� ����� +��
�4��� � 	���� �� ,+�
-�) >�.'%?= ����� 
�� 	������� ����	�� �� 
� ����
�4����� ���$���� 3� ������
����� ,+� ����� 	��	������� �+� ����������� ���3�� 	��	������� ���� ��� 
�
�� ������������ �� 
� ����5<�= ���9� � ����� 
�� ������� ����������
�� 	��� 
�
����
+���� �� ��+������� ����������
��= �
 ����������� ���+��
 �� 
�� �����������
�� �������� � 
� C�)���
���� �� 
� �����5+
����� � 
� 3��� �� +��
�4�� ��

�� ��
����+��+�����= �� ���	
��������� �+� ���� ��� 
� �	������� � ����� ���	������

���� �� 
�� �+	�������������� �������� ���� �� �+���� (� #������ �� ��� >�.'6?
�+5���� �
 @�- ���� +�� ����������� �
��������� �
 ������ �� 
�� �����������
2����� >@�-?= �$� ��	
������� +��
�4��� 3���� ���������

(�� 5������ �����8�� ,+� �+	���= 
� ����
���� �� �
 +�� �� ��

��
�������+��+�����= ����$� �� 
�� �+���� 	��	������� �� �	��)������� � 
� ��
+�
���� ,+� 	���� �
 @�-= ����������� 	�� >����
�� �� ���= �00"? � ���
�4���� 	��
#��� �� ��� >�00%?= ��C+�� �� 
� �
������ ��
 @�- ���� ������ �� ��������4��
���� ��	����
� (� +��
�4����� �� ��

�� �������+��+����� �� 3��� �����	�����
� �

� 3��� �� ������� ��

�� ���	+�������
����� ���,+��
�� � ,+� 	������� � �+
��4 +�� ��	����������� 	������ �� 
� 5��� �������� �� ����
�� � �
������� ����
	
�8� 5������<�= ������� � 
�� �+��
�� ��������<������ ��	�5�$2��� ,+� 	����� 
��
����� � �������� ���3�� ��������<������= ���� ��� 
� �)�������� �� ������3��=
��
+��� �����	���� � 
� 	�������� �� ��
��= ����= ��2�+
��� �
 ��	
�� �� ��

��
�� ����������� 2����� ��� +�� ���,+��
� ����
+���� ��	����
 3���5�����

&� ����������$� �,+<= 	�� 
� �����= �
������� 2����� �������������
�� 	���

�-



�,�, 6�����
�5����� ��������

-�5+�� ���
 �
������� 2����� +��
�4���� �� 
� ��������4����� ��	����
  �= ������
����� >" �����?= 3�)������ >6 �����? � 	������ �����5+
���� >1 �����?�


� ��������4����� ��	����
 ��
 ������� Ω >��� 25+�� ���?= 3������� ,+� Ωh ��� +��
	�������� ��
 ������� Ω= �� ����B� h > 0= 5�����
����� �� �
������� �� ��	�
������������ � 3�)�������� 	��� 	���
���� ��� �+	��2��� 
���� �� ��	� �����������
�= �� 
�� ����� �� ,+� �� +��
���� 
�� �������� �������	���� � �����
<�����= �� �
��
������ 	����$����� �� ���� �����5+
��� �� ����� ����� 
� ��������4����� ��	����

��
 ������� Ω �� ���
�4� � 	����� �� +�� ��

� ������������
 �� ����+��+����
Σh �� 
� �+	��2��� Γs �������+��� 	�� �
������� �����5+
���� ,+� �� 	��������
�������
����� ����� �
 ����� �������� ��
+���� >��� 25+�� ���?� ����� ��
+��
��� � �+ ��4 �� ������	���� �� +� �9���� ���������� �� �
������� 	����$�����=
5�������� ��< +�� ��

� �������������
 �� 
� �+�
 
� �������� �� �
������� 	��
��
+���� �� �������� ��� 
� ����� 	��� ���� 
� ��

�� (�� ����� 
�����
�� ��

�� �
������� 	����$����� 5�������� ��� 	������������ �������
�� �������� ,+�
�+� ����� �+	����� � �������� �� ��� �������������� 3���4����
��� ���� ��	� ��
��

� 	���� +�� 5��� C�)���
���� � 
� 3��� �� �8+���� 
� ��

� � 
� ���	
�8�
5������<� �� 
� 
<��� �� ����� � �� 
� ��������<�� ��+����� ����$� ,+� �����

�� �
������� K ∈ Ωh ��� ���5�� �� +� �
������ �� ���������� K̂ ��������
���������������� FK : K̂ → K �2��� 	��� ���������� � ���	����������� 	���
3�)������ � 	������� �� �
 ���� �� �
������� 	����$����� �� ���� �����5+
��=
���� �
������ K ∈ Ωh �� 
� ���5�� ��
 	����� �� ���������� K̂ := T̂ × [−1, 1]
����� T̂ �� �
 ���	
�)� �� �������� (0, 0)= (1, 0) � (0, 1) �� R

2= 	�� +�� ���������
������ FK = 
� �+�
 �� +� 	���+��� ��������
 �� +� 	�
������ �� 	����� 5����
�� (x̂, ŷ) � +� 	�
������ �� 	����� 5���� �� ẑ


FK : K̂ → K ��� FK ∈ R1 := P1 ((x̂, ŷ)) ⊗ P1(ẑ)

(�� ����5����� ��
 	���
���= ��
������ u= 	������ q � �
�+�� �� �+	��2���

���� η �� �	��)���� 	�� �+������� �� �
������� 2����� ,+� ��� ������+�� ��
Ω � 	�
������
�� ������ �� ���� �
������ K �+���� ��� �)	������� �� 
��
������
�� �� ���������� (x̂, ŷ, ẑ)� &� 	������� ��	����
 �������� � 
�� ����� ��
�5+�
 �����	�
����� 	��� 
� ��
������ � 
� 	������= �� �
 �+�
 ����� ������
��

�%�����< �� �
 ��
�����
 ���
�<
 	� �� �������� 	� (n + 1) ������ ��	����	������ 
����
�� �� ���
��� �����	�
�� 	� 	�������� n � �
8���

�/
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-�5+�� ���
 ��
+���� �� �
������� 	����$����� �� ����� ���	
���� � 5��������
� 	����� �� 
� ��

� �� ���$�5+
�� �������+��+���� �� 
� �+	��2����

�� �	��)���� 	�� �����	�
����� �� 
�� ����� �� 
� ����� ��

� �������������

�������� 	�
������� ��
 ����� 5����G 
� �
�+�� �� �+	��2��� 
���� ��� �����5�
�� �	��)����� �������� 	�
������� 
����
�� ����� 
� ��

� ������������
 ��
���$�5+
�� Σh �� 
� �+	��2��� Γs� (�� ��	����� �� 
�� �+������� �� �
�������
2����� 	��� 
� �	��)������� �� 
� ��
������= 
� 	������ � 
� �
�+�� �� �+	��2���

���� ��� ���	�����������


Vh :=
{
ũh ∈ V /∀K ∈ Ωh, ũh|K = ûK ◦ F−1

K , ûK ∈ (R1)
3
}

Qh :=
{
q̃h ∈ C0 (Ω) /∀K ∈ Ωh, q̃h|K = q̂K ◦ F−1

K , q̂K ∈ R1

}
Mh :=

{
μ̃h ∈ C0 (Γs) /∀T ∈ Σh, μ̃h|T = μ̂K ◦ F−1

T , μ̂K ∈ S1

}
����� FT : T̂ → T ������ 
� �������������� 
����
 �� T̂ �� T � �� ����� �)	���
������= ������� �� ��	
�� 
� ��5+����� ��������


S1 := P1 ((x̂, ŷ)) .

(� �	��)������� �� D�
��;�� ���$���� �
 	���
��� >���? �������� �
 @�-
�������� �� 3�

�� un+1

h = (un+1
h , vn+1

h , wn+1
h ) ∈ Vh= qn+1

h ∈ Qh � ηn+1
h ∈ Mh

��
 ,+�= 	��� ����� 
�� �+������� �� 	��� ũh = (ũh, ṽh, w̃h) ∈ Vh= q̃h ∈ Qh �
μ̃h ∈ Mh
∫

Ω

1
Δt

(un+1
h − un

h) ũh dΩ +
∫

Ω

(un
h · ∇)un+1

h ũh dΩ >�� �?

+
∫

Ω

(k × un+1
h ) ũh dΩ +

∫
Ω

∇qn+1
h ũh dΩ

+
∫

Ω

(νn+1
H ∂xun+1

h ∂xũh + νn+1
H ∂yun+1

h ∂yũh + νn+1
V ∂zun+1

h ∂zũh) dΩ =

− g

∫
Ω

∇Hηn
h ũh dΩ − g

∫
Ω

∇H

[∫ η

z

(ρn
h − ρ0)/ρ0 dς

]
ũh dΩ

�&
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+
∫

Γs

(τx
s ũh + τy

s ṽh) dΓs +
∫

Γb

(τx
b un+1

h ũh + τy
b vn+1

h ṽh) dΓb

+
∫

Γb

nν · ∇wn+1
h w̃h dΓb∫

Ω

(∇ · un+1
h ) q̃h dΩ = 0 >�� �?∫

Γs

1
Δt

(ηn+1
h − ηn

h ) μ̃h dΓs +
∫

Γs

un+1
h ∂xηn+1

h μ̃h dΓs >�� �?

+
∫

Γs

vn+1
h ∂yηn+1

h μ̃h dΓs =
∫

Γs

wn+1
h μ̃h dΓs

�
 ����������� ��
 ������� �������	��� >�+	��2��� 
����? �� �
 
��� ���
���3� �� 
� ��+����� >�� �? ��,+���� ��	����
 �+������ ���� ������� ����
+���
����5��
�� �� ��
+��� �� 	���+���� �� 
�� ��������� �� 
�� �+������� �� �����
������������
�� >�+	��2���? � 
�� �+������� �� 	��� �������������
�� >��
+���?�
�
 �$
�+
� �� ����� ����5��
�� �� ���
�4� �� ����� �
������
= ���� �� +�+�
 �� �

������ �� 
�� �
������� 2�����= ���� �� ������
� 5������ � ,+� 
�� �
������� ��
������� � �
������� �� ��
+���� �������
���

���� �� ��8� ������������� �� 
� ������� ��'= ���	���� � 
� ��+����� ���
���$���� >�� .?= ���� �� ��
�+
� 	��� 
�� ����� �� 
� �+	��2��� 
���� Γs= 	��

� ,+� 
�� ������
�� ηn+1

h = ūn+1
h = v̄n+1

h � w̄n+1
h �� 
� ��+����� >�� �? �� ��2����

9��������� � 
�� ����� �� 
� ��

� +������� ����� ���3� �+	��2����

��� *��
����%
��
� �� �
 0����
�

(� ����
+���� �+������ ��
 	���
��� �������� >�� ? 	������� �+�������
��2�+
�����= 	+��� ��� 
+5�� � ���������� ��	�� �� ��������
���� �� 
� ��
+����
�+������� �� 	����� 
+5��= 
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���� �� C+8� �����	�����
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����� �� ����������� 
� 	��������� ��
 5�������� �� 
� 	������ rn+1= ��2����
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Rh :=
{

s̃h ∈ (C0(Ω))3/∀K ∈ Ωh, s̃h|K = ŝK ◦ F−1
K , ŝK ∈ (R1)

3
}

&� ��2�� �������� 
� �+��� ��+����� ������+���� ���� 
� 	��������� ���
��5���
 rn+1

h = (rn+1
1 , rn+1

2 , rn+1
3 ) �� L2(Ω) ��
 5�������� �� 
� 	������ ��������

∇qn+1
h = 	�������� � ����
 �� ���� �
������ K 	�� +� 	��$�����

√
αK = ����� �


��	���� �� �+������� �� �	��)������� s̃h �� 
� ����� L2(Ω) � 	+��� ��� �������
�� 
� ��5+����� ������
∫

Ω

rn+1
h s̃h dΩ −

∑
K∈Ωh

∫
K

√
αK ∇qn+1

h s̃h dΩ = 0 >��"�?

�����


� rn+1
 �� 
� 	��������� ��
 5�������� 	�������� �� 
� 	������ ��������
∇qn+1�

� αK 
 �� +� 	��$����� �� ������
�4����� �
������
�

�

∫
K 
 �� 
� ����5��
 � ����
 �� ���� �
������ ��
 ������� Ω�

� K
 ��� 
�� �
������� �� 
� ��

��

#�� ���� 	����= 
� ��+����� �� ������+���� ����2���� �� 	+��� ��������
�� 
� ��5+����� ������ �� ����� ����



∫
Ω

(∇ · un+1
h ) q̃h dΩ +

∑
K∈Ωh

∫
K

αK ∇qn+1
h ∇q̃h dΩ

−
∑

K∈Ωh

∫
K

√
αK rn+1 ∇q̃h dΩ = 0 >��"�?

�*
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(�� ���2������� �� ������
�4����� αK �� ���������� �������� 
�� ����+�

�� 3����+�
�� �� ����� ������� �� ������
�4����� >-����� � H+53��= �.. ?G ��
�+����� ����= �� �+2������ ��
�+
��
�� �������� 
� �)	������ ��5+�����


αK =
(

c1
ν

h2
K

+ c2
VK

hK
+

1
Δt

)−1

, ∀K ∈ Ωh >��%?

�� 
� �+�
 hK �� �
 ����B� ��
 �
������ K= VK �� +�� ��
������ ��������<�����
�� K= � c1 � c2 ��� ���������� �+��� ��
���� ����+���� 	��� �
������� 
����
��
� ��
����
�� ��� c1 = 12 � c2 = 2 >-����� � H+53��= �.. ?�

��� ����
 �
�����
� �� �
� ���
������

� 
�� 2��� �� ������� 
� ����� ��������
 ��
 ������� �� ��+������� >�� �?=
>��"�?= >��"�? � >�� �?= �� �	��)���� 
�� ������
�� ��
 	���
��� um

h = vm
h = wm

h =
qm
h = ρm

h = rm
1,h= rm

2,h= rm
3,h � ηm

h >����� m 	+���� ��� �
 	��� �� ����	� n � n + 1
��59� ��� �
 ����?= �� 
� ��5+����� ������


um
h =

NpV ol∑
i=1

um
i Ni, vm

h =
NpV ol∑

i=1

vm
i Ni, wm

h =
NpV ol∑

i=1

wm
i Ni,

qm
h =

NpV ol∑
i=1

qm
i Ni, ρm

h =
NpV ol∑

i=1

ρm
i Ni, rm

1,h =
NpV ol∑

i=1

rm
1,iNi,

rm
2,h =

NpV ol∑
i=1

rm
2,iNi, rm

3,h =
NpV ol∑

i=1

rm
3,iNi, ηm

h =
NpSup∑

i=1

ηm
i N̄i,

������= Ni 
�� �+������� �� �����  � �� 
�� ����� ��
 ������� Ω= N̄i 
��
�+������� �� ����� �� �� 
�� ����� �� 
� �+	��2��� 
���� Γs= �������� ,+�
(um

i , vm
i , wm

i ) ��� 
�� ���	������� ����
�� �� 
� ��
������= qm
i 
�� 	��������

����
��= ρm
i 
�� ���������� ����
��= (rm

1,i, r
m
2,i, r

m
3,i) 
�� ���	������� ����
�� ��


� 	��������� ��
 5�������� �� 
� 	������= ηm
i 
�� �
�+��� ����
�� �� 
� �+	��2���


���� � NpV ol � NpSup �
 �9���� ����
 �� ����� �� �
 ������� Ω � �� 
� �+	��2���

���� Γs= ���	������������

&� �� �	
��� �
 ������ �� D�
��;�� ������� 
�� �+������� �� 	��� �5+��

�� � 
� �+����� �� �����= ��	
����� �
 ����� ����	� �5+�
 �����	�
����� 	���
����� 
�� ������
�� ��
 	���
��� �� ��+���� � 
�� 	�����
������ ��
 ������ ��
������� ,+� ũh = ṽh = w̃h = q̃h = s̃h = Ni � μh = N̄i� &� 	+���� ��������

�� ��+������� >�� �?= >��"�?= >��"�? � >�� �? �� ���	�������= ��� ��	���� �9�

�� ����������� �� �������� �� ��	� �����3
�� >��"�? � >��"1? ,+� �� ��	����$�
	������������� �������� �	��������� ��������
�� �
 ������
�� 
� �����4 ��
 ����
���� M��
�������	������N= +��
�4���� �
 �+��<����� i 	��� 
� �+����� �� �����= j
	��� 
� �+����� �� 	��� � 
� �������� �� ��������� �� 
� ��5+����� ������
∫

Ω

un+1
i (NiNj) dΩ + Δt

∫
Ω

un
k (Ni ∂xNk Nj) un+1

i dΩ

+ Δt

∫
Ω

vn
k (Ni ∂yNk Nj) un+1

i dΩ + Δt

∫
Ω

wn
k (Ni ∂zNk Nj) un+1

i dΩ

�9��
���� 	� C�������0 ,�� A�	���� ������	�� �� ��
 �<������� ��	��
� ���
 ����� ��	��
��� �������� 

����� 	�� A�	����

��
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+ Δt b

∫
Ω

wn+1
i (NiNj) dΩ − Δt f

∫
Ω

vn+1
i (NiNj) dΩ

+ Δt

∫
Ω

qn+1
i (∂xNi Nj) dΩ + Δt

∫
Ω

νn
H (∂xNj ∂xNi) un+1

i dΩ

+ Δt

∫
Ω

νn
H (∂yNj ∂yNi) un+1

i dΩ + Δt

∫
Ω

νn
V (∂zNj ∂zNi) un+1

i dΩ =

+
∫

Ω

un
i (NiNj) dΩ − Δt g

∫
Ω

ηn
i

(
∂xN̄i Nj

)
dΩ

− Δt g/ρ0

∫
Ω

(Nj)
[∫ η

z

ρn+1
i (∂xNi) dς

]
dΩ

+ Δt

∫
Γs

τx
s (Nj) dΓs + Δt

∫
Γb

Cb (NiNj) un+1
i dΓb >��1�?

∫
Ω

vn+1
i (NiNj) dΩ + Δt

∫
Ω

un
k (Ni ∂xNk Nj) vn+1

i dΩ

+ Δt

∫
Ω

vn
k (Ni ∂yNk Nj) vn+1

i dΩ + Δt

∫
Ω

wn
k (Ni ∂zNk Nj) vn+1

i dΩ

+ Δt f

∫
Ω

un+1
i (NiNj) dΩ + Δt

∫
Ω

qn+1
i (∂yNi Nj) dΩ

+ Δt

∫
Ω

νn
H (∂xNj ∂xNi) vn+1

i dΩ + Δt

∫
Ω

νn
H (∂yNj ∂yNi) vn+1

i dΩ

+ Δt

∫
Ω

νn
V (∂zNj ∂zNi) vn+1

i dΩ =

+
∫

Ω

vn
i (NiNj) dΩ − Δt g

∫
Ω

ηn
i

(
∂yN̄i Nj

)
dΩ

− Δt g/ρ0

∫
Ω

(Nj)
[∫ η

z

ρn+1
i (∂yNi) dς

]
dΩ

+ Δt

∫
Γs

τy
s (Nj) dΓs + Δt

∫
Γb

Cb (NiNj) vn+1
i dΓb >��1�?

∫
Ω

wn+1
i (NiNj) dΩ + Δt

∫
Ω

un
k (Ni ∂xNk Nj) wn+1

i dΩ

+ Δt

∫
Ω

vn
k (Ni ∂yNk Nj) wn+1

i dΩ + Δt

∫
Ω

wn
k (Ni ∂zNk Nj) wn+1

i dΩ

− Δt b

∫
Ω

un+1
i (NiNj) dΩ + Δt

∫
Ω

qn+1
i (∂zNi Nj) dΩ

+ Δt

∫
Ω

νn
H (∂xNj ∂xNi) wn+1

i dΩ + Δt

∫
Ω

νn
H (∂yNj ∂yNi) wn+1

i dΩ

+ Δt

∫
Ω

νn
V (∂zNj ∂zNi) wn+1

i dΩ =

+
∫

Ω

wn
i (NiNj) dΩ

+ Δt

∫
Γb

wn+1
i (nx νn

H ∂xNi + ny νn
H ∂yNi + nz νn

V ∂zNi) Nj dΓb >��1�?

��
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∫
Ω

un+1
i (∂xNi Nj) dΩ +

∫
Ω

vn+1
i (∂yNi Nj) dΩ +

∫
Ω

wn+1
i (∂zNi Nj) dΩ

+
∑

K∈Ωh

[
αK

∫
K

(
(∂xNi ∂xNj) + (∂yNi ∂yNj) + (∂zNi ∂zNj)

)
qn+1
i dΩ

]

−
∑

K∈Ωh

[√
αK

∫
K

(
rn+1
1,i (Ni ∂xNj) + rn+1

2,i (Ni ∂yNj) + rn+1
3,i (Ni ∂zNj)

)
dΩ

]
= 0

>��1�?

∫
Ω

rn+1
1,i (NiNj) dΩ =

∑
K∈Ωh

√
αK

∫
K

qn+1
i (∂xNi Nj) dΩ >��1�?

∫
Ω

rn+1
2,i (NiNj) dΩ =

∑
K∈Ωh

√
αK

∫
K

qn+1
i (∂yNi Nj) dΩ >��1�?

∫
Ω

rn+1
3,i (NiNj) dΩ =

∑
K∈Ωh

√
αK

∫
K

qn+1
i (∂zNi Nj) dΩ >��15?

∫
Γs

ηn+1
i

(
N̄iN̄j

)
dΓs

+ Δt

∫
Γs

un+1
i

(
Ni ∂xN̄k N̄j

)
ηn+1

k dΓs + Δt

∫
Γs

vn+1
i

(
Ni ∂yN̄k N̄j

)
ηn+1

k dΓs =

+ Δt

∫
Γs

wn+1
i

(
NiN̄j

)
dΓs +

∫
Γs

ηn
i

(
N̄iN̄j

)
dΓs >��13?

(� ����+
����� ��������
 ��
 	���
��� �������� �������� ���+
�� ��������
�� �
 ��5+����� ������� �� ��+�������
[

M3D + Δt
(
C3D (Xn) + f M̃ + b M̂ + Cb M̆ + L3D

)]
Xn+1 >��'�?

+ΔtG3D Pn+1 = M3D Un − Δt
[
g FEn +

g

ρ0
BSn+1 − T̄

]
DXn+1 + Lα,3D Pn+1 = Dα Rn+1 >��'�?

M3D Rn+1 = Gα Pn+1 >��'�?[
M̄ + Δt C̄

(
Xn+1

)]
En+1 = M̄ (ΔtWn+1 + En) >��'�?

(�� ������
�� ��
 	���
���= ��
������= 	������= 5�������� �� 
� 	������=
�������� � �
�+�� �� 
� �+	��2��� 
����= �+��� �+	���<������ 3���� ���������� �

	��� �� ����	� �� ,+� ���$� ���
+����= �+���� ������+����� �� 
� ����+
�����
��������
 � ������ �� 
�� �������� �� ��
���� ����
�� ��������� � ������+�����


X = [U,V,W]
U = [u1, u2, u3, . . . , uNV ol

]
V = [v1, v2, v3, . . . , vNV ol

]
W = [w1, w2, w3, . . . , wNV ol

]

:������� �� ��
���� ����
�� 	��� 
� ���

�������

P = [q1, q2, q3, . . . , qNV ol
] :����� �� ��
���� ����
�� 	��� 
� 	���

�����

��
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R = [R1,R2,R3]

R1 =
[
r11 , r12 , r13 , . . . , r1NV ol

]
R2 =

[
r21 , r22 , r23 , . . . , r2NV ol

]
R3 =

[
r31 , r32 , r33 , . . . , r3NV ol

]
:������� �� ��
���� ����
�� 	��� 
� 	���
������� ��
 5�������� �� 
� 	�������

S = [ρ1, ρ2, ρ3, . . . , ρNV ol
] :����� �� ��
���� ����
�� 	��� 
� ����

������

E =
[
η1, η2, η3, . . . , ηNSup

] :����� �� ��
���� ����
�� 	��� 
� �
�+��
�� �+	��2��� 
�����

(� �������� +��
�4��� �� 
� ����+
����� ��������
 �� 
� ��5+�����


M3D =

⎡
⎣M 0 0

0 M 0
0 0 M

⎤
⎦ @����4 �� ���� ������������

��
�

M̃ =

⎡
⎣ 0 −M 0
M 0 0
0 0 0

⎤
⎦ @����4 �� ���� 	��� 
� ����

	������ f ��
 ������� �� ���
���
���

M̂ =

⎡
⎣ 0 0 M

0 0 0
−M 0 0

⎤
⎦ @����4 �� ���� 	��� 
� ����

	������ b ��
 ������� �� ���
���
���

M̆ =

⎡
⎣M̄ 0 0

0 M̄ 0
0 0 0

⎤
⎦ @����4 �� ���� 	��� 
� ����

	������ �� �������� ��� ������

C3D (Xm) =

⎡
⎣C (Xm) 0 0

0 C (Xm) 0
0 0 C (Xm)

⎤
⎦ @����4 �� �������� ���������

����

L3D =

⎡
⎣L 0 0

0 L 0
0 0 L

⎤
⎦ @����4 �� ��5���4 �� 
�� ����

����� ���+������

G3D =

⎡
⎣ G1

G2

G3

⎤
⎦ @����4 5���������

F =

⎡
⎣ F1

F2

0

⎤
⎦ @����4 �� �������� �������	��

����

B =

⎡
⎣ B1

B2

0

⎤
⎦ @����4 �� �������� �����
<���

����

T̄ =

⎡
⎣ T̄x

T̄y

0

⎤
⎦ :����� �� ������� �� �������

D =
[

D1 D2 D3

]
@����4 �� �����5������

�$
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������ 
� ��� ����������

Lα,3D =

⎡
⎣Lα 0 0

0 Lα 0
0 0 Lα

⎤
⎦ @����4 
�	
������= 	��������

� ����
 �
������
 	�� 
�� ����
2������� αK �

Dα =
[

D1,α D2,α D3,α

] @����4 �� �����5�����= 	�����
���� � ����
 �
������
 	�� 
��
���2�������

√
αK �

Gα =

⎡
⎣ G1,α

G2,α

G3,α

⎤
⎦ @����4 5��������= 	��������

� ����
 �
������
 	�� 
�� ����
2�������

√
αK �

�������� ,+� 
� �������� ������+���� �� 
� ����� �� 
� ��5+�����


[
M
]
ji

=
∫

Ω

NiNj dΩ,
@����4 �� ���� �� 
�� �
�������
�������������
�� ��
 ��������

[
C (Xm)

]
jk

= um
i

∫
Ω

Ni ∂xNk Nj dΩ

+ vm
i

∫
Ω

Ni ∂yNk Nj dΩ

+ wm
i

∫
Ω

Ni ∂zNk Nj dΩ

@����4 �� 
�� �������� ���������
����

[
L
]
ji

=
∫

Ω

νH∂xNj ∂xNi dΩ

+
∫

Ω

νH∂yNj ∂yNi dΩ

+
∫

Ω

νV ∂zNj ∂zNi dΩ,

@����4 �� ��5���4 �� 
�� ��������
���+������

[
G1

]
ji

=
∫

Ω

∂xNi Nj dΩ,

[
G2

]
ji

=
∫

Ω

∂yNi Nj dΩ,

[
G3

]
ji

=
∫

Ω

∂zNi Nj dΩ,

���	������� �� 
� �����4 5���
�������

[
F1

]
ji

=
∫

Ω

∂xN̄i Nj dΩ,

[
F2

]
ji

=
∫

Ω

∂yN̄i Nj dΩ,

���	������� �� 
� �����4 ��

������� �������	����

[
B1

]
ji

=
∫

Ω

Nj

[∫ η

z

∂xNi dς

]
dΩ,

[
B2

]
ji

=
∫

Ω

Nj

[∫ η

z

∂yNi dς

]
dΩ,

���	������� �� 
� �����4 ��

������� �����
<�����

�'
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[
D1

]
ji

=
∫

Ω

∂xNi Nj dΩ,

[
D2

]
ji

=
∫

Ω

∂yNi Nj dΩ,

[
D3

]
ji

=
∫

Ω

∂zNi Nj dΩ,

���	������� �� 
� �����4 �� ���
���5������

[
Lα

]
ji

=
∑
K

αK

∫
K

∂xNi ∂xNj dΩ

+
∑
K

αK

∫
K

∂yNi ∂yNj dΩ

+
∑
K

αK

∫
K

∂zNi ∂zNj dΩ

@����4 
�	
������ �� 
� ��+�����
�� ������+���� ����2�����

[
D1,α

]
ji

=
∑
K

√
αK

∫
K

Ni ∂xNj dΩ,

[
D2,α

]
ji

=
∑
K

√
αK

∫
K

Ni ∂yNj dΩ,

[
D3,α

]
ji

=
∑
K

√
αK

∫
K

Ni ∂zNj dΩ,

���	������� �� 
� �����4 �� ���
���5����� �� 
� ��+����� �� ����
���+���� ����2�����

[
G1,α

]
ji

=
∑
K

√
αK

∫
K

∂xNi Nj dΩ,

[
G2,α

]
ji

=
∑
K

√
αK

∫
K

∂yNi Nj dΩ,

[
G3,α

]
ji

=
∑
K

√
αK

∫
K

∂zNi Nj dΩ,

���	������� �� 
� �����4 5���
������ �� 
� ��+����� �� 
� 	���
������� ��
 5�������� �� 
� 	���
�����

[
M̄
]
ji

=
∫

Γs

N̄iN̄j dΓs,
@����4 �� ���� �� 
�� �
�������
������������
�� �� 
� �+	��2����

[
C̄ (Xm)

]
jk

= um
i

∫
Γs

N̄i ∂xN̄k N̄j dΓs

+ vm
i

∫
Γs

N̄i ∂yN̄k N̄j dΓs

@����4 �� �������� �����������
�� 
� ��+����� �� �+	��2��� 
�����

��� *�����
 �� ��������
� ���-���


���� ������+����� ��
 3��3� �� ,+� �� ���� ���� ��
������ ����������
�
 ��
�� �� �
 	��� �� ����	� ��������= �
 	���
��� 	
������� �� ����� ��������

�� >��'? �� 
����
 	��� �
 5�������� �� 
� 	������ ���$ ���	
��� ��� 
� ��
������
� 
� 	������ � ������ �� 
� ��+����� >��'�?� ������ � ����= 	��� 
� ����
+����
�+������ ��
 ������� �� ��+������� 	��� 
� ��
������= 	������ � 5�������� ��

�-



�,', ��.���� 
� ���������� ��������

*, ��
�+
�� M= M3D= M̃= M̂= M̆= M̄= L= G3D= F= B= T̄= D= Lα= Dα

� Gα � ������
�� 
� �����4 ��
 ������� >��6�?�

	, ��
�+
�� C (Xn)= M3D Un= FEn= BSn+1 � ������
�� 
� �����4
��
 ������� >��6�?�>��6�?�

		, 7�����
�4�� Rn+1
0 = Rn � i = 0�

			, ��
�+
�� DαRn+1
i �

	 , /���
��� 	���
(
Xn+1

i+1 ,Pn+1
i+1

)
�

 , ��
�+
�� GαPn+1
i+1 �

 	, /���
��� 	��� Rn+1
i+1 �

 		,
∥∥Xn+1

i+1 − Xn+1
i

∥∥ < �F(� :�(F�7��� [∥∥Pn+1
i+1 − Pn+1

i

∥∥ < �F(� #/�&7\� [∥∥Rn+1
i+1 − Rn+1

i

∥∥ < �F(� D/��7���� �� (� #/�&7\� [

� �F
 ���+�
�4��
(
Xn+1

i ,Pn+1
i ,Rn+1

i

)
= i → i + 1 � ��
��� �

777�

� &7
 ���+�
�4�� (Xn,Pn,Rn)�

 			, ��
�+
�� C̄(Xn+1)= M̄Wn+1= M̄En � ������
�� 
� �����4 ��

������� >��6�?�

	8, /���
��� 	��� En+1= n → n + 1 � ��
��� � 7�

���
� ���
 �
5������ �� ����
+���� ��
 ������� �� ��+��������

	������ �� +��
�4� +� ��,+��� ��������� ������ �� �
 ������ �� D�+���&����

	�� �
�,+��= ��� ���
� >���?� ���� �������� �� +� ��,+��� ��������� �� �
 �+�
 ��
��
�+
�� 
� ��
������ � 
� 	������ �+	������� �������� �
 5�������� �� 
� 	������=
�
 �+�
 �� ���+�
�4� �
 2��
 �� 
� ���������� ���� �� �� �)	+�� ������������� ��
���� ��	<�+
�= �
 ���$���� ���5������� ��
 ����
� 3��� ,+� �� �+	��5� ��������
�
 ��
�� �� 
� �������� �� ���� �������� �� ����	� � 	��� ���� ���� �� 
�
��

� Sn+1� &� �
 �+�<����� i ����5�� 
� ������
� ������	�������� �� 
� ���������
i������= ���� ������ 	+��� ���������� �� 
� ��5+����� �����
[

M3D + Δt
(
C3D (Xn) + f M̃ + b M̂ + Cb M̆ + L3D

)]
Xn+1

i+1 >��6�?

+ ΔtG3D Pn+1
i+1 = M3D Un − Δt

[
g FEn +

g

ρ0
BSn+1 − T̄

]
DXn+1

i+1 + Lα,3D Pn+1
i+1 = Dα Rn+1

i >��6�?

M3D Rn+1
i+1 = Gα Pn+1

i+1 >��6�?

���� ��,+��� �� ������
�4� 3������� 
� 	��������� ��
 5�������� �� 
� 	���
���� Rn+1

0 = Rn� !�� ��4 �������� 
� ��
������ Xn+1 �� ������� +�� �+���

�/
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��� �, ������������ ��������

�	��)������� En+1 �� 
� �
�+�� �� �+	��2��� 
���� �
 2��
 ��
 	��� �� ����	�
tn+1= � 	����� ��

[
M̄ + Δt C̄

(
Xn+1

)]
En+1 = M̄

(
ΔtWn+1 + En

)
>��6�?

(� �����4 ��
 ������� M��
�������	������N �� ��
�+
� +�� ��
� ��4 �� ����
	��� �� ����	�= �� ,+� 	�������� ��������� �+����� 
� ��������� i� (� �����4 ��
���� M ��
 ������� 	��� Rn+1

i+1 	+��� �	��)������ 	�� �+ �����4 �5
+������ ����
5���
 >��
$����?= � �� 	+��� +��
�4�� ���� ���� 	��������������� 	��� ����
���
�
 ������� ��� �����4 ����������� �������� �
 ������ ��
 5�������� ���8+5����

(� ������5����� ��
 ������� ��������� �� ��2�� �� �������� ��
 ����� ���

����� �� 
� ����� �+�
<��� �� 
�� �������� ����
�� �� 
�� ������
�� ������	���
��������

�&
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���������� � ���������� �� ��
������� ����������� ��� 
�����
������

M�
 9���� ����� ���
 �� �,+�
 ��
 ,+� ��
�	�������� ����N

2�3	 ��.���� )4���)5�+
D��
�5� � ����
�5� ������+��������

(� ��
�� � ������ �������� �� ����� ���	����
�� ��2�+
��� 
� ��
������� ��

�� ����
�� �+������� �� 	���
���� ���
��� &+���� � ����= 
�� 	���
���� ���
��
	����� 5�����
����� +�� ����� ���	
�8���� 5��������� � +�� 5��� �������� ��
��������� �<����� ,+� ������������� ����� �

�� 3������� �$� ���<��
 �
 ���+��� �
���	������� �� 
�� ������� ���� +�� �
��������� ���������= 	��� 
� ��
�������
��
 ����
� ������ +��
�4������ �
5+��� �� 
�� 	���
���� �� ���������� �$�
���+������ �� 
� 
������+��= ,+� ��� ����+����� ��� +��
�4���� 	��� 
� ��
�������
�� 
�� ����
�� �+������� ��
 ������ ��
 �����

��� ���1� �� ��
 �
	��
� �2���


!� 	���
��� �� ���������� �+� �������� �� �
 C+8� �� +�� ������� �9�
���� ���+���� 	�� +�� ��������� �� �������� ��������� � 3���5���� 	��� 
�

�"



+���
��� �,  ���
����� ! ����������

��
������ ����� 
� �+	��2���= ���������� �� ��5
�� M��6��7�'�. N� �� ��������
��
 �������

� ��
 ����5� �+������= 
� �	
������� ��
 ����
� �+������ � ����
	���
��� �� �������� �$��
 � ������� ������ � 
� ���	
������ �� 
� 5������<�
��
 �+��� �� ��������= ���� 	���
��� ������� +�� ��	������� �������� �� ���
������� �<����� ,+� �� ����2����� �� 
�� �9
��	
�� ��5����� �� �������+
�����
�� 
�� �������� � ��,+���� �� 
� ������� ��	�������� ������������ ��
 �9����
�� /����
��� �� 
� 
������+��= �� 	����
� ��������� ���������� �	��)���������
�+������� �	
������ � ���� 	���
��� �� C+8� �� ������� >��� �� ��� -������ �� ���
>�.6%?G -������ � &����� >�.66?G L+ �� ��� >�.6'?G 7A���+ �� ��� >�.6.?G L��� �� ���
>�..0?G H���4 � &�
���� >�..�?G J���5 �� ��� >�.."??� &�� �����5� � 	���� ��
,+� ���� 	���
��� 3� ���� �)���������� ���+����� �� ����� �+������= �����<�
3�� �
5+��� 	+���� �� 
�� �+�
�� �� 3�� ������������� !� ���� �� ������� �� 
��
�+������� ���+���� �� ,+� ���������� ��
+������ �+������� ��
 	���
��� �� C+8�
�� ������� ��� 
�� ������ ���+
����� 	��� Re ≤ 1000= 	��� ������4�� � ����
������ +��� �� ����� 	��� Re �������� �������� ���� �� �+����= ���� 	�����
���� �� ��
������� �� 
� ������
�4����� ��
 ����
� �+������ �������������
 ��
���
�4��$ 
� ���	������� ����� 
�� ��
���� ��������� 	��� �
 ������ ������������
	�� �
 ����
� ������ ��� 
�� ��
���� ��������� 	�� J���5 �� ��� >�.."? 	��� 
��
�9����� �� /����
�� Re = 400 � Re = 1000�

J���5 �� ��� >�.."? +��
�4� +� ������ �� �
������� 2����� ��� +�� �����
��
�4����� 	�� �<����� �+������� >(&-�@? 	��� 
� ����
+���� �� 
�� ������
��
��
 	���
��� ��
�������	������������������ ��������� �
 	���
��� ��������� �

	
��� z = 0, 5 >��� 25+��  ��?= 	�� 
� �+�
 ��
� +��
�4� 
� ����� ��
 ������� �
+�� ��

� �� 65000 �
������� ���
����
�� 3�)�������� ���	+����� �� 50× 52× 25
�
������� 	�� ���� ���������� �������� �� �+���� ,+� �� 
� ������ �� ,+� ��
�+����� 
� �������� �� �
������� �� 
� ��

� �� ���������� 
� 	�������� �+���
���� �
���4��� 	�� 
� ��
+����= �� 	+��� ���������� ,+� 
� �
�� ����
+���� �� 
�
��

� +��
�4��� 	�� J���5 �� ��� >�.."? 	+��� ��� +� �+�� 	+��� �� ����������
	��� �����+�� ���� ��
�������� (�� ��
���� ,+� ���+�� 	��� 
� ���	������ u ��

� ��
������ �� x = 0, 5 � z = 0, 5 	��� 
�� ��
���� ��
 �9���� �� /����
��
Re = 400, 1000 � �+ ��	����������� �� 	+���� ��� �� 
� 25+��  �� >�? � >�?�

�
 ������� �� ���� 	���
��� �� +� �+�� +����� Ω = [0, 1]3 �� �+���
��������� �� ��	��� +�� ��
������ �+
� u = v = w = 0 �)��	�� ����� 
�
���� �+	����� y = 1 �� 
� �+�
 �� ��	��� 
� ��
������ u = 1 � v = w = 0=

-�5+��  ��
 D������<� � ����������� �� �������� 	��� �
 	���
��� �� C+8� ��
������� �9�����
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-�5+��  ��
 &�
+���� �+������ ������������ �� x = 0, 5 � z = 0, 5 	��� �
 	���
�
��� �� C+8� �� ������� �9���� �� J���5 �� ��� >�.."?�

�+�,+� ����� ��� ����������� �� ��	� �����3
�� >��� 25+��  ��?� #��� ����
���
���� 	���
��� ��� ������ �� ��	��� ������� �
 ��
�� �� 
� 	������ p = 0 �� �

9
���� ���� �� 
� ��

� 	��� ��2��� �
 ���	� �� 	��������� &� +��
�4� +�� ��

�
���������� ��2���� ����� ����� 
�� ��������� �� 14×20×16 �
������� ���
����
��
3�)�������� � 5355 ����� >��� 25+��  � ?� � 	���� �� ,+� �
 ������ ��
 �9����
�� ����� �� 
� ��

� ����� 
� 	�������� �� ��
+���� �+������ �� ��	������� ��

� ������ ,+� �
 �9���� �� /����
�� �� ����������= �� +��
�4� �� ����� �����
	��� Re = 400 � Re = 1000 
� ����� ��

� ��� �
 2� �� ��������� �
 �$
�+
� �
	����� ��
 �9���� �� /����
�� ���������

#�������� ��
 C+��� �� ������ �� ��	��� �� �� 	����
� �
���4�� 
� ����
���5����� � 
� ��
+���� ��
 ������� 
����
 �� ��+������� �������� 
�� �������
����������= ,+� ��,+����� +� ����� ���+��4� ���	+�������
 ,+� 
�� ������� ���
������� ���� �� ������ � ,+� �
 ����� ��
����� ����� 
� �	��)������� ������
 � 
�
��
+���� �������� �� �
 	��� �� ����	� �������� �� �+� 5������ #�� 
� �����
	��� �+���� +�� ���������� ������
 
� �+2����������� 	��)��� � 
� ��
+���� �
���5+��� �� ���� ������ 
� ������5����� �� 
�� ������� ���������� �� ���+���
� 
�� ������� ��������� �� ���� ���� 	��� 
� ����
+���� ��
 ������� 
����
 ��
��+������� ��
�������	������ � ��
 ������� �� 	��������� ��
 5�������� �� 
�
	������ �� +��
�4� �
 ������ ������� (! ��� �
������������ �� ��
+���� >��-7�
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-�5+��  � 
 @�

�  � 	��� �
 	���
��� �� C+8� �� ������� �9���� ��� % %%
����� � ""60 �
������� 3�)���������

��	��?� �� ���� ������ �� �����+���� 10 	���� �� ����	� ��� +� ����������
Δt = 0, 03 s ��	
����� +� ����	� �� �$
�+
� >�#!? �� 836, 63 s� �
 ���2������
�� ������
�4����� +��
�4��� �� ���� ���+
����� �+� α = 12 � 	��� ������� +�
�9���� �� /����
�� Re = 400 �� +��
�4� +� ���2������ �� ���������� �+��+
����
ν = νH = νV = 2, 5 × 10−3 m2/s� �� +�� ��5+��� ���	� � � 	����� �� 
� ��
+�
���� �������� �� +��
�4� �
 ������ ��������� *�D&��� ��� 	������������������
>(��� 7(!�? 	��� 
� ����
+���� ��
 ������� ��
�������	������= �������� ,+� ��
+��
�4� +�� �����4 �� ���� �5
+������ 	��� �
 ������� ��
 5�������� �� 
� 	���
���� 3���� �
���4�� 
� ������5����� 2��
 	��� Re = 400 ��� +�� ��
������� ��

������ ������������ �� εs = 10−5 �� 935 	���� �� ����	� � +� ����	� �� �$
�+
�
�� 3803, 59 ��5+����� (� ��
������� ��
 ������ �� ����
+���� ��������� �+� ��
εi = 10−5� ������ �� ���� 	��� �� ����	� �� �)�5��= 	��� �
 ������	
�������
��� 
� #D#= +�� ��
������� �� εg = 10−6� � 	����� �� 
� ��
+���� 	��� Re = 400=

� 9
���� ���	� ��	
�� +� ����	� �� �$
�+
� �� 4910, 36 ��5+���� 	��� �����+��
1280 	���� �� ����	� ����� �� 3�

�� 
� ������5����� � 
� ��
+���� ������������
	��� Re = 1000� �� ����� 
�� ���	�� � �� ���� 	��� �� ����	�= �� ���
�4����
��� ����������� �� #D#� #��� Re = 1000 �� +��
�4���� 
�� ��5+������ ��
���� ��

���2������� �� ���������� �+��+
���� ν = νH = νV = 1, 0 × 10−3 m2/s�

(�� 25+���  �" >�? � >�? �+������ 
�� 	��2
�� �� ��
������ �� 
� ����
	������ u �� >x = 0, 5; z = 0, 5? 	��� Re = 400 � Re = 1000 8+��� ��� 
��
���+
����� ��
 �����8� �� J���5 �� ��� >�.."? 	��� �+ ���	�������� ��� �
 2� ��
�+����2��� 
� 	�������� �� 
� ��
+���� �������� ���	���� � ���� 9
���� �����8�=
�� ��
�+
� 
� ����� L2 ��
 ����� �� 
�� ��
�������� ����
��= � 
� 
��5� �� 
� 
<���
������
= ���	���� � 
� ��
+���� ������ ���� �����������

εr =

√√√√∑N
i=1 (ue(i) − uc(i))

2∑N
i=1 ue(i)

> ��?

������


� ue 
� ��
+���� ������ ���� ���������� �� J���5 �� ��� >�.."?�

� uc 
� ��
+���� ��
�+
��� 	�� �
 ����
� �������
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������ � 
� 5��� ���������� �� �������� �� 
� ��������4����� ����� 
�� ��

��
�� �����	�
� 
� ��
+���� �� ���������� ����� 
�� ����� �� �+����� ��

� 	���
������� 2��
����� +� ����� ��
����� �� εr = 0.053269186 	��� Re = 400 �
εr = 0.106640177 	��� Re = 1000�

&
( Re = 400

&�( Re = 1000

-�5+��  �"
 ���	������� ����� 
� ��
+���� �+������ �� J���5 �� ��� >�.."? � 
�
��
 ����
� �������

(� �������+���� �� ��
�������� � 	�������� �� 
�� 	
���� ������ x = 0, 5=
y = 0, 5 � z = 0, 5 	��� Re = 400 �� 	+���� �������� �� 
�� 25+���  �% �  �1=
�������� ,+� 	��� Re = 1000 �� 	+���� �������� �� 
�� 25+���  �' �  �6� �����
���+
����� �+������ +�� �+��� �����
����� ��� 
�� ��
���� ��������� 	�� J���5
�� ��� >�.."?�
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��� ���1� ����� �� ���
�
� �/

�
 	���
��� ��
 C+8� ����� +� ����
��= ���������� �� ��5
�� ����-.����

���	� �����= ��������� �
 ���������� �� +� C+��� ������� ��������� ����� ���
	
���� ��� +� ��+��� ������ �� ������� � ������ ��������� ��
 �)������ ��

� 25+��  �. �� �+������ 
�� ����������� ��
 ������� ����������� ��< ����
������� 
�� 	��$������ 5���������� 	��� ���� 	���
���� &� 28� 
� �
�+�� ��

����
�� �� h = 1 � �� ���� 
� ������ ��
 ����
�� ���� �
 ���5�� ��
 ������� ��
������������ �
 C+��� �� �+��� ����� �
 ����
 �� ������� �� �
�+�� αh = 1 �
C+�� �� ��������� �
 ����
 �� ��
��� (1 + α)h� �� ���� ���+��� ������� α = 1=
����� +�� ��4�� �� �)	������ >�������E��
���? �� 1 + 1/α = 2� (� 
��5��+� ��
������� Li � ��
��� Lo ����� ��� 
� �+2����������� 
��5�� ���� 	��� ,+� 
��
���+
����� ���� ����	��������� �� ���� 	��$������

������� Li = h �� �+2������ 	��� �
 ���5� �� ��
���� ��
 �9���� ��
/����
�� ����� 200 − 1000 ,+� �� ���+��� �,+< �� ��+���� ��� 
�� �����8��
�� L��;���� �� ��� >�..�?G ��

���� � *�;�� >�..'?G *��;
�� �� ��� >�00�?� (�

��5��+� ��������� Lo ���<� ��� �
 �9���� �� /����
��= *��;
�� �� ��� >�00�?
����������� ���� ��
���� ���	���
�� 	��� ���� ���5� 
�� ���	�������� �����
15h ≤ Lo ≤ 55h= ���	�$����� �� ���� ���� Lo = 38h � +� ���3� �� A = 1�
(�� ����������� �� �������� ��	+����� ��� 
�� ��5+������= �� �
 �������� ��
������� >x = −Li, 0 ≤ y ≤ αh, 0 ≤ z ≤ 1? �� ��	+�� +� 	��2
 	�����
���
�� ��
�������� u = 4y(αh − y)/(αh)2, v = w = 0� � 
� 
��5� ��
 ����
�� � ��
����� 
�� 	������ ��
 ����
 �� ��	+�� +�� ��������� �� ��	� �����3
�� 3���5����
>u = v = w = 0?� �� �
 �������� �� ��
��� >x = Lo,−h ≤ y ≤ αh, 0 ≤ z ≤ 1? ��
��	+�� +�� ��������� ���+��
 >��	� ��+����? 	��� 
� ��
������= 
� �+�
 �����
+�� ���������� ���	���� �
 	���
��� ���������

Li = 1,0

x

y

z

Lo = 38,0

α h = 1,0

A = 1,0

h = 1,0
(1 + α) h = 2,0

Li + Lo = 39,0

u=4y(αh-y)/(αh)2

v=0

v=0

w=0

w=0

U∞

Li = 1,0

x

y

z

Lo = 38,0

α h = 1,0

A = 1,0

h = 1,0
(1 + α) h = 2,0

Li + Lo = 39,0

u=4y(αh-y)/(αh)2

v=0

v=0

w=0

w=0

U∞

-�5+��  �.
 ����������� ��
 ������� � 	��$������ 5���������� 	��� �
 	���
���
��
 C+8� ����� +� ����
��  ��

���� �� 	+��� �	������ �� 
� 25+��  ��0= 
� ��

� ��	
���� 	��� ����
	���
��� ���� ���	+���� 	�� 7065 ����� � 5248 �
������� 3�)���������

�� 
� 
������+�� �	������ ���������� ������� �� �����������
�4�� ����
	���
���= ������� ���������� ��
���� 	��� 
�� ����
�� �� ���������� Lref � Uref �
(� �
�+�� ��
 ����
�� h �� +�� ����
� �� 
��5��+� ���+��
 	��� ��2��� 
� 5������<�
��
 	���
��� � ����� ���������� ���� 
�� 	+���� �� ��	������� ��
 C+8� �5+��
���8� ��
 ����
��= ������ 
� �
������ �$� ���9� 	��� Lref 	�� 
� ,+� ���� ��
��
�� ���	��� #��� 
� ��
������ �� ���������� Uref �� ���	�� 
� �$)��� ��
������
����� 
� 
<��� ������
 �5+�� ������ ��
 ����
�� U∞� !�� ��4 ��2����� 
�� ����
��
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Re =
U∞h

ν

�� 
� 25+��  ��� �� 	+���� �	������ 
�� 
<���� �� �5+�
 ��
������ �� 
�
��������� 	��� 
�� ��
���� ��
 �9���� �� /����
�� Re = 200, 400, 600, 800, 1000=
��
�+
���� ��� 
�� ��
���� �� ���������� ���	����� Lref = 1 m � Uref = 1 m/s
� 
�� ���2������� �� ���������� �+��+
���� ν = νH = νV 	��� 
�� ���	�������
�9����� �� /����
��� -���
����� �� �+������ 
�� �����+	��2���� ��
 ���	� ��
��
�������� 	��� �
 ����
� �� �+��+
����� �� &��5�����;��

(�� ��
���� �� 
� 
��5��+� �� ��	������� 	������� X1 >��� 25+��  ���? ��
�
�+
���� 	��� �9����� �� /����
�� ������� ,+� Re = 400 ���$� �� ��+���� ���

�� ����� �)	��������
�� �� ����
� �� ��� >�.6 ?= �+�,+� ����� ��
���� �)	����
�����
�� �+���� ��
�+
���� ��� +� ������ �� �)	������ �� 1, 94 � �� 2� (� 4��� ��
��	������� ���+������ X1−X2 �	����� 	�� 	������ ��4 ����� �
 �9���� �� /���
��
�� 200 � 400= �� ��+���� ��� 
� �������� �� ����
� �� ��� >�.6 ? � Re = 300�
#��� �9����� �� /����
�� ������� 
� 
��5��+� �� ��	������� 	������� �� ���$ ��
��+���� ��� 
�� ��
���� �� 
�� ������� �)	��������
�� 	��,+� �
 C+8� �)	�������
��
 �� �������������
 ������ � 
�� 	���+��������� 	���+����� 	�� 
� �+5������ ��

�� 	������= ������ ���� ���+������� �� ��

���� � *�;�� >�..'?� �� ��������=
�+������ ���+
����� ���$� 5�����
����� �� ��+���� ��� 
�� ���+
����� ���������
�� ����� ���+���� �+������� �������������
�� � ��������������
�� �� ���� ��5��
���� H���� +��
�4��� 	��� ���	���� 
�� ��
���� ��������� 	�� D���
��5 >�..0?
� *��;
�� �� ��� >�00�? �� 
�� 	+���� �� ��	������� 	������� � ���+������ ��

C+8� X1= X2 � X3 	��� Re = 600 >��� ���
�  ��? ��� 
�� ��
���� ��
�+
���� 	�� �

����
� �������

��� �� ���� ������ (� ����� ���������� ����� 
�� ��
���� 3�

����
	�� D���
��5 >�..0? � *��;
�� �� ��� >�00�? � 
�� ��
 ����
� ������ �� ��������
	��� �
 	+��� X2�

#��� ���� ���+
����� ��� Re = 600 �� +��
�4� +� ���2������ �� �+��+
�����
��������� �� νH = νV = 1, 6666× 10−3 m2/s� &� ����
������ 
� �������� ��
 ����
���� ��
������ 	������ � �� 
� 	��������� ��
 5�������� �� 
� 	������ ��������
+� ������ ������� (! ��� �
������������ �� ��
+���� � +� ���������� ��

	��� �� ����	� �� Δt = 1 s� (�� ��
�������� 	��� 
� ����+
����� � �
 ������ �����
�������� �+���� �� 10−6 � 10−5= ���	������������ �
���4$����� 
� ������5�����
	��� �
 ������ ������������ �� 1345 	���� �� ����	��

$"
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&
( Re = 200

&�( Re = 400

&�( Re = 600

&	( Re = 800

&�( Re = 1000

&$( %�
������78

-�5+��  ���
 :��+�
�4����� �� 
�� �����+	��2���� ��
 ���	� �� ��
�������� 	���
���������� ��
���� ��
 �9���� �� /����
�� � ��� �
 ����
� �� �+��+
����� ��
&��5�����;��

-�5+��  ���
 #+���� �� ��	������� 	������� X1 � ���+������ ��
 C+8� X2, X3

	��� �
 	���
��� �� C+8� ����� +� ����
��  ��

�+��� X1 X2 X3

D���
��5 >�..0? ��=� .=' ��=0
*��;
�� �� ��� >�00�? ��=.� .=% �0=1
������ ��=" ��=" �0="

���
�  ��
 ���
� �� ��
���� �� 
�� 	+���� �� ��	������� ��
 C+8� �� 
�� 4����
	������� � ���+������ 	��� �
 	���
��� �� C+8� ����� +� ����
��  ��
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��� ���1� �� �
 ���3�������

#��� 
� ��
������� ��
 ������� �� �����
��= ������������ �
 �������� 	���
�
��� ��
 C+8� �� ���
�����+����� �� �+����� ����= ���� 	���
��� ���������$
�� ������� 
� �������+���� �� ��
�������� �� +� C+��� ��A������� �� ��������
��� �����$���� ν = νH = νV = 0, 1 ��������� �� �
 ���

� ����� ��� ��
������
������������ �� 
��5��+� L = 2 � �� ������ �������� a = 1 � �)������ b = 2G �

��
����� �)������ ���$ �� ��	��� (Ω2 = 0)= �������� ,+� �
 ��
����� �������� ����
�� ������� ����3������ ��� +�� ��
������ ��5+
�� Ω1 = 0, 19635�

&� ��2��� �������� 
�� ��5+������ 	��$������ �����������
��
 
� ��
�����
�� ������ ξ = a/b = 0, 5= 
� ��
����� �� ��	���� λ = L/(b − a) = 2= �
 �9����
�� /����
�� Re = Ω1a(b − a)/ν = 1, 9635 � 2��
����� �
 �9���� �� �;���
Ek = ν/Ω1(b−a)2 = 0, 509 >��� 25+��  �� ?� !�� ��
+���� �� 
�� ��+������� ��

���������� 	+��� ��������� ��+������ ,+� 
�� ��
�������� ������ �� ���� 
+5��

� ��������� �4��+��
 θ � ,+� ����� 
� ��
������ ���� 
� 	������ ��� ����	���
������� �� θ � �� z �� ����������� ��
<������� 	�
���� >��� �������= �.66= 	$5�
�0'��0. ?� ����� �+	��������� �� ����� �� 
� ������<� ��
<������ ��
 	���
����

-�5+��  �� 
 &������ �� ����������� � 5������<� ��
 ������� 	��� �
 C+8� ��
��+�����

(� ��+����� �� ������+���� ∂uθ/∂θ = 0 �� �+���$��������� ��������3�
	�� ����� �+	��������� � 
�� ���	������� �4��+��
 � �����
 �� 
� ��+����� ��
�������&��;�� �� ���������� ��< ��


d2uθ

dr2
+

1
r

duθ

dr
− uθ

r2
= 0 > ���?

ρu2
θ

r
= −dp

dr
> ���?

(�� ����������� �� �������� ���+
��� ��� 
�� ��5+������


u(a) = Ω1a = 0, 19635 �� r = a > � �?

u(b) = Ω2b = 0 �� r = b > � �?

'�
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(� ��
+���� uθ �+���� �
 C+8� 	�������� ����������� �4��+��
 �� 
� ��5+�����


uθ = Ar +
B

r
> �"�?

����� 
�� ���2������� A � B ���


A =
(
Ω2b

2 − Ω1a
2
)
/
(
b2 − a2

)
= −6, 545× 10−2

B = (Ω1 − Ω2) a2b2/
(
b2 − a2

)
= 0, 392699

�������� ,+� 
� 	������ ��


pθ = A2 r2

2
+ 2AB ln(r) − B

2r2
> �"�?

(� 25+��  ��" �+����� 
� ��
+���� ���
<���� 	��� �
 C+8� �� ���
�����+����
	��������� ��������������

-�5+��  ��"
 &�
+���� ���
<���� ��
 ���	� �� ��
�������� 	��� �
 C+8� �� ���
���
��+�����

�� 	����� 
+5�� �� ��	���+8� �+����������� �
 	���
��� �� ����

�����+���� �������� �������������� &� ��������� 	��� �

� +� ������� �� �8��
28�� ��
������ ��� �
 ��
����� �)������ ,+� �� ���+����� �� ��	���= �������� ,+�
�
 ��
����� �������� ������ �� ������� ����3������ >��� 25+��  ��%?�

#��� 

���� � ���� 
� ���+
����� �� +��
�4� +�� ��

� �� �
������� 3�)���
������ ������� 	�� 32 × 16 × 4 �
������� �� 
�� ����������� r= θ � z ���	�����
������� >��� 25+��  ��1?� #��� 
�� ��������� �������� � �)������ �� ��	+������
����������� �� �������� �� ��	� �����3
��= �������� ,+� �� 
�� ��������� z = 0 �
z = 2 �� ��	+������ ����������� ��+���� �� x � y= � �����3
�� 3���5���� ��
z�
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-�5+��  ��%
 &������ �� �8�� 28���

-�5+��  ��1
 @�

� �� 4752 � 4096 �
������� 3�)�������� 	��� �
 	���
��� ��
C+8� �� ��+�����

(� ��
+���� �+������ �������� �� ���� ���� ���+
�� ��������5+��
� �� 
�
��
+���� ���
<���� �� 
� 25+��  ��"� ���3� ��
+���� �� ���+�� �� �0� 	���� ��
����	� �� ����B� Δt = 0, 1= 3���� �
���4�� �
 ������ ������������ ��� +��
��
������� �� 10−4 �� �
 ����� ��
������ #��� ����
��� 
�� �������� �� ��+�������

����
�� ��
�������	������ � 5�������� �� 
� 	������= �� +��
�4���� 
�� �������
���������� -D@/�& � �D�/= ���	�����������= ��� 	��������������� ��
� 89:;�

� ������+����� �� ����
��� �
 	���
��� ��� +� ������� �� �8�� �� ��������
��
������ ��� �
 ��
����� �)������� ���� ��4 �
 ��
����� �������� ���$ �� ��	���=
�������� ,+� �
 ��
����� �)������ ���� �� ������� 3������ ��� +�� ��
������ u(b) =
−0, 392699= ������ �
 	��$����� �� �����
�� f = 2Ω1 sin(φ) = 0, 392699= 	���
Ω1 = 0, 19635 � φ = 90 >��� 25+��  ��'?�

(� ��
+���� �+������ ��
 ���	� �� ��
�������� ��
 C+��� ��������� �����

�� ��
������ 	��� �
 ������� �� �8�� �� �������� ��
������ ��� �
 ��
����� �)������
�� 	+��� ��� �� 
� 25+��  ��6�

'�
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-�5+��  ��'
 &������ �� �8�� �� ���������

-�5+��  ��6
 &�
+���� �+������ ��
 ���	� �� ��
�������� 	��� �
 ������� �� �8��
�� ���������

#��� 	���� ���	���� 
�� ��� ��
+������ ���������� �������� �
 ���+
����
��
 9
���� ���� 
� ��
������ �� �������� �� 
�� �8�� Ω × r� �� 
� 25+��  ��. >�?
�� �+������ 
�� 	��2
�� �����
�� �� ��
������ �� θ = 90 ◦ � z = 1= ���������
�� ����� ����� 8+��� ��� 
� ��
+���� ���
<���� > �"�?� &� ������� +� �8+���
�)��
���� �� ����� ������

�� 
� 25+��  ��. >�? �� �+������ 
�� 	��2
�� �����
�� �� 
� 	������ �� θ =
90 ◦ � z = 1= ��
�+
���� 	��� 
�� �������� ��� �8�� 28�� � �� �������� 8+��� ��� 
�
��
+���� ���
<���� > �"�?� &� ������� �+�������� +� �+�� �8+��� �� ����� �����=
��	����
����� 	��� �8�� 28��� #��� �
 ���� ��� �
 ������� �� �8�� �� ��������=
���� ���+
���� �� ������� 
+�5� �� �+������ �� 
� 	������ ��
�+
��� �
 �������
1/2Ω2r2= ,+� 5����� 
� ���
������� �����<�+5� ∇ (

1/2Ω2r2
)
= �� ��	
���������

'$
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28�� � �� ���������

''



+���
��� �,  ���
����� ! ����������
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����� (�����
"��

(� �������� ��
 ������ ����� 
� �+	��2��� 
���� ��
 ��� �� ��
������ ��+��
���������� 3���4����
 ��
 �5+� ���� ������� 	���+�� ���������� �������
� �

������ ����� 
� ����+
����� �+	��2���
 ��
 �5+� �� +� ������ �������
����� �� �

3��������� ����� �� �������� �� 
� 25+��  ��0� *�8� ����� �����������= ����
�+����� 
� 25+��  ���= 
� �+	��2��� 
���� ��
 ��� �� �
��� �� �
 ������ ��
 5���=
�������� ,+� �
 �����	���� �� �;��� >�
 ���������� 	��������� �� 
� ��	�
�+	����� ��
 ��� �������� 	�� 
� �������� ��
 ������? �� 	���+�� � 90 ◦= � 
�
�����3� �� 
� ��������� ��
 ������= ��+����� ������5����� �� 
� �+	��2��� ��

�5+� � +� �+������ �� �
 ������ ��
 �������� ���� 	������ ,+� 
�� 
<���� �� �5+�

��������= ����� 	���
�
�� ������ � 
� �������2������ ��
 ���= ���������� ����
������+����� ��
 �����	���� �������
 ��
 �5+� ����� ����� �� 
� �+	��2��� 3����
�
 ������

-�5+��  ��0
 &������ � ��������� �� 
� ����+
����� �� �+	��2����

���� ���+
���� �� ���� ���	������� �� 
�� ���	<����= �	����� 
� �+��4�
��
 5�������� �� 
� 	������ 3���4����
� ���� ���+��$ �� ����� �����
 ����� �

�)������ 3���� �
 ������ ��
 �������= ����� 
� ��5��� �� �$� �
�� 	������ >�������
� 
�� ������� � ����������? � 
� ��5��� �� �$� ��8� 	������� *�8� �����������
�������������= 
� �+��4� ��
 5�������� �� 
� 	������ ���$ ��
������� 	�� 
� �+��4�
�� �����
�� � �� ���� ���� +�� ��������� 5������2�� C+��$ �� �
 ����� �������
,+� 
� ��������� ���+���� 	�� �
 ������= ���������� ������
���� �
 �,+�
������

�
 	���
��� ��< 	
������� 	������� ��� ���	�������= +�� ���	������


����� �������	��� � 
� ���� �����
<����� (� 	������ ������ �
 5�������� �� 
�
	������ 3���4����
= 	�������� 	�� 
� ���������� �� �
�+�� �� 
� �+	��2��� 
����
��
 �5+� � 
� ��5+��� ������ ������� �
 5�������� �� 
� 	������ 3���4����
= 	���
�� ���� ���� 	�� 
� ����������� �� ��������� ���� 9
���� ���	������ 	+��� ���
��
�+
��� 	�� ����� ��
 ������ 5������2�� >��� #R�� � #��;���= �.6 = �!�� '1�
''?= ��� �
 ,+� �������������� �
 ���+
���� ��
 ����
�� �
 ������ 5������2��
	��� �
 �$
�+
� �� ���������� ����� �� �+���� 
� �������+���� �� 
� �������� �� �

������= 5�����
����� ��
�+
���� � 	����� �� ������� �� ���	����+�� � ��
������=
�$� �$��
�� �� ������� ,+� ������� �� 
�� ���������� ������������ >
�� ����������
�� �
 ��� �� ��� ������������� � 	�������� �
��� C+��+������� �� ��
������ �
���������?� �
 ������ 	������� �
5+��� ���	
�2�������� � ��������8��= ���� 
�
��	�����
���� �� ��
�+
�� 
� ���	������ �������	��� �� 
� ���������= 	��� 	+���
��� �+� 9��
 �+���� �� +���� �� ����� 	���
�
� ��� ���� ������������ �� ������=

� �����<� �� �+����� ������������ ����� 
�� ���������� ���$����� �� 5��� ����
�
>� ���������� 5�����
�� ��
 ������? 3� ���� �������� �� ���� �������
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-�5+��  ���
 ��,+��� �� +� ������� �������
������

&� ����
��� ���� 	���
��� ����	
�4���� �
 ������� �� 5������� −ρ/ρ0g
�� 
� ������ ���	������ �� 
� ��+����� �� ���������� >��� ��+����� >���'�??
	�� −(ρ− ρ0)/ρ0 	��� ����� �� �+���� 
� ���	������ �����
<���� �� 
� 	�������
�
 ������� �� ���+��� ���<� +� ��$����� �� 166, 6 km � +�� 	���+������ ����

�� 2000 m >��� 25+��  ���?� (� ��

� �� ������+�� �� ������ ��
 ,+� 
�� �����
������� �������
�� �� 
�� �����= ��������� ��� 
�� 	���+�������� �� ��������
�������� �� ��� ���������� >+�� ������
 � ���� �)������?= ��	������ 50 km �����
�

�� >��� ���
�  ��?� (�� ���������� 	��� 
�� ����� ����� ���3�� ���������� �

�� 	������� 1000 m �� 	���+������= �+���� �����	�
���� 
����
����� � �� �����
�����
 ����� 
� �������� ������
� (�� ���������� ����� 
�� 1000 � 2000 m �� 	���
�+������= �+���� ������������ ���������� � �5+�
 � 1027, 78 kg/m3= �������� ,+�
����� 
�� ������ �� 50 � 75 km ��
 �)������= �� ��������� 	�� ���� 	���+������=
�5+�
 �
 ��
�� �� 
� �������� �� 
� �������� �)������� ���� �������+���� �� ����
������� �� �+� ���9� ��� 
� �� +� ������� �� ��������
� ��������<����� ,+� ��
���	����� �� 
� ��������� ��
 D�
�� >��� *������= �00�= �!��  '� 6?� (�� ������
������ �� �������� +��
�4���� �+����= 	��� �
 ����� � �������� �������
 �)������=
��������� �����3
�� 3���5���� u = v = w = 0= �������� ,+� �� 
� �+	��2���

���� �� �������5�� 
� ��
������ �������
 w = 0 � �� ��	
�� +�� ��������� �� C+8�

���� �� 
�� ���$� ����������� >��������� ��	� ��+����?�

-�5+��  ���
 ��,+��� ��
 ������� ���	+�������
�

&� +��
�4� 	��� �
 �$
�+
� +�� ��

� ����+��+���� �� 4246 ����� � 3780
�
������� 	����$����� �����5+
���� �� 1 ����� >��� 25+��  �� ?� �
 ���2������ ��

'/
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������
�4����� ��	
���� �+� α0 = 12 � �
 �9���� �� 	+���� �� 5�+�� 	�� �
������
�� ���� �5+�
 � 6� (�� 	��$������ �<����� +��
�4���� �� ���� ���� �+����= ��
������
��5+
�� �� 
� ������ ω = 7, 3× 10−5 rad/s= 
����+� φ = 41, 6823 ◦= ���
������� ��

� 5������� g = 9, 81 m/s2 � 
� �������� �� ���������� ρ0 = 1025, 34 kg/m3�

-�5+��  �� 
 @�

� ���	+�������
�

����� �	
��
�
 �	
��
�

��� ��������
 �	
����� ��������
 ���	�����

� ������� �������
�� ������� �������
�� ������� �������
�� ������� ������ 
��� ������� �������
��� ������� �������
��� ������� �������
 �� ������� �����!�
!�� ����� � �������
��� ������� �������
��� ������ ������!

���� ������� �������

���
�  ��
 �������+���� �� �����������

�
 +�� �� +� ��,+��� ��	
<���� �� �
 ������� ��
�������	������= 
� ���2���
�
 ����
� ������
���� �+������ ������������
= 	���������� �
 ��	
�� �� 	����
�� ����	� ��������������� 5������� ������ � ���� � �
 ������� 	��� ���� ���� ��
�
���4�� �
 ������ ������������= �� +��
�4���� 3 �������
�� ��� 	���� �� ����	�
����������� �� 
�� 	������� 800 	���� �� ����	� �� ��	
�� +� Δt = 10 �� �

��5+��� � ������ �������
�� �� 100 	���� �� ����	��= 
�� ����������� �+���� ��
Δt = 0, 1 s � Δt = 0, 01 s= ���	������������ &� ����
��� ���� 	���
��� 	��������
��
 C+��� �� ��	���= 3���� ������� �� �
 ������ �������
� �
 ������ ������������ ���
3�

�� ��2�+
��� �+������ �
5+��= ��� +�� ��
������� 	��� �
 ������ ������������
�� 10−3� (� ��
������� 	��� 
� ����+
����� �� ���� �5+�
 � 10−4� �
 	����� 	���
�� ����	� �� ���
�4� ��� +� ������ ������� >(!?= 	��$����� 
+�5� � +��
�4�� �

*��D&��* 	��� �
 ������� ��
������ 	������ � �
 ������ �� 
�� D���������
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���8+5���� 	��� 
� 	��������� ��
 5�������� �� 
� 	������ 3���� 2��
�4�� �

�$
�+
�� (� ��
������� +��
�4��� 	��� 
�� ������� ���������� �+� �� 10−5�

�
 	��2
 �� ��
�������� ����������
�� � 
� �������= ����� 
�� ����������
������
 � �)������= � �� +� 	+��� ����� ����� ����� >�<��+
� ��8� �� 
� 25+��  �� ?=
�+���� ��
�+
���� 	�� #R�� � #��;��� >�.6 ? �������� �
 ������ 5������2��
>��� ���
�  � ?� ���� ��
������= ��	��������� ��� ��
�� �4+
 �� 
� 25+��  ��"= ��
���	����� � 
�� ���+
����� �+������� ��������� 	�� �
 ����
�= ��	����������
�� �����

�� (�� ���+
����� �+������ +�� �	��)������� ���	���
� �������� ��
�+���� 
�� ���	
�2�������� ���
�4���� �� ����� �����= 	�����	�
����� ��������
�� �+���� ,+� �
 ������ 5������2�� ��������� �
 C+8� ����������
 � +�� �������=
�+���� �,+< �� ���+�
�� �
 	���
��� �� ����� �������������
�

����� "	����
�
	�
��� #	�����$���
� ����
�� ����
�� ����
�� ����
��� ����
��� ����
��� ���!
 �� ����
!�� ����
��� ��� 
��� �����
���� �

���
�  � 
 :�
�������� 5������2����

-�5+��  ��"
 #��2
 �� ��
�������� 5������2��� >�? � �+������� >�?�
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��� ������ ����
��"�
��

(� ��
������� �� 
� 	������ �� ���
�4� 	��� 
�� �+���� ����+
������� ���
�������� �� 
� 	������ >������������� 	����
�� ����� 
�� �������� �������	��� �
�����
<����? ,+� 25+��� �� 
� ���
�  �"�

���� �������� �� 
�
��� �� �������&��;��

� *����
<����
 ��
*������	���
 ��

� *����
<����
 ��
*������	���
 &�

 *����
<����
 &�
*������	���
 ��

" *����
<����
 &�
*������	���
 &�

���
�  �"
 �+���� ����+
������� 	����
�� 	��� 
� 	�������

#�������� �� +� ���	� �� ��
�������� �+
� u = 0 �� 
�� ��+������� ��
���������� >���'?= 
� ������ ���	������ �� 
� ��+����� �� ���������� >���'�?
,+���


∂p

∂z
= − ρ

ρ0
g > �%?

�� ������������ ����$� +�� ��������� 
����
 �� 
� ��������

ρ(z) = ρ0 − γz > �1?

�����


� ρ0 = 1025, 3 kg/m3
 �������� �� ���������� �� 
� �+	��2����

� γ = 500
 ���2������ �� ��������� 
����
 �� 
�� �����������

�� 	+��� ������� 
� ��
+���� ���
<���� 	��� 
� 	�������
#�� ���� 
���= 
� 	������ p �� 
� ��+����� > �%? �� 	+��� ������	����=

�� 
� ����� ������ ,+� �� 3�4� �� 
� ��+����� >�� '?= 	��� 3������� ����$�
patm(x, y, t) = 0 � η (x, y, t) = 0 �� 
�� �������� 3������$����= �����
<���� �
���3������$����= ���	�����������


p(x, y, z, t) = −gz + g

∫ η

z

(ρ − ρ0)
ρ0

dς + q(x, y, z, t) > �'?

&� ��
�+
� 
+�5� +�� �+��� 	������ p̄= ���� 
� ���+
����� �� ����� �+���
�� 
� 	������ qi >��
�� �� 
� 	������ ��
�+
��� 	��� ���� +�� �� 
�� ����� ��

� ���
�  �"? 
�� �������� �� ,+� �� ������	��� 
� 	������ p >��+����� > �'?? �
�+���
� � qi�

#������������� �� 	+��� ��
�+
�� �
 ������� �� 5������� Ti 	��� ����
+�� �� 
�� ����+
������� 	
�������� �� 
� ���
�  �" ����	
�4���� 
� 	������ p̄
�������� ������������� �� 
� ��+����� > �%? � ���	�8���� ∂zqi


�� p = p̄ = q1 ⇒ T1 = − ρ
ρ0

g�

-*



�,', 0���
� ��
��
����
�

�� p̄ = −gz + q2 ⇒ T2 = − ρ−ρ0
ρ0

g�

 � p̄ = g
∫ η

z
(ρ−ρ0)

ρ0
dς + q3 ⇒ T3 = −g�

"� p̄ = −gz + g
∫ η

z
(ρ−ρ0)

ρ0
dς + q4 ⇒ T4 = 0�

-���
�����= ����	
�4���� �� 
� ��+����� > �6? 
�� �������� �� 5�������
Ti � 
� �+����� �� ��������� 
����
 > �1? 	�� ρ �+���� ��� ���������= �� 	+���
3�

�� 
� ��
+���� ���
<���� 	��� ���� +�� �� 
�� ����� 	
�������� ����
������ 
�
��5+����� ��+����� ����������



∂qi

∂z
= Ti > �6?

(� ��
+���� ���
<���� �� 
� 	������ 	��� ���� +�� �� 
�� �+���� �����
	
�������� �� 
� ���
�  �" �� �+����� �� 
� ���
�  �%


���� &�
+���� ���
<����
MqiN

� −gz + γg
2ρ0

z2

� γg
2ρ0

z2

 −gz
" 0

���
�  �%
 &�
+���� ���
<���� �� 
�� �+���� ����+
������� �� 
� 	�������

#��� ����
��� �+����������� ���� 	���
��� �� ��	
�� +� ������� �9����
�� ����������� +�������� ����������� +� C+��� �������2���� ��� +�� �������+����

����
 �� ���������� > �1? �� �+����� �� 
� 	���+������ MzN >��� 25+��  ��%?� &�
28� 
� ��
������ �����
 �+
� 	��� ����� 
�� ��������� �������� +�� ���������
�� ��	� �����3
�� 3���5����


-�5+��  ��%
 �������+���� �� �����������

&� 28� �
 ��
�� �� 
� 	������ q = 0 �� �
 9
���� ���� �� 
� ��

� 	��� ��2���
�
 ���	� �� 	��������= �� ���� 
� ���
������� �� 
� 5������� g = 9, 81 m/s2= �

���������� �� 	��� �� ����	� Δt = 1 s � ��
������� 	��� �
 ������ ������������
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10−5� &� ��������4� �
 ������� �������� +�� ��

� +������� �� 775 ����� � 960
�
������� 	����$����� �����5+
���� >��� 25+��  ��1?�

-�5+��  ��1
 @�

� �� 775 ����� � 960 �
������� 	����$����� �����5+
�����

(� �������+���� �� 	�������� ���+
�����= �
 �9���� �� 	��� �� ����	�
� �
 ����	� �� �$
�+
� >�#!? �� ���� ���+
����� �� 	+���� �	������ �� 
�
���
�  �1� �� 
� 9
���� ���+
����� >���� 4? ������ � 
� ������ �� ,+� �� ������

� ������5�����= �������� �
 ����� ��
����� ����� ��
+������ ������+����� � ,+� ��
���� ���� ��� �+
�� ����� 
� ��
������ ���� 
� 	������= ��
� �� ���
�4� �
 	�����
	��� �� ����	� �
 �� 3�

���� 
� ������5������

���� #������ N◦ �� 	���� �#!
MqN �� ����	�

� H������$���� ] *����
<���� 10 1′ 23′′

� *����
<���� 6 0′ 53′′

 H������$���� 7 1′ 02′′

" ���3������$���� 1 0′ 22′′

���
�  �1
 /��+
����� �� 
� ���+
����� 	��� 
�� �+���� ����� 	
���������

(�� ���	�� �� 	�������� ���+
������ �� 
�� ���+
������� 	��� ���� +�� ��

�� �����= ��������� ������������ ��� ���59� ��	� �� 	����	������ �� ��	��������
�� 
� 25+��  ��'� �
 ���	� �� ��
�������� 	��� ����� 
�� ����� ��� ��
 �����
�� ≈ 10−5�

���� �� 	+��� �	������ �
�������� �� 
� 25+��  ��6= 
�� ��
���� �� 
��
��
+���� �+������ �������� 	��� ���� ���� �� �8+��� �)��������� � �+ ��
+����
���
<�����
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-�5+��  ��'
 7����+	��2���� �� 
� 	������ q 	��� 
�� �+���� ����� 	
���������

-�5+��  ��6
 �������+���� �� 
� 	������ MqiN 	��� 
�� �+���� ����� 	
���������
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��! �
�
� ���	��(���� ��� #���� ����

�
 ��8����� �� ���� 	���
��� �+� ��
���� 
� ��������� �� �������� ���
���$���� 	
������� �� 
� ��+����� >��"�? 	��� ���+
�� �
 ����� ��	������
�=
������������ ,+� �
 C+8� �� ���� ,+� ��������� �
 ����� �� �+
�� �� 	�����

+5�� �� ���+�
�� �
 	���
��� ��� ����� �� �+���� 
� �+5������ ��
 �����= �
 ,+�
	������������� �� �B����$ �� �
 ���� ��
 M����
 ��� ����� �+5���N �� 
� �������
��5+������ ���� �� 	+��� �	������ �� 
� 25+��  ��. �� ����B� +� ����
 �� ���
������G �� �
 	����� ����� �� 
� �4,+����� >�������? 
� ������� 	�������� �����
�����= �������� ,+� �� �
 ��5+��� >��
���? �
 ����� �� �
��� 5�������� +� 	
���
���
������ (�� 
��5��+��� �� 
�� ��� ������ ��
 ����
 ������5���� ��� �5+�
��
L1 = L2 = 5 m � �� ����
 3���� +�� 
��5��+� �� L = 10 m ��� +� ���3� ��
A = 1 m� (� �
�+�� ��
 	����� ����� ��
 ����
 �� ��������� H = 1 m= �����
���� ,+� �� �
 ��5+��� ����� 
� �
�+�� ������+�� 3���� H2 = 0, 5 m �
 2��
 ��

�����= �
���4���� ��
� 
� ����� �� 
� ������� �� ��������

-�5+��  ��.
 ����������� ��
 ������� � ����������� �� �������� 	��� �
 	���
�
��� ��
 ����
 ��� ����� 
����

(� ��

� 5������� 	��� 
� ����
+���� �+������ ��
 	���
��� ���$ �������
	�� 3255 ����� � 2400 �
������� 3�)�������� >��� 25+��  � 0?� �� 
� ���� ��

����
 �� 28� 
� ��
������ �� u = 1 m/s � v = w = 0 ���� ��������� �� ��������
�� ��	� �����3
��= �������� ,+� �� �
 ���� �)����� ��
 ����
 �� 
� ������� ��
��
��� �� ��8� +�� ��������� �� C+8� 
���� �� ��	� ��+���� 3���5����� ��

� 	���� �+	����� � 
�����
��= �� 28� � ���� 
� ��
������ �����
 �
 ��������
�������� +�� ��������� �� ��	� �����3
�� ��8���� 
���� 
�� ����� ��� �����������
>��	� ��+���� 3���5����?= 2��
����� �� ����� ������ ��
 ����� ��
 ����
 ��
��	+�� 
� ��������� � ��
���� �� C+8� �����
 �+
� 	��� ����� ���3���4����
 ���
����� �� �+���� 
� �������� ���5�����

-�5+��  � 0
 @�

� �� 3255 ����� � 2400 �
������� 3�)�������� 	��� �
 	���
���
��
 ����
 ��� ����� 
����
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&� 

��� � ���� 
� ���+
����� ��� +� ���2������ �� ���������� νH = νV =
1, 0×10−2 m2/s � +�� ��
������� 	��� �
 ������ ������������ �� 10−5� &� ��	
��
+� ����	� �� �$
�+
� >�#!? �� 594, 48 s 	��� �����+�� 77 	���� �� ����	� ���
+� ���������� Δt = 0, 1 s� &� +��
�4� �
 ������ ������� (! 	��� ����
��� 
��
�������� ��
 ������� 
����
 �� ��+������� ��
�������	������ � �� 
� 	���������
��
 5�������� �� 
� 	�������

�� 
� 25+��  � � �� 	+���� �	������ ����

�� �� 
�� ��
�������� ��
 C+8�
��
�+
���� ����� �
 ����� �� 	������� ������������ ��� �
 �����= ����������� 
�
��
���4 �� 
� ��������� �� �������� �� C+8� �+
� ����� ��������� ���3���4����
���

-�5+��  � �
 ����

�� �� 
�� ��
�������� 	���
�
�� �
 ����� 	��� �
 	���
��� ��

����
 ��� ����� 
����

���� +�� ������ �$� �� ���	����� �
 �+�� �+������������ �� 
� ����
������ �� �������� ��	������
�= ����$� �� ����2��� �
 	���
�
���� ����� 
��
��
�������� ��
 C+8� � �
 �����= �� ���	���� 
� ������������ ��
 ��
+��� ����
	������ 
�� ��
���� �� 
�� ��+��
�� �� ������� >Q1 = 1 m3/s? � �� ��
���
��
 ����
 >Q2 = 1, 00002 m3/s?= ������������ +� ����� ��
����� �� ��� ��
�
εrel = 0, 00249%� �� 
� 25+��  � � �� 	+��� �������� �
 	��2
 �� ��
��������
�������� �� 
� ���+
����� �+�������

-�5+��  � �
 #��2
 �� ��
�������� �� 
� ������� �� ��
��� 	��� �
 	���
��� ��

����
 ��� ����� 
����

-'
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��& �
�
� ��� #���� ��(���

�� ���� 	���
��� � ���������� ��
 	���
��� �������� �� ��������� 
� �����
���� ��� �
 ����� ������ � 
� �+5������ ��
 ������ ���� �� 	+��� ��� �� 
�
��+����� >��" ? �� �+	��� +�� ��
����� 
����
 ����� 
� �������� �� ����� � 
� ���

������ 	��)��� �
 ������ #��� 	��������4�� 
� �+5������ ��
 ����� �� ����
�)	������ �� +��
�4� �
 ���2������ �� �3�4� Cb� �
 ������� �� ���+��� �� ����
���� ����� +�� 
��5��+� �� L = 10 m= +� ���3� �� A = 1 m � 
� �
�+�� ��
 ����

�� ��������� H = 1 m� �� 
� 25+��  �  �� 	+���� �	������ 
�� ����������� ��
��������� +��
�4���� 	��� ���� ����= �� 
� ���� ��
 ����
 �� 28� 
� ��
������ ��
u = 1 m/s � v = w = 0 ���� ��������� �� �������� �� ��	� �����3
��= ��������
,+� �� �
 ���� �)����� ��
 ����
 �� 
� ������� �� ��
��� �� ��8� +�� ��������� ��
C+8� 
���� �� ��	� ��+���� 3���5����� �� 
�� �+���� 	������ �� 28� � ���� 
�
��
������ �����
 �
 �������� �������� +�� ��������� �� ��	� �����3
�� ��8����

���� 
�� ����� ��� ����������� >��	� ��+���� 3���5����?= �)��	�� �� �
 �����
,+� �� ��	+�� 
� ��������� �� �������� ��� ����� (τx

b , τy
b ) := Cb(u, v) ����� 
��

���	������� 3���4����
�� �� 
� ��
�������

-�5+��  �  
 ����������� ��
 ������� � ����������� �� �������� 	��� �
 	���
�
��� ��
 ����
 ��� ����� �+5����

�� 
� 25+��  � " �� 	+��� �	������ 
� ��

� ���	+�������
 �� 3255 �����
���	+����� �� 20 × 4 × 30 �
������� ,+� 3���� +� ����
 �� 2400 �
�������
3�)�������� ���
����
���

-�5+��  � "
 @�

� �� 3255 ����� � 2400 �
������� 3�)�������� 	��� �
 	���
���
��
 ����
 ��� ����� �+5����

--



�,/, +���� ��� )��
� ������

(�� 	��$������ +��
�4���� �� 
� ����
+���� �+������ �� ���� 	���
���
��� �
 ���2������ �� �3�4�= ,+� 	��� ���� ���� �� 
� ���5�� �
 ��
�� Cb =
0, 001 kgm−2s−1= � 
�� ���2������� �� ���������� νH = νV = 1, 0 × 10−2 m2/s�
�
 ����	� �� ���+
����� 	��� ���� ���� �+� �� 232, 89 s �
���4$����� 
� ��
��
������ �
 ������ ������������ �� 10−5 �� 27 	���� �� ����	� ��� +� ����������
Δt = 1 s� &� +��
�4� �
 ������ ������� (! 	��� ����
��� 
�� �������� ��
 ����
���� 
����
 �� ��+������� ��
�������	������ � �� 
� 	��������� ��
 5�������� ��

� 	�������

�� 
� 25+��  � % �� 	+��� �	������ 
� �������+���� 	�����
��� ��
 	��2
 ��
��
�������� �
���4��� 	��� �
 ������ ������������ �� 
� ��
��� ��
 ����
� �������

-�5+��  � %
 �������+���� 	�����
��� ��
 	��2
 �� ��
�������� �
���4��� 	��� �

������ ������������ �� 
� ��
��� ��
 ����
 ��� ����� �+5����

�� ���� ���� �� ���	���� �
 �+�	
������� �� 
� ������������ ��
 ��
+��� 	���
����2��� �
 �+�� �+������������ �� 
� �������� ��� ������ &� ���	������ 
��
��
���� �� 
�� ��+��
�� �� ������� >Q1 = 1 m3/s? � �� ��
��� ��
 ����
 >Q2 =
0, 99995 m3/s?= ������������ +� ����� ��
����� �+� ��8� �� εrel = 0, 00525%�

-/
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��) *����
� �� *5�
�

#��� ���+���� �
 ������ �� 
� ������� ���������
 �� 
� �+	��2��� ��
 ������
������ �
 ������ ��	
���� ����� �

�= �;��� ��+��� 
� ��5+������ �+	���������
>��� #R�� � #��;���= �.6 = 	$5� '%�'6?


�� &�� ����������

�� #���+������ ��2�����

 � ���2������ �� ���������� �+��+
���� �������
 (νV ) ����������

"� !� ������ �� ��
������ ��������� ��	
���� �+����� +� ����	� 	��
��5����

%� �������� ��������� >C+��� 3���5����? � �
 ����
 �� 
� �+	��2��� 
����
3���4����
= ��
 ,+� 
�� 5��������� �� 
� 	������ 3���4����
 ���� �+
�� ∂xp =
∂yp = 0= 	+���� ,+� 
� �������� ��
� ��	���� �� 
� 	������= �� ��� ���������
�������	��� � 	�� 
� ����� �� 3�� C+8� 5������2���

1� #��$����� �� �����
�� (f) ���������= �� ��� �	��)������� ��
 	
����f �

(�� ��+������� ��
 ���������� �� ���������� �������� �� 
�� ��+�������
�� �;���


fvE + νV
∂2uE

∂z2
= 0 > �.�?

− fuE + νV
∂2vE

∂z2
= 0 > �.�?

��+������ ,+� �
 ������ ��	
� �� 
� ��������� y= 
�� ��
+������ � 
��
��+������� �� �;��� ���


uE = ±V0 cos
(

π

4
+

π

DE
z

)
exp

(
π

DE
z

)
> ��0�?

vE = V0 sin
(

π

4
+

π

DE
z

)
exp

(
π

DE
z

)
> ��0�?

������


� V0 =
√

2πτyn

DEρ|f | 
� ��������� �+	��2���
 ����
 �� �;����

� τyn 
� ��5���+� �� 
� ������� ��
 ������ ����� 
� �+	��2��� >	��	�������
 �

�+������ �� 
� ��
������ ��
 ������ � ���+���� �� 
� ��������� ��
 ������=
��� ��+����� >��""??�

� |f | 
� ��5���+� ��
 	��$����� �� �����
�� f �

� DE = π (2νV / |f |) 1
2 
� 	���+������ �� �;��� � ��C+����� ���������
�

����� ��
+������ �� 	+���� �����	����� ����


� �� 
� �+	��2��� ��
 ���= �+���� z = 0= 
� ��
+���� �� 3��� u = ±V0 cos(45 ◦)=
v = V0 sin(45 ◦)� ���� ��5��2�� ,+� 
� ��������� �� �+	��2��� C+�� � 45 ◦ �

� �����3� �� 
� ��������� ��
 ������ �� �
 3��������� ����� >25+��  � 1? �
� 
� �4,+����� �� �
 3��������� �+��

-&



�,&, ������� 
� �<���

� *�8� 
� �+	��2���= ����� z �� ��������� �� ����= 
� ��
������ �� 
� ���������
����
 V0 exp (πz/DE) �� 3��� �$� 	�,+�B� �+���� 
� 	���+������ �� ������
�����G ����$�= � ������ ,+� z �� �� 3������� �$� ��5�����= 
� ���������
�� ��������� �� ������� 3������ �� �
 3��������� ����� � ����3������ �� �

3��������� �+��

� (� ��������� �� 
� ��������� 	��� 
� 	���+������ z = −DE �� 3��� �	+����
� 
� ��������� �� 
� ��������� �� 
� �+	��2��� � �+ ��
������ 3� ��<�� �
exp(−π) = 0, 04 �� 
� ������ (� 	���+������ DE �� ������ 5�����
�����
���� 
� 	���+������ �������� �� 
� ��������� ���+���� 	�� �
 ������= 
� ��	�
�� �;���� :���� �� 	
����= 
�� �)������ �� 
�� �������� �� ����������
������ +�� ��	���
 ����������� 

����� 
� �������� �� ������	�� �� /-$�	��

-�5+��  � 1
 ��	���
 �� �;����

�� 
� ����
+���� �+������ ��
 	���
��� �� 
� ��	���
 �� �;��� �� +��
�4�
+� ������� ���	+�������
 �9���� �� ����������� 100×100×100 m= 	��� �
 �+�

�� 5����� +�� ��

� ����+��+���� �� 4 × 4 × 4 ��� 225 ����� � 128 �
�������
3�)�������� �� 8 ����� >��	� Q1?� �
 ���2������ �� ������
�4����� ��	
���� �+�
α0 = 12 � �
 �9���� �� 	+���� �� D�+�� 	�� �
������ �� ���� �5+�
 � 8� (��
����������� �� �������� ��	+����� �+����
 ��+������ ,+� �
 ������ ��	
� �����

� �+	��2��� 
���� � 
� 
��5� �� 
� ��������� y= +�� ������� �� ������ 3���4����

τs = ρa/ρ0CS |W10|W10� ����$� �� �������5�� 
� ��
������ �������
 >���������
�����3
�� 3���5���� w = 0 � �� M����� ��� N?� #��� 
�� ��������� 
�����
�� � �

����� �� ��	
�� +�� ��������� �� C+8� 
���� >��������� ��+����?�

(�� 	��$������ �<����� +��
�4���� 	��� ���� ���� �+����= 
����+� φ = 45 ◦=
���
������� �� 
� 5������� g = 9, 81 m/s2= 
�� ���2������� �� ���������� �+��+�

���� 3���4����
 � �������
 �+���� νH = 103 m2/s � νV = 10−2 m2/s= ���	�������
������

�
 +�� �� +� ��,+��� ��	
<���� �� �
 ������� ��
�������	������= 
� ����
2��� �
 ����
� ������
���� �+������ ������������
= 	���������� �
 ��	
�� ��

-"
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	���� �� ����	� ��������������� 5������� #��� �
���4�� �
 ������ ������������
�� +��
�4� 800 �������
�� ��� 	���� �� ����	� Δt = 0, 001 s� &� ����
��� ����
	���
��� 	�������� ��
 C+��� �� ��	���= 3���� 

�5�� �
 ������ ������������ ���
+�� ��
������� �� 10−3� (� ��
������� 	��� 
� ����+
����� �� ���� �5+�
 � 10−4�
�
 ������ �� ����
+���� ��
 ������� �� ��+������� 
����
�� ��
�������	������
� 	��������� ��
 5�������� �� 
� 	������ +��
�4��� �+� �
 ������ ������� (! �
�
 ������ �� 
�� D��������� ���8+5���� >D�?� (� ��
������� +��
�4��� 	��� �

������ ��������� �+� �� 10−5�

�� 
�� 25+���  � ' �� �+������ 
�� ���+
����� ��������� �� 
� ���+
�����
�+������ 	��� ����� ��2����= ������$����� +� �8+��� ���	���
� ��� 
� ��
+����
���
<���� ��
 ����� 	���
����

(� ��
+���� ���
<���� �� 
� ��	���
 �� �;��� 	��� ����� 2���� �� �+�����
�� 
� 	���+������ H �� 	+��� �������� �� ��+���� � �5���� >�.6 ? �� 
� ��5+�����
������


uE = A sinh
(
a (H − z)

)
cos

(
a (H − z)

)
> ����?

− B cosh
(
a (H − z)

)
sin

(
a (H − z)

)
> ����?

vE = A cosh
(
a (H − z)

)
sin

(
a (H − z)

)
> ����?

+ B sinh
(
a (H − z)

)
cos

(
a (H − z)

)
> ����?

����� 
�� 	��$������ A � B ���


A =
τvD

μπ

cosh(aH) cos(aH) + sinh(aH) sin(aH)
cosh(2aH) + cos(2aH)

> ����?

B =
τvD

μπ

cosh(aH) cos(aH) − sinh(aH) sin(aH)
cosh(2aH) + cos(2aH)

> ����?

������


� D = π
a

� a =
√

ω sin(φ)
αμ

� α = 1
ρ

� φ 
����+�

� ω :�
������ �� �������� ���������

� μ :��������� ���$����

� τv ������� ������ �
 ������

� ρ0 �������� �� ���������� ��
 �5+� �� ���

� υ = μ
ρ0

:��������� �����$�����

�� 
� 25+��  � 6 �� �+������ 
�� ���+
����� ��������� �� 
� ���+
�����
�+������ 	��� +� ������� ��� ����� 2���� �� H = 100 m= H = D/2 m �
H = D/3 m= ������$����� ������� 	��� ����� ����� +� �8+��� �)��
���� ��� 
�
��
+���� ���
<���� ��
 	���
����

/*
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( ����
�
���� ����� �
� 
�����	
	�� 6���"���
��� 	� �
 �������� 
�
�A���

	� �
 �����
� 	� C7�
� &H( 8 �
� ������	
� 	� �
 �����
���� ���5���

&♦(�

&�( ������������ ���	��������
� 	� �
� 
�����	
	�� ������	
� 	� �
 ����>
�
���� ���5���
 &→(�

-�5+��  � '
 F����� �� 	���+������ ��2�����

/�
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&
( ����
�
���� ����� �
� 
�����	
	�� 6���"���
��� 	� �
 �������� 
�
�A���

	� �
 �����
� 	� C7�
� �
�
 H = 100 � &♦(E H = D/2 &�( 8 H = D/3
&�( 8 �
� ������	
� 	� �
 �����
���� ���5���
 &H(�

&�( ������������ ���	��������
� 	� �
� 
�����	
	�� ������	
� 	� �
 ����>
�
���� ���5���
 �
�
 H = 100 � &→(E H = D/2 &→( 8 H = D/3 &→(�

-�5+��  � 6
 F����� �� 	���+������ 2�����

/�
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� 
�� ��� ����

��+ /���
 ��� �6� *���

���� 	���
��� �� �	
������� �������� �� ���+
�� 
� ����+
����� ���+����
	�� �
 ������ ����� 
� 	
�������� ����������
 �� 
� 4��� ,+� ����� �
 ��
��
��
 �<� ����� �
 ��
�� ��
 �<� ���� ���$ 
���
�4��� �� 
� 4��� �� ����������
����� +�� 	
�������� ����������
 ������3� �
 ����� >10 km �� ���3�? � +��
	
�������� �$� ��	
�� �
 �+� >50 − 60 km �� ���3�?� ���3�� ��������<������
��	�5�$2��� �������+��� +� ���� ����
 �� ��
������� 	��� �
 ����
� ������=
�������� �� �+���� 
� 5��� ���	
�8���� 5������<� ��
 	���
��� >
<��� �� �����
� ��������<�?� �
 ������� ����������� �� ���� ���+��� �� ���+����� +������ ��
�
 ������� ��
 
�����
 ��	�B�
 � �� �)������ �� ����� � &+� ����� �
 ���� &�
�+
� 
�� 7�
�� ��
+�������� (�� 
<����� ��
 $��� �� ���+��� 
� �������+���
 �
 �����
+� ��������� 	��	�����+
�� � 
� 
<��� �� ����� � 
� �
�+�� ��
 ���� &�
�+= �
 &+�
+� ��������� ,+� 	��� 	�� 
�� 7�
�� ��
+�������= �
 ���� 
� ������� �� 600 m
� �
 F���� 
� 
<��� �� ���

� >��� �� 
� 25+��  � . �
 ��	� �� +�������� � 
�
��������<� ��
 $��� �� ���+���?�

-�5+��  � .
 !�������� 5��5�$2�� � ��������<� ��
 ��
�� ��
 �<� �����

/�
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(� ��

� �������+��+���� �������������
 +��
�4��� 	��� ���� 	���
���
�+���� ��� 79763 �
������� ������������ � 20978 ����� ,+� �� ���	��� 	������
������� � 
� ���	
����� 5������<� ��
 �������� ��
 ������� >��� 25+��  �"0?�

-�5+��  �"0
 @�

� �������������
 �������+��+���� �� 20978 ����� � 79763 �
��
������ �������������

&����� �
 ��8����� ��
 ���+��� �+������ 
� ����+
����� ���+���� 	�� ������=
�� ���� ���� �� �� ��������� 
� ������5� ��
 �<� ���� � ���� ������+����� ��
�

� �� �� �+�� �� �+���� 
�� 5��������� �� ��������= 	�� 
� �+�
 �� +��
�4� +��
�������+���� �� ���������� 3���5���� ��� +� ��
�� �� ρ = 1025, 34 kg/m3� &�
��	+�� +�� ������� �� ������ ����� �
 �������� �+	����� 	��� +� ������ ��
������ ��������<����� 	���������� ��
 �����= �+� ����+���� �� �
 $��� �� ���+���=
�+�� ��
�� 	��������� �� 
� ��
������ �� �� 8 m/s �� +�� ��������� �� 341.72◦

���	���� �
 ����� � �� ������� 3������ >��� @������ �� ��� >�00�??� (�� 	��$�
������ �<����� +��
�4���� 	��� ���+
�� 
� ������� �� ������ ����� 
� �+	��2���

���� �+���� 
� �������� ��
 ���� ρa = 1, 3 kg/m3 � �
 ���2������ �� ��������
Cs = 0, 0014 >�����������
? >��� ��+����� >��""??� �� 
�� ��������� �� ���
������� ��
 ����� � ��
 &+� �� ��8� 
���� ��� +�� ��������� ���+��
 	��� �
 C+8�
�� ��	� ��+���� 3���5���� � +�� ��������� ��� ���
�4�������= �� 	���� ��
���
�� ��	� �����3
�� 3���5���� ����� 
�� ��������� �� 
<��� �� ������ ���� +��
������ �� ��	���+��� �+����������� 
� 	�������� �� +�� ��������� �� ��
+� ���
��� �
 
<���� �)������ �� 
� 	
�������� ����������
= �� ��	+�� � 
� 
��5� �� 
�
����� +�� ��
������ �� 0, 1 m/s ���5���� � 
� ������� �� 600 m �������� 
����
�
����� ��� 
� 	���+������= ���� +�� ��������� �� �������� �� ��	� �����3
���
����$�= �� 28� � ���� 
� ��
������ �����
 �
 �������� ��
 ����� � 
�� ������� ��

/$
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��	���2��� 
� ��������� �� C+8� �+
� � ������ ��
 ����� ��	������
�� �� ����
��� �� +��
�4� 
� ��
����� 
����
 ����� 
� ������� �� ����� � 
� ��
������ 	��)���
�
 ����� >��� ��+����� >��" ??= 	��� ���+
�� 
� �������� ��� ����� ��	
�����
+� ���2������ �� �3�4� 3���5���� Cb = 1, 0 × 10−7 kg/m2s� (�� ���2�������
�� ���������� �+��+
���� 3���4����
 � �������
 +��
�4���� 	��� ���� ���� �+����
νH = 6, 0 × 102 m2/s � νV = 1, 0 × 10−3 m2/s� (�� ���������� �<����� +��
�4��
��� 	��� �
 �$
�+
� �� 
�� 	��$������ �� �����
�� �+���� 
�� ��5+������= 
����+�
41◦ N � ��
������ �� �������� ��5+
�� ��������� ωT = 7, 292 × 10−5 s−1 �� ��

������ ,+� 
�� 	��$������ �� �����
�� ���+
������ �+���� f = 9, 568× 10−5 s−1

� b = 1, 1 × 10−4 s−1�
#�������� ��
 C+��� �� ��	���= �� �����+���� % 	���� �� ����	� ��	
�����

�
 ������ ������� >(!? 	��� ����
��� 
� �����4 ��
 ������� ��
�������	�������
!�� ��4 �������� +�� ���������� ������
 
� �+2����������� 	��)��� � 
� ��
+����
���� 	��� ���5+��� 
� ������5����� �� 
�� ������� ���������� �� ��	
����� 
��
������� -D@/�& � D��������� ���8+5���� >�D? ��� 	������������������
>(��� 7(!? 	��� ����
��� 
�� �������� ��
�������	������ � 5�������� �� 
� 	������=
���	������������ &� +��
�4� 	��� ���� 
� ���+
����� +� 	��� �� ����	� �� 3600 s
� �� ����������� 591 	���� �� ����	� 	��� �
���4�� 
� ��
+���� ������������
��� +�� ��
������� �� 10−4 �� 
� ����� L∞ �� 
� ���������� ��
����� ����� 
��
��
+������ ����
�� �� 	���� �� ����	� ������+������

�� 
� 25+��  �"� �� �+����� �
 ���	� �� ��
�������� ������������ ��������
�� 
� ���+
����� �+������ 	��� 
� �+	��2��� ��
 ���� ���� �� 	+��� �	������
�� 
� 25+��= 
�� ���������� ������� �+	��2���
�� ��� ����������� 	�� �
 ������
�� �5+�� 	��� 	���+���� ����� 
� 	
�������� ����������
 5�����
����� 3���� 
�
����� �� ��������� &F= �������� ,+� ����� �
 ��
+� 
� ��������� �� �
����� ���

�� �������� �� ��������� &�&F�

(� 25+��  �"� �+����� 
�� �����+	��2���� ��
 ���+
� �� 
� ��
������ �����
��������= �� 
� �+�
 �� 	+��� �������� ,+� 
�� �$)���� ��
���� ��
 ���+
� �� 
�
��
������ �� ���+������ 
���
�4���� �� 
�� 	��)�������� �� 
� 
<��� �� ����� ��

��
�� ��
 �<� ���� �� �5+�� �������= ����� 
�� ������� �� 
� ����+
����� ���+����
	�� �
 ������ �� 3���� �$� ���������� &�� �����5�= �
 ���+
� �� 
� ��
������
������� 3���� �
 ���� �)����� �� 
� 	
�������� �� �5+�� ��������= �� 
� ������
�� ,+� 
� 	���+������ �+�����= 	��� 2��
����� 	���� � ������ 	���� �� 
� ���
������� �� ��
+� � 
� 
��5� ��
 
<���� �)������ �� 
� 	
�������� ����������
� �

���5� �� ��
�������� �� 
� ��������� �+	��2���
 �� 
�� 	��)�������� ��
 ��
�� ��

�<� ���� �� ��������� ������ ��
 
<���� 5�����
����� �����
����� ��
 3 % �� 
�
��
������ ��
 ������ >��� &�+�	� �� ��� >�.. ??= 	��� ���� ���� �� �� 0, 24 m/s�

�� 
� 25+��  �" �� 	+���� �	������ +� ��,+��� �������������
 �� 
�
��������<� ��
 $��� �� ���+��� � +�� ����� �� ������ � ��������� 	���+��������
����� �� ������� 
� ��������� �� ��������� � ��
������ �� 
�� ���������� �������
�
 ������ �� �+����� �� 
� 	���+������ � �� 
� ��������<�� �� 
� �+	��2��� �
����� 
� 	
�������� �� �� �
�������� 
� ��C+����� ��
 ������= �������� ,+� �
����� 	���+������ � ����� �
 ��
+� 
� ��������� �� 
�� ��
�������� �� �
�����
�
�������� ��� 
�� ���������

�� 
� 25+��  �"" �� 	+��� �������� �
 ���	���������� �� 
�� ������������
���4���� 	�� ������ 	���<�+
�� �� �+ 	��� 	�� �
 $��� �� ���+���� ���� ��
	+��� �	������ �
��������= �,+�

�� 	���<�+
�� ,+� ������� �+ ��������� ����� �

��
+� �� 
� 	
�������� ����������
 �� �+���� ���� 	���
�
�� �
 �������� �)������
����������� ��� 
� ������� �� 600 m � �� �
 ������� �� 
� ��������� �� ��
+��
&�� �����5� �,+�

�� ,+� ������� �+ ��������� ����� 
� 	
�������� �+������ +�

/'
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-�5+��  �"�
 ��
�� ��
 �<� ����
 ���	� �� ��
�������� �+	��2���
�� ���+�����
	�� ������ 	���������� ��
 ������

���	���������� +� ����� ���������= ��C+�������� ������������ 	�� �
 ������ ��

������= ��� ����������� ������ 
� 
<��� �� ������ �� 
�� 25+���  �"0=  �"� �  �""
�� �)�5��� 50 ����� 
� ����
� �������
 � 
�� ������� �� +�� ��8�� ���+�
�4������
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�������� �

���������� � ���������� �� ��
������� ��
���
� ��� 
�����
������ ��� �	������� �����

M(� �$� �����	������
� ��
 !������� �� ,+�
��� ���	������
�N

<����� /�	����	� )4�5�)5**
-<���� � �����$���� �
��$��

(�� ����� �� �+	��2��� 3�� ���� +�� �+���� �� ������� ����� 
�� 	�������
����	��= ���+�
����� 
� ����� 	�������� ��
 3����� �� 
�� $���� �������� 3�
5������� 
� ��������� �� ����
�� 	��� ���
+�� 
�� ������� �� 
�� ������ ��
�
 ���5� �� 	������� ����� 
�� ����� ��	�
���� �� ������ � 
�� ������� &��
�����5�= 
� �	��)������� �� ��	� �<5��� >�����������? +��
�4��� 3���� �,+<= ��
	������ 
� 	��	�5����� ���
 �� ����� �� �+	��2��� � �� ���� ������ 
�� C+8�� ���
�+	��2��� 
���� ���� �� ��� 
�� ���������� �� ������ �� 	���<�� ��� ���+
����� (�
��	
���������� �� +�� ��������� �� �������� �� 
� �+	��2��� �� ��
� ��	
����<�
+�� ������	���� �$� 	������ ��
 C+8� ���� ������� �� ������+��� ������� �� �

���	� �� ��
�������� �������
 ���� 
� 3��� 
� �	��)������� �� ������ ����� ����
��	<�+
� ���$ �������� � 
� ��
������� ��
 ����
� ������ �� 	���
���� �� C+8��
��� �+	��2��� 
�����

&�
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� 	�����

�+���� ��� ��������� � 
� �������
������� ��
 ����
 ��
 ��� �� 
� �����=
5�����
����� ��� ��������� � 
� �������
������� 5������� 	�� +�� ������ ����
����� �� ������= �������� ���������� �� ��5
�� ��� �
 ������� �.�	� ����
���
-<���������= 
� ��������� ���9� ����� �
 ��� �� ��� ������� ����������= 	�� +�

���= 
�� ����������� �� 
� 	������ ����������� ���+��� �+��4�� ,+� ���9�� ����
����
����� ����� 
� �+	��2��� ��
 ��� � �� ���������� �������������� � ����

� ��
+��� �� �5+�� #�� �
 ���� 
��� 
�� �+��4�� ������� � 
� ������� �� ������
	���
�
�� � 
� �+	��2��� ��
 ��� ������
�� 
� ������������� ��
 ���������� 3����

�� 	���+��������� &�� �����5�= ��� ����+����� �� �� 	+���� ����������� 
��
������� ��
 ������ � �� 
� 	������ ����������� �� +�� ��������� �� 
� ���25+�
������ �$� ���	
�= 	��� +�� ��
������ ��
 ������ U10 ��	
���� �� 
� ���������
MxN � 
� 
��5� �� +� ����
 �� 	���+������ ��������� H = �
 ������ ������������
�� 
� ������� �� ������ ����� 
� 	�������� �� 
� �+	��2��� 
���� dη/dx �� 	+���
�������� ���� >��� #+53= �.6'= �!�� �.6��..?


dη

dx
=

CsρaU2
10

gρ0H
>"��?

�� ������ ,+� 	��� +� ����
 �� 
��5��+� L 
� �������
������� �� 
� �+	��2���

���� Sη ���$


Sη =
CsρaU2

10L cos (β)
gρ0H

>"��?

�����


� Sη
 &������
������� �� 
� �+	��2��� 
���� >m?�

� Cs
 ���2������ �� �������� >�����������
?�

� ρa
 �������� ��
 ���� >kg/m3?�

� ρ0
 �������� �� ���������� ��
 �5+� �� ��� >kg/m3?�

� g
 ���
������� �� 
� 5������� >m/s2?�

� H 
 #���+������ >m?�

� U10
 :�
������ ��
 ������ >� 10 m ��	�$�?�

� L
 ��������� ����� 
� ,+� ��	
� �
 ������ >m?�

� β
 ^�5+
� ��
 ������ ���	���� �� 
� ����� >⊥ ⇒ β = 0?�

���� �)	������ ������� �
 3��3� �� ,+� �
 ������ ��
 ������ ����������

� �������
������� ��
 ����
 ��
 ��� �� ����� ������������ 	��	�������
 � 
�
	���+������ ��
 ��� � 	�� �����5+����� 	���<� ��� �$� ��
������ �+���� �

������ ��	
� ����� �)������ ��5����� �������� �� �5+�� 	��� 	���+�����

&� ���+�
�� ���� 	���
��� �+����������� ����� +� ����
 �� 
��5��+�
L = 1 m= +� ���3� A = 0, 2 m � +�� 	���+������ H = 0, 2 m >��� 25+�� "��?�

&�



$,�, %����;��������� 
� �� ��������� ����� 
���
� �� ����
�

-�5+�� "��
 ����������� ��
 ������� ���	+�������
 � ����������� �� ���������

&� +��
�4� 	��� �

� +�� ��

� ���+������� �� 4 × (40 × 4 × 20) �
������� 	����
�$����� �����5+
���� 	�� ���� ��������� Mx, y, zN >��� 25+�� "��?� ���� ��

� ��
5����� � 	����� �� +�� ��

� �� �+	��2��� ���	+���� �� 40 �+����������� �5+�
��
�� 
� ��������� MxN >��������� �� 
� �+�
 ��	
� �
 ������? � 4 �+����������� �� 
�
��������� MyN= � � ������+����� ���� +�� �� 
�� 160 ����$�5+
�� ���+
������ ��
������	���� 	�� �+� ���5���
�� �� 4 ���$�5+
��� �� 
� ��������� �������
 MzN ��
���������� 20 ��	�� ���+�������� �� �
������� ,+� �� ������3�� �� 
� 	��)����
��� �� 
� �+	��2��� � �
 ������ P+������ 2��
����� 
� ��

� ���������� 	��
7665 ����� � 12800 �
������� 	����$����� �����5+
�����

-�5+�� "��
 @�

� �������������
 ���+������� �� 7665 ����� � 12800 �
�������
	����$����� �����5+
�����

�� ���� 	���
��� �� +��
�4���� ��
���� �� 
�� 	��$������ �<����� �� ���
���� ��
 ,+� 
� ��+����� >"��? �� 3�

� ������������ �� �+����� �� 
� ��
�����
5��������� L/H = ������������ ��< +�� �������
������� �� 
� �+	��2��� 
���� ��
Sη = 5 m� #�� 
� �����= 
�� ��
���� �� 
�� 	��$������ �<����� ������� 	��� 
� ���
��
+���� �+������ �� ���� 	���
��� �+���� Cs = 1= ρa = 1 kg/m3= ρ0 = 1 kg/m3=
g = 1 m/s2 � 
� ��������� ��
 ������ �����
 � 
� 
<��� �� ����� β = 0 ��� +�� ���

������ U10 = 1 m/s� ��< �������= �� +��
�4���� ��
���� +�������� ��
 ���2������
�� ���������� �+��+
���� 3���4����
 � �������
 νH = νV = 1 m2/s= �������� ,+�
�� ���	�������� 	��� ���� 	���
��� 
� �+��4� �� �����
�� � 
� �������� ��� ������

� 	����� �� +� ������ ������
 ��� �
 C+��� �� ��	��� � �+ ������	��������
�
�+�� �� �+	��2��� 
���� 3���4����
= �� �
���4� 
� ��
+���� ������������ �� 313

&�



+���
��� $, %�������� �����

	���� �� ����	� � +� ���������� �� Δt = 10 s ��� +�� ��
������� �
 ������
������������ �� 10−4 	��� �
 �$)��� ��
�� �� 
� ����� �+�
<��� �� 
�� ��������
����
�� �� 
� ��
������= 	������ � 5�������� �� 
� 	�������

(� 25+�� "� �+����� �
 	��2
 �� 
� �
�+�� �� �+	��2��� 
���� 	��� �
 ������
������������ � 
� 
��5� �� 
� 
<��� ������
 ��
 ����
 y = 0, 5 m� �� 
� 25+�� ��
	+��� �	������ +� ���	���������� ���� 
����
= �� ������������ ��� 
� 	���������
�������� � 	����� ��
 ��$
���� �� ��5������ 
����
 	��� 
�� 41 ��
���� ����
�� ��

� �
�+�� �� �+	��2��� 
����= �� ���+������ 
�� 	��$������ A = 5, 057513171 �
B = 5.124235122 �� 
� ����� �� ��5������ z = −Ax + B ��� +� ���2������
�� �����
����� �� 0, 993301 � +�� ���������� ����� �+���$���� �� 0, 0195969�
-���
�����= �� �)���	�
� ����� 
� ����� 
� �
�+�� �� �+	��2��� 
���� 	��� x =
−0, 5 ������������ +�� �������
������� �� zη = 5, 057513168 m= ��� +� �����
��
����� �� εr = 1, 15 % ��� ���	���� �
 ��
�� ������� ���� 	�� 
� ��+����� >"��?�

-�5+�� "� 
 :�
���� ����
�� �� 
� �
�+�� �� �+	��2��� 
���� � 
� 
��5� �� MxN 	���
y = 0, 5; z = 0 �� �
 	���
��� �� �������
������� �� 
� �+	��2��� 
���� ������ �
������ � 
� ����� �� ��5������ 
����


�� 
� 25+�� "�"= �� �+����� 
� �������+���� �� ��
�������� 	��� �
 ������
������������ ����� 
� ������� 	��� y = 0, 5 m= ����� �� 	+��� �	������ ,+�

� ��
������ �$)��� �
���4��� �� �� 0, 07 m/s� #��� ������ 
� �	������� ��
����
������� �� �
 ���	� �� ��
�������� >��� L�Z��5�� �� ��� >�00�??= �� ����
	���
��� �� ��������� 
� +��
�4����� �� +�� ����+
����� ���3������$���� ���� �

�������

��� �� ���� ������ �� ���� 25+�� �� 	+��� ��� �
�������� 
� �+������ ��
����
������� � +� �+��� ������ �� 
� ��������� �� 
� ��
������ �� 
�� 	��)��������
�� 
�� ��������� �������
���
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��� 7(��
��
� �� �� �
���� ���"�
��

(�� ��+���� ����
������� ��
 ����
 ��
 ��� �� +�� �� 
�� ����5�� ���+��
��
�$� ���+��� ,+� 	+��� ������� � 	+�����= 
�5��= ��3<�� � ���+������ �+���� 
��
����� �+	��2���
�� ��� ����	���� �� �������� ��������= ���� �� ��� +� 	+����= �

����
 ��
 �5+� �������� � ��������� �
�������������� �� 
�� �)������ ��
 	+����
��� +� C+8� 3���4����
 �<���� >	+���� ����������� ����������?= �������� ,+�
�� �
 ������ ��
 	+���� >�����? �
 ����
 ��
 �5+� 	�������� ��������� � �
 ���
�������� 3���4����
 ��
 �5+� �� ������ �� ���� ������= 5������ ����
�������
�� +� 	+���� 	+���� �����

�� ������ ������ 
�� �+�

�� ��
 	+���� � 
��4��
��
�+��� ��
 �5+�� �)���� ������� �
 	�
�5�� �+���� �
 ����
 ��
 ��� ��������� ���
������� �� 
�� �)������ �� ,+� 
�� ������ ���� ������������� �+������� ��B��
�� �+ ������

����� 
�� ���������� ���������� 	����
�� �� ����
����� ��
 ����
 ��
 ���
�� 	+�����= �
 	���
��� ��2���� �� ��5
�� ���� �����3�	�� >(�� � (�= �00�?
�� 	�����
������ �
 �$� ���<��
 �� ����
��� ���� ,+� ��� �)������� +�� ��2����
�������� �� ������ #��� ���+
�� ���� 	���
��� �� ��	
�� +� ���,+� �� 
��5��+�
L = 1 m �� 
� ��������� MxN � +� ���3� �� A = 0, 2 m �� 
� ��������� MyN
>��� 25+�� "�%?� (� 	���+������ �� 
� ��
+��� �� �5+� �� ��	��� �� 28� ��
H = 0, 2 m= ��< ���� ������� �
 �������
 ������
 �� 
� �
�+�� �� �+	��2��� 
����
����� �+� �)������ �� ΔS = 0, 001 �� 
� ��������� �������
 MzN�

7�����
����� �
 C+��� �� ���+����� �� ��	���= 	��� +�� ��4 ,+� �
 C+���
������4� � ������� ��8� 
�� ������� �� 
� 5������� �	������ +� ��2���� �9����
�� ����� �� ����� ������������� �� �
 ���,+��

-�5+�� "�%
 ����������� ��
 ������� ���	+�������
 � ����������� �� ���������

(� ����<� 
����
 �� ����� 	������ �)	����� 
� �
�+�� �� 
� �+	��2��� 
����
	��� ���� 	���
��� ����


η (x, t) =
∞∑

m=1

Am sin (kmx) cos (ωmt) >"� ?

�����


� km = (2m+1)π
L 
 �9���� �� ���� ��
 ���� ��&��$��

� ωm =
√

gkm tanh (kmH)
 -���+����� ��
 ���� ��&��$��

� Am = (−1)mSL

(2m+1)2π2 
 ��	
��+� �� ���� ��
 ���� ��&��$��

&-
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�

#��� ����
��� �+����������� ���� 	���
��� �� ��	
�� +�� ��

� +�������
�� 100 × 8 × 10 �
������� 	����$����� �����5+
���� �� ���� ��������� Mx, y, zN
>25+�� "�1?= ������������ �� ���� ������ +�� ��

� �� 5555 ����� � 8000 �
��
������� �����
�� � 
�� ��������� 
�����
�� � �
 ����� �� ��	+�� +�� ���������
�� C+8� �+
�= ������ ,+� 	��� ���� 	���
��� �� ���	�������� 
� �+��4� �� ���
���
��= ������� �� ������= �������� ��� ����� � ���+���� >νH = νV = 0? �
 9����
	��$������ �<����� +��
�4��� �+� 
� ���
������� �� 
� 5������� g = 9, 81 m/s2�
����$�= � 
�� ������� �� �����5+�� +�� ���
+���� 	������ �� 
� �
�+�� �� �+�
	��2��� 
���� 	��� 
�� ��� 	��<���� �� ����	� T �� ,+� �� �����+� 
� ���+
�����
>����� T = 2π/ω1 = 1, 5160 s �� �
 ���� �+��������
 � 	��<��� �� 
� ���� 	���
m = 1?= �� +��
�4� +� ���������� ��
 	��� �� ����	� �� ��� ��
� Δt = 10−4 s�

-�5+�� "�1
 @�

� �������������
 �� 5555 ����� � 8000 �
������� 	����$�����
�����5+
�����

�� 
� 25+�� "�' �� �+����� +�� ���	������� ����� �
 	��2
 �� 
� �+	��2���

���� 	��� y = 0, 5 � z = 0 �������� �+����������� �� 
� ���+
����� � 
� ��
+����
���+
����� �� 
� ����<� 
����
 �� ����� >��+����� >"� ?? 	��� 
�� 	������� 40
������ �� ���� 25+��= ����
�� �
 ���������� �� �
 �����8� �� (�� � (� >�00�? ��
,+� �� �+����� �� ��������� 
� ��
����� ����� 
� �
�+�� �� �+	��2��� 
���� � 
�
	���+������ ��
 �5+� �� ��	��� z/H � �� �������� 
� ��
����� ����� 
� ���������
�
 ������ �� 
� ��

� � 
� 	���+������ x/H � �� ���3� 25+�� �� 	+��� �	������
�
 �+� �+�� �8+��� �����5+��� 	�� �
 ����
� ������ 	��� ���� ��
����� t/T =
����������� �� ���� ������ 
� ��	������ ��
 ����
� 	��	+���� �� ��	���+���
�� ����� 	������ 
� ���	
�8� ���
+���� �� 
�� ����� �� 5������� �+	��2���
���

�� 
� 25+�� "�6 �� 	+���� �������� +�� ���+����� ���	���
 �� 
� ���
+�
���� �� 
� �+	��2��� 
���� �������������
 	��� t = 15, 30, 60, 90, 120, 140 s= �����
�� �)�5��� 
� ����
� �������
 200 ����� � 
�� ������� �� �����5+�� +�� ��8�� ���
�+�
�4������ �� ���� 25+�� �� 	+���� �	������ 	���+��������� ����� 
� �+	��2���

����= �+����������� �+� ���� ��	���+�����= ������� � 
�� ������� �� 
�� �����
�� �
��� ����+�������

&/
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M���� �� 8+�5� � 
�� �����N
<����� /�	����	� )4�5�)5**�

-<���� � �����$���� �
��$��

��� ������������

@������� 	�� 
� ���	
�8���� 5��������� �� 
� 
<��� �� ����� � 
� ��	��
5���<� ��
 ����� ��
 ���= �
 ��8����� �� ���� ����� �+� �
 �������

� � ��
�������
�� +� ����
� �� ����+
����� ������� �� �
������� 2����� ,+� ���<� ��� ��	�4
�� ���+
�� +�� ��5��� 
������� ��
 ������� #��� �

�= �� 

��� � ���� +� ���
��

��� ��$
���� �� 
�� ����
�� ���	����
�� �� 
� 
������+�� � �� �������

����

�� ��+������� ��������
�� �� +� ����
� ���3������$���� ��� �+	��2��� 
���� �
������� �����
<����� ���� �������

� 2��
����� ����+8� �
 ���+
���� 	�����	�

�� ���� �����= +�� ������� ��
 ����
� ������ >H������������
 ����� ����(
����� �� 7����	������
� ����������L�� �,+������? �������

��� 	�� �
 �+���= 
��
���	���������� �� �+ 3���
���� 	��� ���+
�� 	������� 5���<����� ��
������� �
�	
����������

�
 +�� ��������� �� +�� ��������4����� ��	����
 	�� �
 ������ �� 
�� �
��
������ 2����� � �
 +�� �� ��

�� �������+��+����� 	������ �
 ����
� +�� 5���
C�)���
���� 	��� ���	����� � 
� ���	
����� 5������<� �� 
� 
<��� �� ����� � 
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(〈u〉 + ú
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(〈w〉 + ẃ
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∂z
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∂t 〈u〉 + 〈u〉 ∂x 〈u〉 + 〈v〉 ∂y 〈u〉 + 〈w〉 ∂z 〈u〉 − f 〈v〉 + b 〈w〉 = +[
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]
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)]
, >'?

�� ���
�4� �������� �
 	��������� ���	���
 �� 
� ��+����� >'?� ���� ���+
�
���� �� ���� �	�������= �� ��������� 9��������� 
�� �������� ,+� ��	�����
�� 
�� ���	������� �� 
� ��
������ ����� ��
 C+8� ��59� 
� ��+����� >"? � 
��
���� �������� �� 
� ���
������� ���������� ,+� ���
+��� 
�� ���	������� �� 
�
C+��+����� �� 
� ��
������� (�� ��������� ��������= ,+� ��������� +�� 9����
���	������ �� 
� C+��+����� �� 
� ��
������= �� ��+
�� �� ��+���� � 
� ��+��
���� >%?� #�� 
� ����� 
� 	������ ���	������ �� 
� ��+����� ��
 ����������
,+���


∂t 〈u〉 + 〈u〉 ∂x 〈u〉 + 〈v〉 ∂y 〈u〉 + 〈w〉 ∂z 〈u〉 − f 〈v〉 + b 〈w〉 =

−∂x 〈p〉 + υ
(
∂xx 〈u〉 + ∂yy 〈u〉 + ∂zz 〈u〉

)
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∂xu + ∂yv + ∂zw = 0. >.?
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∂x

(〈u〉 + ú
)

+ ∂y

(〈v〉 + v́
)

+ ∂z

(〈w〉 + ẃ
)

= 0. >�0?
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(
∂x 〈u〉 + ∂y 〈v〉 + ∂z 〈w〉)︸ ︷︷ ︸

∇·〈u〉=0

+
(
∂xú + ∂y v́ + ∂zẃ

)
︸ ︷︷ ︸

∇·ú=0

= 0. >��?
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�� �������� �+��+
�����= �
 �+�
 �� ����
� �� ������ �+ ��
��= ��
� �+ ����� �����$����


ú ∂xú + v́ ∂yú + ẃ ∂z ú + ú (∂xú + ∂y v́ + ∂zẃ )︸ ︷︷ ︸
∇·ú=0
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(ú ∂xú + ú ∂xú) + (v́ ∂yú + ú ∂y v́ ) + (ẃ ∂zú + ú ∂zẃ ), >� ?

�� 	+��� �������� �
 	��������� �� 
� 	������ ���	������ �� 
� ��+����� ��
 ���
�������� �� 
� ����
� �� 
� �+��+
�����= 

����� ������� ��+����� �� /����
��
�� 
� ��5+����� ������


∂t 〈u〉 + 〈u〉 ∂x 〈u〉 + 〈v〉 ∂y 〈u〉 + 〈w〉 ∂z 〈u〉 − f 〈v〉 + b 〈w〉 =

−∂x 〈p〉 + υ
(
∂xx 〈u〉 + ∂yy 〈u〉 + ∂zz 〈u〉

)
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− (
∂x 〈úú 〉 + ∂y 〈v́ú 〉 + ∂z 〈ẃú 〉)︸ ︷︷ ︸
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